SPARE PART
PRICE BOOK 2023

f: N/ IJ (1] ] | | ] . | I ]
s : [ "I. ﬁf' = , / l / b/ :/ f:‘/ ,:/ :':'7// .
.I | . | II' IJ' || o [ IJ I- .’i I|| ||'|
Wl it (O ‘ \ 1 ‘l' |l | ‘.

II | | \ \ \ I".II | I'.III \ I'.II II'.II '_ . --_II".I
!

|

|

III

I|| || III' |_ 'I|I II
AR R R R
"".

| T | u W\
\ \ l 1 .',I I'. 1\ .llll L\
I | II'I I'I I|I I||' \ I'l] & \

\4 '|I I \ \
| I|I |II |II 1 |II . III \ !I '.ll | \ I|I
\ Il'lllll II':III' Ill'.llll \ .!I\ I' \-Illn .'| I'II'I | ‘I"q 'II \ . I' \ |I'|
\ | 1 11 \ | || ' | II
| 1 | | | | H | .I 1
I' | | , - | ] ‘ 1l ‘I! !J

Prices are recommended end-user
prices Pricing subject to change

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

Table of Contents

NAPOLEON

Pro Series

Prestiae Series

LEX Series

Roaque Series

RSE Series

RXT Series

Freestvle Series

Triumph Series

Portable Series

Charcoal Series

Built In Series

Prices are recommended end-user prices

Pricing subject to change
** Please contact service desk for pricing

60 - 87

88 -115

116 - 144

145 - 173

174 - 189

190 -205

205 - 217

218 - 262

263 - 275

276 - 342

1
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 NAPOLEDN

Pricing subject to change 2
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV 7
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands —
Tel: +31 88-588 66 55 (NAPOLEON )

PRO825RSBI-3

Pricing subject to change 3
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

PRO825RSBI-3

Pricing subject to change 4
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 ( NAPOLEON )

PRO825RSBI-3

Pricing subject to change 5
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PRO825RSBI-3

Description

1 N370-0877 base € 2.699,00

2 N570-0038 1/4-20 x 1/2" screw € 1,00

3 N100-0057 main burner € 26,50

4 N100-0049 smoker burner € 21,00
5 N080-0320 cross light bracket € 17,00

6  N080-0321 cross light bracket small € 12,50

7 N370-0822 sear plate mount € 8,50

8 N200-0106 smoker burner cover € 52,50

9 N510-0013 black silicone lid bumper € 2,00

N510-0017 black silicone lid bumper 60A € 1,00

10 NO080-0339 burner grease shield € 12,50
11 NO080-0340 burner grease shield small € 9,50
12 N450-0025 1/4" - 20 nut € 1,00
13 NO080-0315 bracket rear burner orifice € 7,50
14 N455-0055 rear burner orifice € 5,50
15 N255-0058 90 degree elbow fitting € 12,50
16 NO080-0311 bracket igniter smoker burner € 17,00
17  N720-0056 smoker burner flex € 26,50
18 N455-0016 smoker burner orifice € 5,50
19  N240-0033 smoker burner igniter € 4,00
20 N655-0206 base stiffener € 6,50
21 N570-0104 screw, 10-24 x 3/8" € 1,00
22 N570-0008 #8 x 1/2" screw € 2,00
23  N475-0492 control panel € 179,00
24 N570-0078 screw m4 x 8mm € 1,00
25 NO010-0794 manifold € 199,00
26 N720-0071 manifold flex connector € 26,50
28 N120-0024 end cap left € 42,00
29 N120-0025 end cap right € 42,00
30 N660-0009 switch € 29,50
31 N402-0019 logo light € 23,00
32 N585-0098 switch heat shield € 3,00
33 NO010-1135 control panel wire harness € 115,00
34 NO10-1097 large control knob bezel € 25,00
35 NO010-1098 small control knob bezel € 23,00
36 N380-0035-CL burner control knob large € 12,50
37 N380-0034-CL burner control knob small € 12,50
38 N585-0101 smoker shield € 4,00
39 NO080-0432 logo light mounting bracket € 19,00
40 N570-0022 8-32 x 3/8" screw € 1,00
41 N720-0053 rear burner supply tube € 19,00
42  N350-0069 rear burner housing (infra-red) € 31,50
43 N100-0045-SER rear burner € 14,50
45 N240-0036 rear burner electrode € 6,50
46 N305-0082 sear plate € 12,50
47 N305-0085 cooking grids large € 125,00
48 N305-0092 cooking grids small € 84,00
49 NO010-0800-SER smoker tube € 63,00
50 N585-0133 heat shield € 10,50
54 N570-0012 1/47-20 X 5/8 carriage bolt € 1,00
55 W735-0011 3/4" washer € 1,50
56 N570-0073 1/4-20 x 5/8" screw € 1,00
57 N350-0072 housing left light € 10,50

Pricing subject to change 6

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PRO825RSBI-3

Description

58 N350-0073 housing right light € 10,50
59 N402-0017 light € 26,50
W387-0006 replacement bulb € 10,50
61 N520-0038 large warming rack € 84,00
62 N520-0039 small warming rack € 63,00
63 N475-0301-m06 rotisserie mount € 12,50
64 N200-0110 light wire cover € 31,50
65 N570-0112 screw 10-24 x 5/8" € 1,00
66 N570-0013 #8 x 5/8" screw € 1,00
68 N735-0002 1/4" lock washer € 1,00
69 N570-0015 lid pivot screw € 2,00
70 N570-0024 1/4-20 x 1/2" screw € 1,00
71  NO010-0968 drip pan large € 159,00
72  NO10-0967 drip pan small € 115,00
73 N080-0335 bracket infra red burner mount € 19,00
74 N010-0498 infra red burner € 125,00
75 N715-0098 base middle trim € 42,00
76 N215-0014 infra red burner deflector € 19,00
80 N530-0032 regulator -Germany € 25,00
N530-0033 regulator -Holland € 25,00
N530-0034 regulator -Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator -Sweden € 25,00
N530-0036 regulator -Italy € 25,00
N530-0037 regulator -United Kingdom € 25,00
N530-0038 regulator -France € 25,00
N530-0039 regulator -Hungary € 25,00
N530-0042 regulator -Switzerland € 25,00
N530-0043 regulator -russia € 25,00
N530-0044 regulator -poland € 25,00
N530-0046 regulator -Czech republic € 25,00
81 N720-0072 quick connection flex € 73,50
82 NO010-0811-SS assembly lid large € 549,00
83 NO010-0810-SS assembly lid small € 499,00
86 NO010-1167-SER assembly control panel € 999,00
87 NO010-0933 hood assembly, large € 309,00
88 NO010-0934 hood assembly, small € 249,00
89 N385-0348 logo € 3,00
90 N190-0005-T control box € 125,00
91 N750-0077 light wire harness € 35,50
92 N750-0038 smoke burner ignition wire € 6,50
93 N380-0025-BK burner control knob small black € 9,00
94 NO051-0010 smoker tube bezel € 7,50
95 NO051-0012 control knob bezel small € 4,00
97 N570-0087 1/4-20 x 7/8" screw € 1,00
99 N660-0010 proximity sensor € 14,50
N215-0016 large wind deflector € 26,50
N215-0017 small wind deflector € 26,50
61825 cover >
56040 cast iron griddle >
67732 charcoal tray **
N285-0002 6A fuse € 3,00
101 NO010-1227-GY1SG bottom shelf € 299,00
102 N130-0016 caster, locking € 17,00
Pricing subject to change 7

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120
121
122
123
124
125
126
128
127
129

130
133

134
iS5
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
151
153
154
155
156

Prices are recommended end-user prices

PRO825RSBI-3

N735-0003
N570-0082
N015-0011
N745-0009
N450-0023
N120-0037
N475-0427-GY1SG
N080-0401-GY1SG
N570-0008
N475-0429-GY1SG
N475-0428-GY1SG
N585-0107
N570-0086
N357-0022
N475-0431
N475-0430
N655-0199
N475-0435-GY1SG
N010-0816
N010-0817
N585-0112-GY1SG
N080-0330-GY1SG
N080-0331-GY1SG
N080-0332-GY1SG
N010-0857
N750-0033
N707-0018
N707-0017
N555-0097
N510-0013
N510-0017
N010-0803
N010-0802
N570-0022
N105-0012
N010-0818
N710-0086
N080-0341-GY1SG
N590-0242-GY1SG
N185-0005

55110

62008

N160-0039
N570-0087
N735-0001
N200-0124-GY1SG
N402-0018
Z080-0012
N080-0318-GY1SG
N370-0981CE
N370-0906p
N370-0860
N750-0079

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

1/4" lockwasher
1/4-20 x 1/2" screw
axle

wheel

axle cap

wheel hub cap
left-right panel

bracket side shelf

#8 x 1/2" screw

panel right rear

panel left rear

igniter heat shield

#14 x 1/2" screw
ignition

panel right front

panel left front
stiffener door hinge
panel cabinet rear
panel inner cabinet
panel inner cabinet
heat shield

bracket rear cover
bracket base

bracket bumper

step down regulator
ground wire
transformer
transformer - United Kingdom
lighting rod

black silicone lid bumper
black silicone lid bumper 60A
door right

door left

screw 8 -32 x 3/8"

1.5 " snap bushing
drawer

grease tray holder
drip pan stopper bracket
inner cabinet shelf
bottle cap container
tool hook bracket
grease trays foil

wire clip

1/4-20 x 7/8" screw
washer side shelf
back cover

cabinet light

bottle opener

bracket drip pan guide
kit tank tray

kit side shelf left

kit side shelf right
control box wire harness

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

1,00
1,00
14,50
12,50
3,00
7,50
84,00
7,50
2,00
52,50
52,50
14,50
1,00
17,00
73,50
73,50
63,00
125,00
115,00
99,00
99,00
7,50
3,00
12,50
73,50
2,00
77,50
56,50
5,50
2,00
1,00
199,00
199,00
1,00
1,00
249,00
73,50
14,50
26,50
17,00

O O O O O O O O OO O O O O OO OO OO OO OO OO OO ONOWONOWONOWONOWONOWONO

*
*

1,50
1,00
2,00
42,00
12,50
7,50
4,00
54,50
989,00
449,00
19,00

an dh day ah o dh dh dh dh o dah o dh

8

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PRO825RSBI-3

Description

157 N750-0018 electronic ignition lead € 5,50
201 N715-0091 trim left side lid casting € 73,50
202 N715-0092 trim right side lid casting € 73,50
203 S91005 temperature gauge € 31,50
204 N510-0013 black silicone lid bumper € 2,00
205 N335-0098-M02 side shelf lid € 26,50
206 N485-0021 push pin € 1,00
207 N185-0003 ice bucket € 31,50
208 N590-0189 cutting board € 26,50
209 NO010-1136 stainless steel side shelf left € 209,00
210 NO010-0829 side burner manifold assembly € 37,00
211 N455-0072 side burner IR orifice #76 € 5,50
212 N455-0074 side burner orifice 1.1mm € 5,50
213 N320-0005 side burner insect guard € 2,00
214 N120-0033-GYOTX side shelf end cap, left € 31,50
215 N570-0038 1/4-20 x 1/2" screw € 1,00
216 N570-0076 #8 x 1/2” screw € 1,00
217 N100-0050 side buner € 149,00
218 NO080-0343 side burner mounting bracket € 19,00
219 N120-0034-GYOTX side shelf end cap, right € 31,50
220 N240-0032 side burner electrode € 5,50
221 N335-0074 side burner lid € 63,00
222 7325-0013 side burner lid handle € 1,00
223 N555-0059 pivot rod € 3,00
224 N735-0020 washer, 7/32" |.D. X 7/16" O.D. nylon € 1,00
225 N305-0093 cast iron side burner grate € 63,00
226 N570-0008 #8 x 1/2" screw € 2,00
227 N325-0063 shelf handle front € 37,00
228 N325-0064 shelf handle side € 42,00
229 N500-0054 air shutter plate € 3,00
230 N720-0056 smoker burner flex € 26,50
231 N255-0061 quick disconnect nipple € 7,50
232 N385-0144-SER prestige logo € 6,50
233 NO010-0997-SER stainless steel side shelf right € 309,00
234 N385-0185 proplate logo € 8,50
235 N555-0091 pivot rod € 3,00
236 N570-0087 1/4-20 x 7/8" screw € 1,00
237 N380-0034-CL burner control knob small € 12,50
238 N500-0052 side burner plate € 115,00
239 N570-0078 screw M4 x 8mm € 1,00
240 NO010-1098 control knob bezel small € 23,00
241 N570-0073 1/4-20 x 3/8" screw € 1,00
242 N385-0308-SER NAPOLEON logo € 9,50
Pricing subject to change 9

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

Notes

Pricing subject to change 10
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 NAPOLEDN

PRO825RSBI-2

Serial numbers CE-025462 and up

Pricing subject to change 11
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 NAPOLEDN

PRO825RSBI-2

Serial numbers CE-025462 and up

7\
o] -
- ==/ : 3307 « | 1
@ @ | | i
120)

Pricing subject to change 12
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 NAPOLEDN

PRO825RSBI-2

Serial numbers CE-025462 and up

Pricing subject to change 13
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PRO825RSBI-2
Serial numbers CE-025462 and up

Description

1 NO10-0814 base € 799,00
2 N570-0038 1/4-20 x 1/2" screw € 1,00
3 N100-0057 main burner € 26,50
4 N100-0049 smoker burner € 21,00
5 NO080-0320 cross light bracket € 17,00
6  N080-0321 cross light bracket small € 12,50
7 N370-0822 sear plate mount € 8,50
8 N200-0106 smoker burner cover € 52,50
9 N510-0013 black silicone lid bumper € 2,00

N510-0017 black silicone lid bumper 60a € 1,00
10 NO080-0339 burner grease shield € 12,50
11 NO080-0340 burner grease shield small € 9,50
12 N450-0025 1/4" - 20 nut € 1,00
13 NO080-0315 bracket rear burner orifice € 7,50
14 N455-0055 rear burner orifice € 5,50
15 N255-0058 90 degree elbow fitting € 12,50
16 NO080-0311 bracket igniter smoker burner € 17,00
17  N720-0056 smoker burner flex € 26,50
18 N455-0016 smoker burner orifice € 5,50
19 N240-0033 smoker burner igniter € 4,00
20 N655-0206 base stiffener € 6,50
21 N570-0042 screw, 10-24 x 3/8" € 1,00
22 N570-0008 #8 x 1/2" screw € 2,00
23 N475-0329 control panel € 209,00
24 N570-0078 screw M4 x 8mm € 1,00
25 NO010-0794 manifold (LP) € 199,00

N010-0795 manifold (NG) € 199,00
26 N720-0071 manifold flex connector € 26,50
27 N051-0010 smoker tube bezel € 7,50
28 N120-0024 end cap left € 42,00
29 N120-0025 end cap right € 42,00
30 N660-0006 switch lights € 31,50
31 N660-0005 switch ignition € 31,50
32 N585-0098 switch heat shield € 3,00
33 NO010-0913 control panel wire harness € 63,00
34 NO010-0939 control knob bezel large € 26,50
35 NO010-0940 control knob bezel small € 17,00
36 N380-0035-CL burner control knob large € 12,50
37 N380-0034-CL burner control knob small € 12,50
38 N585-0101 smoker shield € 4,00
39 N750-0040 rear burner ignition wire € 10,50
40 N570-0022 8-32 x 3/8" screw € 1,00
41 N720-0053 rear burner supply tube € 19,00
42  N350-0069 rear burner housing (infrared) € 31,50
43 N100-0045 rear burner € 26,50
44 N450-0006 1/4" - 20 nut € 1,00
45 N240-0036 rear burner electrode € 6,50
46 N305-0082 sear plate € 12,50
47 N305-0085 cooking grids large € 125,00
48 N305-0092 cooking grids small € 84,00
49 NO010-0800-SER smoker tube € 63,00
50 N135-0015G left side hood casting € 42,00
51 N135-0016G right side hood casting € 42,00
52 N335-0076-BK2GL hood insert, large € 84,00

** Please contact the service desk for pricing.
Pricing subject to change 14

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PRO825RSBI-2
Serial numbers CE-025462 and up

Description

53 N335-0077-BK2GL hood insert, small € 63,00
54 N570-0012 1/47-20 x 5/8 carriage bolt € 1,00
55 W735-0011 3/4" washer € 1,50
56 N570-0073 1/4-20 x 3/8" screw € 1,00
57 N350-0072 housing left light € 10,50
58 N350-0073 housing right light € 10,50
59 N402-0017 light € 26,50

W387-0006 replacement bulb € 10,50
60 N450-0009 10-24 nut € 0,50
61 N520-0038 large warming rack € 84,00
62 N520-0039 small warming rack € 63,00
63 N475-0301-M06 rotisserie mount € 12,50
64 N200-0110 light wire cover € 31,50
65 N570-0112 screw 10-24 x 5/8" € 1,00
66 N570-0013 #8 x 5/8" screw € 1,00
67 N570-0020 8-32 x 3/8" screw € 2,00
68 N735-0002 1/4" lock washer € 1,00
69 N570-0015 lid pivot screw € 2,00
70 N570-0024 1/4-20 x 1/2" screw € 1,00
71  NO010-0968 drip pan large € 159,00
72 NO010-0967 drip pan small € 115,00
73  N080-0335 bracket infra red burner mount € 19,00
74 N010-0498 infra red burner € 125,00
75 N715-0098 base middle trim € 42,00
76 N215-0014 infra red burner deflector € 19,00
77 NO10-0800 smoker tube € 63,00
78 N530-0032 regulator - Germany € 25,00

N530-0033 regulator - Holland € 25,00

N530-0034 regulator - Spain/Finland/Norway/Denmark € 25,00

N530-0035 regulator - Sweden € 25,00

N530-0036 regulator - ltaly € 25,00

N530-0037 regulator - United Kingdom € 25,00

N530-0038 regulator - France € 25,00

N530-0039 regulator - Hungary € 25,00

N530-0042 regulator - Switzerland € 25,00

N530-0043 regulator - Russia € 25,00

N530-0044 regulator - Poland € 25,00

N530-0046 regulator - Czech Republic € 25,00
79 N735-0021 washer #8 stn sl € 1,00
80 NO10-0857 step down regulator € 73,50
81 N720-0072 quick connection flex € 73,50
82 NO010-0811-SS assembly lid large € 549,00
83 NO010-0810-SS assembly lid small € 499,00
84 NO051-0012 control knob bezel small € 4,00
85 N160-0031 wire clip € 4,00
86 NO010-0929 assembly control panel € 799,00
87 N010-0933 hood assembly, large € 309,00
88 NO010-0934 hood assembly, small € 249,00
89 N750-0057 igniter wire assembly € 6,50
90 N750-0044 power wire harness € 37,00
91 N750-0053 right light wire harness € 17,00
92 N750-0038 smoke burner ignition wire € 6,50
93 N380-0025-BK burner control knob small black € 9,00

** Please contact the service desk for pricing.
Pricing subject to change 15

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



94

95

101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120
121
122
123
124
125
126
127
128
129

130
131
132
133

134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149

Prices are recommended end-user prices

PRO825RSBI-2

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Serial numbers CE-025462 and up

N010-0941
N570-0087
N010-0922-GY1SG
N130-0016
N735-0003
N570-0082
N015-0011
N745-0009
N450-0023
N120-0037
N475-0427-GY1SG
N080-0401-GY1SG
N570-0008
N475-0429-GY1SG
N475-0428-GY1SG
N585-0107
N570-0086
N357-0020
N475-0431
N475-0430
N655-0199
N475-0435-GY1SG
N010-0817
N010-0816
N585-0112-GY1SG
N080-0330-GY1SG
N080-0331-GY1SG
N080-0332-GY1SG
N750-0033
N080-0384-GY1SG
N707-0014
N707-0013
N555-0025
N450-0032
N570-0093
N510-0013
N510-0017
NO010-0803
N010-0802
N570-0022
N105-0012
N010-0818
N710-0086
N080-0341-GY1SG
N590-0242-GY1SG
N185-0005

55110

62008

N160-0039
N570-0087
N735-0001
N200-0124-GY1SG
N010-0887

Description

control knob bezel small
1/4-20 x 7/8” screw
bottom shelf
caster, locking

1/4" lockwasher
1/4-20 x 1/2" screw
axle

wheel

axle cap

wheel hub cap
left-right panel
bracket side shelf
#8 x 1/2" screw
panel right rear
panel left rear
igniter heat shield
#14 x 1/2" screw
ignition

panel right front
panel left front
stiffener door hinge
panel cabinet rear
panel inner cabinet
panel inner cabinet
heat shield

bracket rear cover
bracket base
bracket bumper
ground wire

tank ring bracket
transformer CE
transformer GB
lighting rod

lock nut

8mm screw

black silicone lid bumper
black silicone lid bumper 60a
door right

door left

screw 8 -32 x 3/8"
1.5 " snap bushing
drawer

grease tray holder
drip pan stopper bracket
inner cabinet shelf
bottle cap container
tool hook bracket
grease trays foil
wire clip

1/4-20 x 7/8" screw
washer side shelf
back cover

cabinet light

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

26,50
1,00
299,00
17,00
1,00
1,00
14,50
12,50
3,00
7,50
84,00
7,50
2,00
52,50
52,50
14,50
1,00
26,50
73,50
73,50
63,00
125,00
99,00
115,00
99,00
7,50
3,00
12,50
2,00
6,50
42,00
42,00
3,00
1,00
1,00
2,00
1,00
199,00
199,00
1,00
1,00
249,00
73,50
14,50
26,50
17,00

N O O O O O O OO O O OO O OO OO OO OO OO O ONONONONONONONONONONONOWONOWONOWONOWONONWONO)

*
*

1,50
1,00
2,00
42,00
17,00

[OWONOWONO)

16

Effective January 1st, 2023



150
151
152
153
154

155
201
202
203
204
205
206
207
208
209

210
211
212
213
214
215
216
217
218
219
220
221
222
223
224
225
226
227
228
229
230
231
232
233
234
235
236
237
238
239
240
237
238
239
240
241

Prices are recommended end-user prices

PRO825RSBI-2

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Serial numbers CE-025462 and up

Z080-0012
N080-0318-GY1SG
N750-0018
N010-0873-GY1SG
N370-0781P
N370-0781N
N370-0860
N135-0036G
N715-0091
N135-0037G
N715-0092
N335-0078
N585-0110
N385-0308-SER
N450-0044
N510-0013
N510-0017
NO010-0813
N080-0253G
N570-0013
N570-0087
N735-0002
N685-0004C
N010-0812
N335-0075
N585-0095
N335-0098-M02
N485-0021
N185-0003
N590-0189
N555-0091
N010-0923
N010-0829
N455-0072
N455-0074
N320-0005
N120-0033-GY0TX
N570-0038
N570-0076
N100-0050
N080-0343
N570-0073
N010-0940
N570-0078
N380-0034-CL
N500-0052
N240-0032
N335-0074
N380-0034-CL
N500-0052
N240-0032
N335-0074
Z7325-0013

Description

bottle opener

bracket drip pan guide
electronic ignition lead
tank ring

kit side shelf left (LP)

kit side shelf left (NG)

kit side shelf right

left side lid casting

trim left side lid casting
right side lid casting

right side lid trim

large stainless steel lid insert
lid heat shield large
NAPOLEON logo

logo clips

black silicone lid bumper
black silicone lid bumper 60a
lid handle large

lid handle cover

#8 x 5/8" screw

1/4-20 x 7/8" screw

1/4" lock washer
temperature gauge

lid handle small

small stainless steel lid insert
small lid heat shield

side shelf lid

push pin

ice bucket

cutting board

pivot rod

stainless steel side shelf left
manifold assembly

side burner ir orifice #76
side burner orifice 1.1mm
side burner insect guard
left side shelf end cap
1/4-20 x 1/2" screw

#8 x 1/2” screw

side burner

side burner mounting bracket
1/4-20 x 3/8" screw
control knob bezel small
screw M4 x 8mm

burner control knob small
side burner plate

side burner electrode
side burner lid

burner control knob small
side burner plate

side burner electrode
side burner lid

side burner lid handle

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

7,50
4,00
5,50
63,00
899,00

£y dh dh o

449,00
63,00
73,50
63,00
73,50

199,00
68,50

9,50
1,00
2,00
1,00
37,00
3,00
1,00
1,00
1,00
31,50
31,50
139,00

OO O ONONONONONOWONONONONONOWONOWONO)

26,50
1,00
31,50
26,50
3,00
199,00
37,00
5,50
5,50
2,00
31,50
1,00
1,00
149,00
19,00
1,00
17,00
1,00
12,50
115,00
5,50
63,00
12,50
115,00
5,50
63,00
1,00

(OO OO NN ON O ONO N ON O N O OO IO WO OO OO OWON O ONO NGO

17

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PRO825RSBI-2
Serial numbers CE-025462 and up

Description
242 N555-0059 pivot rod € 3,00
243 N735-0020 washer, 7/32" i.d. x 7/16" o.d. nylon € 1,00
244 N305-0093 cast iron side burner grate € 63,00
245 N570-0008 #8 x 1/2" screw € 2,00
246 N325-0063 shelf handle front € 37,00
247 N325-0064 shelf handle side € 42,00
248 N500-0054 air shutter plate € 3,00
249 N720-0056 side burner flex € 26,50
250 N255-0061 quick disconnect nipple € 7,50
251 N385-0144-SER Prestige logo € 6,50
252 N010-0992 stainless steel side shelf right € 279,00
253 N385-0185 PRO logo € 8,50
254 N120-0034-GYOTX right side shelf end cap € 31,50
Pricing subject to change 18

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV .
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands ‘
Tel: +31 88-588 66 55 NAPOLEON

PRO825RSBI-2 (2018)

Pricing subject to change 19
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 NAPOLEDN

PRO825RSBI-2 (2018)

Pricing subject to change 20
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV A
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 ( NAPOLEON )

PRO825RSBI-2 (2018)

@/@@

21
-

Pricing subject to change 21
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PRO825RSBI-2 (2018)

Description

1 NO10-0814 base € 799,00
2 N570-0038 1/4-20 x 1/2" screw € 1,00
3 N100-0056-50-SER main burner € 31,50
4 N100-0049 smoker burner € 21,00
5 N080-0320 cross light bracket € 17,00
6  N080-0321 cross light bracket small € 12,50
7  N370-0822 sear plate mount € 8,50
8 N200-0106 smoker burner cover € 52,50
9 N510-0013 black silicone lid bumper € 2,00
10 NO080-0339 burner grease shield € 12,50
11 NO080-0340 burner grease shield small € 9,50
12 N450-0025 1/4" - 20 nut € 1,00
13 NO080-0315 bracket rear burner orifice € 7,50
14 N455-0055 rear burner orifice (LP) € 5,50
15 N255-0058 90 degree elbow fitting € 12,50
16 N080-0311 bracket igniter smoker burner € 17,00
17  N720-0056 smoker burner flex € 26,50
18 N455-0016 smoker burner orifice (LP) € 5,50
19 N240-0033 smoker burner igniter € 4,00
20 N655-0183 base stiffener € 5,50
21 N570-0042 screw, 10-24 x 3/8" € 1,00
22 N570-0008 #8 x 1/2" screw € 2,00
23 N475-0329 control panel € 209,00
24 N570-0078 screw M4 x 8mm € 1,00
25 NO010-0794 manifold (LP) € 199,00
26 N720-0071 manifold flex connector € 26,50
27 NO051-0010 smoker tube bezel € 7,50
28 N120-0024 end cap left € 42,00
29 N120-0025 end cap right € 42,00
30 N660-0006 switch lights € 31,50
31 N660-0005 switch ignition € 31,50
32 N585-0098 switch heat shield € 3,00
33 NO010-0913 control panel wire harness € 63,00
34 NO010-0939 control knob bezel large € 26,50
35 NO010-0940 control knob bezel small € 17,00
36 N380-0035-CL burner control knob large € 12,50
37 N380-0034-CL burner control knob small € 12,50
38 N585-0101 smoker shield € 4,00
39 N750-0040 rear burner ignition wire € 10,50
40 N570-0022 8-32 x 3/8" screw € 1,00
41 N720-0053 rear burner supply tube € 19,00
42  N350-0069 rear burner housing (infrared) € 31,50
43 N100-0045 rear burner € 26,50
44 N450-0006 1/4" - 20 nut € 1,00
45 N240-0036 rear burner electrode € 6,50
46 N305-0082 sear plate € 12,50
47 N305-0085 cooking grids large € 125,00
48 N305-0092 cooking grids small € 84,00
49 NO010-0800-SER smoker tube € 63,00
50 N135-0015G left side hood casting € 42,00
51 N135-0016G right side hood casting € 42,00
52 N335-0076-BK2GL hood insert, large € 84,00
53 N335-0077-BK2GL hood insert, small € 63,00
Pricing subject to change 22

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PRO825RSBI-2 (2018)

Description
54 N570-0012 1/4”-20 X 5/8 carriage bolt € 1,00
55 W735-0011 3/4" washer € 1,50
56 N570-0073 1/4-20 x 5/8" screw € 1,00
57 N350-0072 housing left light € 10,50
58 N350-0073 housing right light € 10,50
59 N402-0017 light € 26,50
W387-0006 replacement bulb € 10,50
60 N450-0009 10-24 nut € 0,50
61 N520-0038 large warming rack € 84,00
62 N520-0039 small warming rack € 63,00
63 N475-0301-M06 rotisserie mount € 12,50
64 N200-0110 light wire cover € 31,50
65 N570-0112 screw 10-24 x 5/8" € 1,00
66 N570-0013 #8 x 5/8" screw € 1,00
67 N570-0020 8-32 x 3/8" screw € 2,00
68 N735-0002 1/4" lock washer € 1,00
69 N570-0015 lid pivot screw € 2,00
70 N570-0024 1/4-20 x 1/2" screw € 1,00
71 NO010-0808 drip pan large >
72 NO10-0807 drip pan small € 115,00
73 NO080-0335 bracket infrared burner mount € 19,00
74 NO010-0498 infrared burner € 125,00
75 N715-0098 base middle trim € 42,00
76 N215-0014 infrared burner deflector € 19,00
77 NO10-0800-SER smoker tube € 63,00
78 N530-0032 regulator - Germany € 25,00
N530-0033 regulator - Holland € 25,00
N530-0034 regulator - Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator - Sweden € 25,00
N530-0036 regulator - Italy € 25,00
N530-0037 regulator - United Kingdom € 25,00
N530-0038 regulator - France € 25,00
N530-0039 regulator - Hungary € 25,00
N530-0042 regulator - Switzerland € 25,00
N530-0043 regulator - Russia € 25,00
N530-0044 regulator - Poland € 25,00
N530-0046 regulator - Czech Republic € 25,00
79 N735-0021 washer #8 stn stl € 1,00
80 NO010-0857 step down regulator € 73,50
81 N720-0072 quick connection flex € 73,50
82 NO010-0811-SS assembly lid large € 549,00
83 NO010-0810-SS assembly lid small € 499,00
84 N051-0012 control knob bezel small € 4,00
85 N160-0031 wire clip € 4,00
86 N010-0929 assembly control panel (LP) € 799,00
87 NO010-0916 hood assembly, large € 439,00
88 NO010-0917 hood assembly, small € 339,00
89 NO010-0886 igniter wire **
90 N750-0044 power wire harness € 37,00
91 N750-0053 right light wire harness € 17,00
92 N750-0038 smoke burner ignition wire € 6,50
93 N380-0025-BK burner control knob small black € 9,00
94 N010-0941 control knob bezel small € 26,50
Pricing subject to change 23

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PRO825RSBI-2 (2018)

Description

95 N570-0087 1/4-20 x 7/8” screw € 1,00
N215-0016 large wind deflector € 26,50
N215-0017 small wind deflector € 26,50

101 NO010-0922-GY1SG bottom shelf € 299,00

102 N130-0016 caster, locking € 17,00

103 N735-0003 1/4" lockwasher € 1,00

104 N570-0082 1/4-20 x 1/2" screw € 1,00

105 NO015-0008 axle *

106 N745-0009 wheel € 12,50

107 N450-0023 axle cap € 3,00

108 N120-0037 wheel hub cap € 7,50

109 N475-0427-GY1SG left/right cart panel € 84,00

110 NO080-0401-GY1SG bracket side shelf € 7,50

111 N570-0008 #8 x 1/2" screw € 2,00

112 N475-0429-GY1SG panel right rear € 52,50

113 N475-0428-GY1SG panel left rear € 52,50

114 N585-0107 igniter heat shield € 14,50

115 N570-0086 #14 x 1/2" screw € 1,00

116 N357-0019 ignition € 26,50

117 N475-0431 panel right front € 73,50

118 N475-0430 panel left front € 73,50

119 N655-0199 stiffener door hinge € 63,00

120 N475-0435-GY1SG panel cabinet rear € 125,00

121 NO10-0817 panel inner cabinet € 99,00

122 NO010-0816 panel inner cabinet € 115,00

123 N585-0112-GY1SG heat shield € 99,00

124 N080-0330-GY1SG bracket rear cover € 7,50

125 NO080-0331-GY1SG bracket base € 3,00

126 NO080-0332-GY1SG bracket bumper € 12,50

127 N750-0033 ground wire € 2,00

128 NO080-0384-GY1SG tank ring bracket € 6,50

129 N707-0014 transformer CE € 42,00
N707-0013 transformer GB € 42,00

130 N555-0025 lighting rod € 3,00

131 N450-0032 lock nut € 1,00

132 N570-0093 8mm screw € 1,00

133 N510-0013 black silicone lid bumper € 2,00

134 NO010-0803 door right € 199,00

135 NO010-0802 door left € 199,00

136 N570-0022 screw 8 -32 x 3/8" € 1,00

137 N105-0012 1.5 " snap bushing € 1,00

138 NO010-0818 drawer € 249,00

139 N710-0086 grease tray holder € 73,50

140 NO080-0341-GY1SG drip pan stopper bracket € 14,50

141 N590-0242-GY1SG inner cabinet shelf € 26,50

142 N185-0005 bottle cap container € 17,00

143 55110 tool hook bracket >

144 62008 grease trays foil **

145 W160-0095 wire clip **

146 N570-0087 1/4-20 x 7/8" screw € 1,00

147 N735-0001 washer side shelf € 2,00

148 N200-0124-GY1SG back cover € 42,00

149 NO010-0887 cabinet light € 17,00

Pricing subject to change 24

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



150
151
152
153
154
155
201
202
203
204
205
206
207
208
209
210
211
212
213
214
215
216
217
218
219
220
221
222
223
224
225
226
227
228
229
230
231
232
233
234
235
236
237

238
239
240
241
242
243
244
245
246

Prices are recommended end-user prices

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

PRO825RSBI-2 (2018)

Z080-0012

N080-0318-GY1SG

N750-0018

N010-0873-GY1SG

N370-0755P
N370-0754
N135-0036G
N715-0091
N135-0037G
N715-0092
N335-0078
N585-0110
N385-0308-SER
N450-0044
N510-0013
NO010-0813
N080-0253G
N570-0013
N570-0087
N735-0002
N685-0004C
N010-0812
N335-0075
N585-0095
N335-0075
N485-0021
N185-0003
N590-0189
N555-0084
N010-0877
N010-0829
N455-0072
N455-0074
N320-0005

N120-0033-GY0TX

N570-0038
N570-0076
N100-0050
N080-0343
N570-0073
N051-0012
N570-0078
N380-0025-CL
N380-0025-BK
N500-0052
N240-0032
N335-0074
Z325-0013
N555-0059
N735-0020
N305-0093
N570-0008
N325-0063

Description

bottle opener

bracket drip pan guide
electronic ignition lead
tank ring

kit side shelf left

kit side shelf right

left side lid casting

trim left side lid casting
right side lid casting

right side lid casting

large stainless steel lid insert
lid heat shield large
NAPOLEON logo

logo clips

black silicone lid bumper
lid handle large

lid handle cover

#8 x 5/8" screw

1/4-20 x 7/8" screw

1/4" lock washer
temperature gauge

lid handle small

small stainless steel lid insert
small lid heat shield

side shelf lid

push pin

ice bucket

cutting board

pivot rod

stainless steel side shelf left
manifold assembly

side burner IR orifice #76
side burner orifice 1.1mm
side burner insect guard
left side shelf end cap
1/4-20 x 1/2" screw

#8 x 1/2” screw

side buner

side burner mounting bracket
1/4-20 x 3/8" screw
control knob bezel small
screw M4 x 8mm

burner control knob small
burner control knob small
side burner plate

side burner electrode

side burner lid

side burner lid handle
pivot rod

washer, 7/32" |.D. X 7/16" O.D. nylon
cast iron side burner grate
#8 x 1/2" screw

shelf handle front

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

7,50
4,00
5,50
63,00

£ dh dh dh

*
*

63,00
73,50
63,00
73,50
199,00
68,50
9,50
1,00
2,00
37,00
3,00
1,00
1,00
1,00
31,50
31,50
139,00

OO OWONONONONONOWONOWONONONONON O]

139,00
1,00
31,50
26,50
3,00

oy oy dh

37,00
5,50
5,50
2,00

31,50
1,00
1,00

149,00

19,00
1,00
4,00
1,00

10,50
9,00

115,00
5,50

63,00
1,00
3,00
1,00

63,00
2,00

37,00

(OO OWONONONONONONONONONOWONONONOWOROWONONON O]

25
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PRO825RSBI-2 (2018)

Description

247 N325-0064 shelf handle side € 42,00
248 N500-0054 air shutter plate € 3,00
249 N720-0056 smoke burner flex € 26,50
250 N255-0061 quick disconnect nipple € 7,50
251 N385-0144-SER Prestige logo € 6,50
252 N010-0875 stainless steel side shelf right >

N510-0013 lid casting rear lid bumper € 2,00

Pricing subject to change 26

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



PRO665RSIB-3

W

Z/

Prices are recommended end-user prices

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

.
( NAPOLEON )

Pricing subject to change
** Please contact service desk for pricing

27
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

PRO665RSIB-3

Pricing subject to change 28
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



O~NO O~ WN =

P i )
© oo NO OB~ WN-=O

20
21
22
23
24

25
26
27
28
29
30
Sl
32
33
34
55
36
37
38
59
40
41

42
43
44
45
46
47
48

Prices are recommended end-user prices

PRO665RSIB-3

N520-0037
N305-0085
N305-0092
N080-0320
N080-0321
N100-0049
N010-0966
N190-0005-T
N750-0070
N240-0036
N100-0045-SER
N350-0069
N570-0073
N200-0106
N010-0800-SER
N080-0311
N080-0329
N585-0111-GY1SG
N455-0055
W456-0050
N255-0058
N570-0008
N720-0056
N655-0206
N455-0016
N455-0002
N720-0053
N200-0123-GY1SG
N080-0315
N735-0001
N240-0033
N080-0401-GY1SG
N570-0087
N655-0199
N475-0301-M06
N080-0331-GY1SG
N475-0431
N475-0429-GY1SG
N585-0107
N080-0330-GY1SG
N475-0428-GY1SG
N475-0434-GY1SG
N010-0857
N010-0857-FR
N010-0858
N570-0086
N590-0239-GY1SG
N475-0341-GY1SG
N475-0427-GY1SG
N105-0012
N010-0803
N530-0032
N530-0033

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

warming rack

cooking grids large
cooking grids small
cross light bracket
cross light bracket small
smoker burner

drip pan

control box

light wire harness

rear burner electrode
rear burner

rear burner housing (infra-red)
1/4-20 x 5/8" screw
smoker burner cover
smoker tray

bracket igniter smoke burner
burner grease shield
heat shield

rear burner orifice

rear burner orifice

90 degree elbow fitting
screw, 10-24 x 3
smoker burner flex
base stiffener

smoker burner orifice
smoker burner orifice
rear burner supply tube
back cover

bracket rear burner orifice
washer side shelf
smoker burner igniter
bracket side shelf
1/4-20 x 7/8" screw
stiffener door hinge
rotisserie mount
bracket base

panel right front

panel right rear

igniter heat shield
bracket rear cover
panel rear left

panel cabinet rear
regulator step down
regulator step down - France
regulator step down
screw 14 x 1/2

shelf

panel inner cabinet
left-right panel

1.5 " snap bushing
door right

regulator -Germany
regulator -Holland

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

95,00
125,00
84,00
17,00
12,50
21,00
169,00
125,00
25,00
6,50
14,50
31,50
1,00
52,50
63,00
17,00
12,50
99,00
5,50
10,50
12,50
2,00
26,50
6,50
5,50
5,50
19,00
31,50
7,50
2,00
4,00
7,50
1,00
63,00
12,50
3,00
73,50
52,50
14,50
7,50
52,50
99,00
73,50

Ay dh Ay oA A odh A A A A A dh A A A A dh dh A A A oAb dh A A A A dh A A A A A dh A A D oAb A dh A oy

63,00
1,00
31,50
37,00
84,00
1,00
199,00
25,00
25,00

[ONONOWONOWONOWONO!

29

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PRO665RSIB-3

Description

N530-0034 regulator -Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator -Sweden € 25,00
N530-0036 regulator -Italy € 25,00
N530-0037 regulator -United Kingdom € 25,00
N530-0038 regulator -France € 25,00
N530-0039 regulator -Hungary € 25,00
N530-0042 regulator -Switzerland € 25,00
N530-0043 regulator -Russia € 25,00
N530-0044 regulator -Poland € 25,00
N530-0046 regulator -Czech Republic € 25,00
49 N370-0981CE tank tray support € 54,50
50 NO015-0011 axle € 14,50
51 N120-0037 wheel hub cap € 7,50
52 N450-0023 axle cap € 3,00
53 N745-0009 wheel € 12,50
54 N080-0332-GY1SG bracket bumper € 12,50
55 N510-0013 black silicone bumper € 2,00
56 N130-0016 caster, locking € 17,00
58 NO010-0802 door left € 199,00
59 N185-0005 bottle cap container € 17,00
60 N555-0097 lighting rod € 5,50
61 Z080-0012 bottle opener € 7,50
62 55110 tool hook bracket >
63 N475-0430 panel left front € 73,50
64 N750-0069 control box wire harness € 17,00
65 N160-0023 side burner hose orifice retainer clip € 1,00
66 N455-0067 orifice side burner € 4,00
N455-0068 orifice side burner € 4,00
67 N750-0018 electronic ignition lead € 5,50
68 N357-0022 electronic ignition - 4 spark € 17,00
69 N707-0013 transformer GB € 42,00
N707-0014 transformer CE € 42,00
70 NO010-0790-SS lid assembly - stainless steel € 629,00
N010-0790-BK lid assembly - black € 629,00
71 S91005 temperature gauge € 31,50
72 N385-0308-SER NAPOLEON logo € 9,50
73  N715-0091 trim left side lid casting € 73,50
74 N715-0092 trim right side lid casting € 73,50
75 NO010-0932 hood assembly € 349,00
76  N350-0072 housing left light € 10,50
77 N350-0073 housing right light € 10,50
78 N402-0017 light € 26,50
W387-0006 replacement bulb € 10,50
79 N200-0110 light wire cover € 31,50
80 W735-0011 3/4" washer € 1,50
81 N570-0012 1/4"-20 X 5/8 carriage bolt € 1,00
82 N450-0006 1/4" - 20 nut € 1,00
83  N450-0009 10-24 nut € 0,50
84 NO010-1092-SER lid pivot hardware kit € 4,00
85 S87012 burner & sear plate kit € 51,50
86 NO010-1163-SER infrared side burner shelf assembly € 449,00
87 N335-0098-M02 side burner lid € 26,50
88 N485-0021 push pin € 1,00
Pricing subject to change 30

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



89
90
91
92
98
94
95
96
97
98
99
100
101
102
103
104

105
106
107

108
109
110
111
112
113
114
115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139

Prices are recommended end-user prices

PRO665RSIB-3

N555-0091
S83012
N570-0042
N240-0026
S81005
W450-0020
N710-0063
N080-0358
N010-0998-SER
N325-0064
N120-0033-GYOTX
N570-0076
N570-0038
N325-0063
N570-0080
N010-1165-SER
N010-1166-SER
N010-1096
N660-0009
N010-0792
N010-0793
N585-0098
N720-0071
N570-0078
N120-0025
N510-0017
N010-1097
N380-0035-CL
N380-0034-CL
NO010-1098
N660-0010
N402-0019
N080-0432
N120-0024
N570-0104
N475-0490
N545-0013
N402-0018
N710-0086

N380-0025-BK
N570-0022
N051-0012
N051-0010
N010-0800
N010-1164-SER
N590-0189
N185-0003
N010-0997-SER
N385-0144-SER
N385-0185
N450-0044
N120-0034-GY0TX

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

side burner pivot rod

side burner grate

10-24 x 3

side burner electrode

side burner

#10-24 nutsert

side burner drip pan

side burner drip pan bracket
stainless steel side shelf, left
shelf handle side

side shelf end cap, left

#8 X 14 screw

1/4" - 20 x 1/2" screw
shelf handle front

#14 x 1/2 screw

control panel

control panel

control panel wire harness
switch

manifold

manifold

switch heat shield
manifold flex connector
M4 x 8mm screw

end cap right

round silicone lid bumper
large control knob bezel
burner control knob large
burner control knob small
small control knob bezel
proximity sensor

logo light

logo light mounting bracket
end cap left

screw 10-24 x 3

control panel

plastic push rivet

cabinet light

grease tray holder

62008 grease trays foil

burner control knob small black
screw, 8-32 x 3

control knob bezel small
smoker tube bezel

smoker tube

side shelf assembly

cutting board

ice bucket

stainless steel side shelf right
prestige logo

PRO logo

logo spring clips

side shelf end cap, right

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

3,00
94,95
1,00
3,50
99,00

£ dh dh oy dhy

30,00
12,50
449,00
42,00
31,50
1,00
1,00
37,00
1,00
749,00
749,00
99,00
29,50
169,00
169,00
3,00
26,50
1,00
42,00
1,00
25,00
12,50
12,50
23,00
14,50
23,00
19,00
42,00
1,00
159,00
1,00
12,50
73,50

roay dy dy ah A A dh dh Ay A A dh dh A A A dh dh dy A A A dh dh dh A A D dh dh dh D D

9,00
1,00
4,00
7,50
63,00
279,00
26,50
31,50
309,00
6,50
8,50
1,00
31,50

(OO ONO NGO ON OGO NON O ONO)

31

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

Description
140 N370-0876 base assembly stn stl € 1.299,00
141 N370-0822 sear plate mount € 8,50
144 N385-0348 NAPOLEON logo € 3,00
145 N585-0133 heat shield € 10,50
146 N215-0015 wind deflector € 42,00
147 NO010-1228-GY1SG bottom shelf € 199,00
Pricing subject to change 32

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV ;
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands /—\—\
Tel: +31 88-588 66 55 ‘( NAPOLEON )

PRO665RSIB-2

Serial numbers CE-025604 and up

Pricing subject to change 33
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 (NAPOLEON )
PRO665RSIB-2

Serial numbers CE-025604 and up

S

(i

7 2
140 136 : @
i

Pricing subject to change 34
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



O ~NO O~ WN =

WWWWMNNNNDNNNNNDLD =S = 2 s s
WN 2000 NOODOPR,WN-_O0O0OONOOOGA,WN-=0

34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52

Prices are recommended end-user prices

PRO665RSIB-2

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Serial numbers CE-025604 and up

N010-0920-GY1SG
N130-0016
N735-0003
N570-0082
N015-0011
N745-0009
N450-0023
N120-0037
N475-0427-GY1SG
N080-0401-GY1SG
N570-0008
N475-0429-GY1SG
N475-0428-GY1SG
N570-0086
N357-0020
N475-0431
N475-0430
N080-0318-GY1SG
N655-0199
N475-0434-GY1SG
N010-0998-SER
N010-0997-SER
N585-0107
N750-0033
N585-0111-GY1SG
N010-0887
N080-0330-GY1SG
N080-0331-GY1SG
N080-0332-GY1SG
N475-0341-GY1SG
N590-0239-GY1SG
N010-0873-GY1SG
N707-0014
N707-0013
N160-0039
N510-0013
N080-0384-GY1SG
N570-0022
N105-0012
N555-0025
N570-0076
N185-0005

55110

N710-0086

62008
N200-0123-GY1SG
N185-0003
N590-0189
N335-0098-M02
N485-0021
N555-0084
N120-0034-GYOTX
N010-0997-SER

Description

bottom shelf
caster, locking

1/4" lockwasher
1/4-20 x 5/8" screw
axle

wheel

axle cap

wheel hub cap
left-right panel
bracket side shelf
#8 x 1/2" screw
panel right rear
panel left rear

#14 x 1/2" screw
ignition

panel right front
panel left front
bracket drip pan guide
stiffener door hinge
panel cabinet rear
left side shelf

right side shelf
igniter heat shield
ground wire

heat shield

cabinet light
bracket rear cover
bracket base
bracket bumper
panel inner cabinet
shelf

tank ring (LP)
transformer CE
transformer GB
wire clip

black silicone lid bumper
tank ring bracket
screw 8 -32 x 3/8"
1.5 " snap bushing
lighting rod

#8 x 1/2" screw
bottle cap container
tool hook bracket
grease tray holder
grease trays foil
back cover

ice bucket

cutting board

side shelf lid

push pin

side burner pivot rod
side shelf end cap, right
stainless steel side shelf right

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

199,00
17,00
1,00
1,00
14,50
12,50
3,00
7,50
84,00
7,50
2,00
52,50
52,50
1,00
26,50
73,50
73,50
4,00
63,00
99,00
449,00
309,00
14,50
2,00
99,00
17,00
7,50
3,00
12,50
37,00
31,50
63,00
42,00
42,00
1,50
2,00
6,50
1,00
1,00
3,00
1,00
17,00
#N/B
73,50
#N/B

31,50
31,50
26,50
26,50
1,00
3,00
31,50
309,00

OO ON OO OO O ON OO OO OO OO O ONONONONONONONONONONONONONONONONONOWONOWONOWONO!

an

[OWONOWONOWONONO

35

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PROG665RSIB-2
Serial numbers CE-025604 and up

Description

53 N325-0063 shelf handle front € 37,00
54 N325-0064 shelf handle side € 42,00
55 N385-0144-SER Prestige logo € 6,50
56 N450-0044 logo clips € 1,00
57 N385-0185 PRO logo € 8,50
58 N735-0001 washer side shelf € 2,00
59 N570-0087 1/4-20 x 7/8" screw € 1,00
60 N570-0038 1/4-20 x 1/2" screw € 1,00
61 N120-0033-GYOTX side shelf end cap left € 31,50
62 NO010-0998-SER stainless steel side shelf left € 449,00
63 N500-0039K side burner plate € 37,00
64 NO080-0358 side burner drip pan bracket € 12,50
65 N240-0026 side burner electrode € 3,50
66 N710-0063 side burner drip pan € 30,00
67 S83012 side burner grate € 94,95
68 S81005 side burner € 99,00
69 N455-0067 orifice side burner € 4,00
N455-0068 orifice side burner € 4,00
70 N160-0023 side burner hose orifice retainer clip € 1,00
71 N570-0042 screw 10-24 x 3/8" € 1,00
72 N750-0018 electronic ignition lead € 5,50
73  NO010-0802 door left € 199,00
74 N010-0803 door right € 199,00
101 NO10-0791 base #N/B
102 N570-0087 1/4-20 x 7/8" screw € 1,00
103 N570-0038 1/4-20 x 1/2" screw € 1,00
104 N100-0048 main burner #N/B
105 N100-0049 smoker burner € 21,00
106 N080-0320 cross light bracket € 17,00
107 NO080-0321 cross light bracket small € 12,50
108 NO080-0405 sear plate mount € 8,50
109 N200-0106 smoker burner cover € 52,50
110 N510-0013 black silicone lid bumper € 2,00
111 NO080-0329 burner grease shield € 12,50
112 N450-0025 1/4" - 20 nut € 1,00
113 NO080-0315 bracket rear burner orifice € 7,50
114 N455-0055 rear burner orifice (LP) € 5,50
W456-0050 rear burner orifice (NG) € 10,50
115 N255-0058 90 degree elbow fitting € 12,50
116 NO080-0311 bracket igniter smoke burner € 17,00
117 N720-0056 smoker burner flex € 26,50
118 N455-0016 smoker burner orifice (LP) € 5,50
N455-0002 smoker burner orifice (NG) € 5,50
119 N240-0033 smoker burner igniter € 4,00
120 N655-0183 base stiffener € 5,50
121 N570-0042 screw, 10-24 x 3/8" € 1,00
122 N570-0008 #8 x 1/2" screw € 2,00
123 N010-0927 assembly control panel (LP) € 699,00
N010-0926 assembly control panel (NG) € 699,00
124 N475-0328 control panel € 139,00
125 N570-0078 screw M4 x 8mm € 1,00
126 NO010-0792 manifold (LP) € 169,00
N010-0793 manifold (NG) € 169,00
** Please contact the service desk for pricing.
Pricing subject to change 36

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PROG665RSIB-2
Serial numbers CE-025604 and up

Description

127 N720-0071 manifold flex connector € 26,50
128 N530-0032 regulator - Germany € 25,00

N530-0033 regulator - Holland € 25,00

N530-0034 regulator - Spain/Finland/Norway/Denmark € 25,00

N530-0035 regulator - Sweden € 25,00

N530-0036 regulator - Italy € 25,00

N530-0037 regulator - United Kingdom € 25,00

N530-0038 regulator - France € 25,00

N530-0039 regulator - Hungary € 25,00

N530-0042 regulator - Switzerland € 25,00

N530-0043 regulator - Russia € 25,00

N530-0044 regulator - Poland € 25,00

N530-0046 regulator - Czech Republic € 25,00
129 NO010-0857 step down regulator € 73,50
130 N720-0055 side burner supply tube € 12,50
131 N120-0024 end cap left € 42,00
132 N120-0025 end cap right € 42,00
133 N660-0006 switch lights € 31,50
134 N660-0005 switch ignition € 31,50
135 N585-0098 switch heat shield € 3,00
136 NO010-0912 control panel wire harness € 63,00
137 NO010-0939 control knob bezel large € 26,50
138 NO010-0940 control knob bezel small € 17,00
139 N380-0035-CL burner control knob large € 12,50
140 N380-0034-CL burner control knob small € 12,50
141 NO010-0800-SER smoker tray € 63,00
142 N380-0025-BK burner control knob small black € 9,00
143 NO051-0010 smoker tube bezel € 7,50
144 N570-0022 screw, 8-32 x 3/8" € 1,00
145 NO051-0012 control knob bezel small € 4,00
146 N010-0800 smoker tube € 63,00
147 N720-0053 rear burner supply tube € 19,00
148 N350-0069 rear burner housing (infrared) € 31,50
149 N100-0045 rear burner € 26,50
150 N450-0006 1/4" - 20 nut € 1,00
151 N240-0036 rear burner electrode € 6,50
152 N305-0082 sear plate € 12,50
153 N305-0085 cooking grids large € 125,00
154 N305-0092 cooking grids small € 84,00
155 N585-0101 smoker shield € 4,00
156 N135-0015G left side hood casting € 42,00
157 N135-0016G right side hood casting € 42,00
158 N335-0073-BK2GL hood insert € 115,00

NO010-0932 hood assembly € 349,00
159 N570-0012 1/4"-20 x 5/8 carriage bolt € 1,00
160 W735-0011 3/4" washer € 1,50
161 N570-0073 1/4-20 x 5/8" screw € 1,00
162 N350-0072 housing left light € 10,50
163 N350-0073 housing right light € 10,50
164 N402-0017 light € 26,50

W387-0006 replacement bulb € 10,50
165 N450-0009 10-24 nut € 0,50
166 N520-0037 warming rack € 95,00

Pricing subject to change 37

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PRO665RSIB-2

Serial numbers CE-025604 and up

Description

167 N475-0301-M06 rotisserie mount € 12,50
168 N200-0110 light wire cover € 31,50
169 N570-0112 screw 10-24 x 5/8" € 1,00
170 N135-0036G left side lid casting € 63,00
171 N715-0091 trim left side lid casting € 73,50
172 N135-0037G right side lid casting € 63,00
173 N715-0092 trim right side lid casting € 73,50
174 N335-0072 stainless steel lid insert € 159,00

N335-0086-BK2GL black lid insert € 279,00
175 N585-0092 lid heat shield € 59,00
176 N385-0308-SER NAPOLEON logo € 9,50
177 N450-0044 logo clips € 1,00
178 S91005 temperature gauge € 31,50
179 NO10-0789 lid handle € 84,00
180 NO080-0253G lid handle cover € 3,00
181 N570-0013 #8 x 5/8" screw € 1,00
182 N735-0002 1/4" lock washer € 1,00
183 N570-0015 lid pivot screw € 2,00
184 N570-0024 1/4-20 x 1/2" screw € 1,00
185 NO010-0966 drip pan € 169,00
186 NO010-0790-SS assembly lid - stainless steel € 629,00

N010-0790-BK assembly lid - black € 629,00
187 N370-0831 igniter wire assembly € 37,00
188 N750-0044 power wire harness € 37,00
189 N750-0045 right light wire harness € 10,50
190 N750-0038 smoke burner ignition wire € 6,50
191 N735-0021 #8 washer € 1,00
192 N570-0020 8-32 x 3/8" screw € 2,00

** Please contact the service desk for pricing.
Pricing subject to change 38

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 NAPOLEDN

Pricing subject to change 39
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 NAPOLEDN

PRO665RSIB-2 (2018)

{170} d102)
Ve e

Pricing subject to change 40
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



O~NO O~ WN =

WWWWMNNNNDNNNNNDLD =S = 2 s s a2
WN 2000 NOODOaOPDWN-_00O0CONOOOGODWN-=O

34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52

Prices are recommended end-user prices

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

PROG665RSIB-2 (2018)

N010-0920-GY1SG
N130-0016
N735-0003
N570-0082
N015-0008
N745-0009
N450-0023
N120-0037
N475-0427-GY1SG
N080-0401-GY1SG
N570-0008
N475-0429-GY1SG
N475-0428-GY1SG
N570-0086
N357-0019
N475-0431
N475-0430
N080-0318-GY1SG
N655-0199
N475-0434-GY1SG
N010-0876-SER
NO010-0875
N585-0107
N750-0033
N585-0111-GY1SG
N010-0887
N080-0330-GY1SG
N080-0331-GY1SG
N080-0332-GY1SG
N475-0341-GY1SG
N590-0239-GY1SG
N010-0873-GY1SG
N707-0014
N707-0013
W160-0095
N510-0013
N080-0384-GY1SG
N570-0022
N105-0012
N555-0025
N570-0076
N185-0005

55110

N710-0086

62008
N200-0123-GY1SG
N185-0003
N590-0189
N335-0098-M02
N485-0021
N555-0059
N120-0034-GYOTX
N370-0754

Description

bottom shelf
caster, locking

1/4" lockwasher
1/4-20 x 5/8" screw
axle

wheel

axle cap

wheel hub cap
left-right panel
bracket side shelf
#8 x 1/2" screw
panel right rear
panel left rear

#14 x 1/2" screw
ignition

panel right front
panel left front
bracket drip pan guide
stiffener door hinge
panel cabinet rear
left side shelf

right side shelf
igniter heat shield
ground wire

heat shield

cabinet light

bracket rear cover
bracket base
bracket bumper
panel inner cabinet
shelf

tank ring
transformer CE
transformer GB

wire clip

black silicone lid bumper
tank ring bracket
screw 8 -32 x 3/8"
1.5 " snap bushing
lighting rod

#8 x 1/2" screw
bottle cap container
tool hook bracket
grease tray holder
grease trays foil
back cover

ice bucket

cutting board

side shelf lid

push pin

side burner pivot rod
side shelf end cap, right
stainless steel side shelf right

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

199,00
17,00
1,00
1,00

£y dh oy dh

12,50

3,00

7,50

84,00

7,50

2,00

52,50

52,50

1,00

26,50

73,50

73,50

4,00

63,00

99,00

299,00
#N/B

14,50

2,00

99,00

17,00

7,50

3,00

12,50

37,00

31,50

63,00

42,00

42,00
#N/B

2,00

6,50

1,00

1,00

3,00

1,00

17,00
#N/B

73,50
#N/B

31,50

31,50

26,50

26,50

1,00

3,00

31,50
#N/B

[ONONOWONOWONONONOWONOWONOWONONO)

[ONONONONONOWONOWONOWONOY

an [ONOWOWOWONONO)

an dy ah dh A dh

41

Effective January 1st, 2023




Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PROG665RSIB-2 (2018)

Description

N325-0063 shelf handle front € 37,00
54 N325-0064 shelf handle side € 42,00
55 N385-0144-SER Prestige logo € 6,50
56 N450-0044 logo clips € 1,00
57 N385-0185 PRO logo € 8,50
58 N735-0001 washer side shelf € 2,00
59 N570-0087 1/4-20 x 7/8" screw € 1,00
60 N570-0038 1/4-20 x 1/2" screw € 1,00
61 N120-0033-GYOTX side shelf end cap left € 31,50
62 N010-0876 stainless steel side shelf left >
63 N500-0039K side burner plate € 37,00
64 NO080-0358 side burner drip pan bracket € 12,50
65 N240-0026 side burner electrode € 3,50
66 N710-0063 side burner drip pan € 30,00
67 N305-0076 side burner grate € 79,00
68 NO010-0612 side burner € 99,00
69 N455-0067 orifice side burner (LP) € 4,00
N455-0068 orifice side burner (NG) € 4,00
70 N160-0023 side burner hose orifice retainer clip € 1,00
71 N570-0042 screw 10-24 x 3/8" € 1,00
72 N750-0018 electronic ignition lead € 5,50
73  N010-0802 door left € 199,00
74 N010-0803 door right € 199,00
101 NO010-0791 base #N/B
102 N570-0087 1/4-20 x 7/8" screw € 1,00
103 N570-0038 1/4-20 x 1/2" screw € 1,00
104 N100-0056-50-SER main burner € 31,50
105 N100-0049 smoker burner € 21,00
106 NO080-0320 cross light bracket € 17,00
107 NO080-0321 cross light bracket small € 12,50
108 NO080-0405 sear plate mount € 8,50
109 N200-0106 smoker burner cover € 52,50
110 N510-0013 black silicone lid bumper € 2,00
111 NO080-0329 burner grease shield € 12,50
112 N450-0025 1/4" - 20 nut € 1,00
113 NO080-0315 bracket rear burner orifice € 7,50
114 N455-0055 rear burner orifice (LP) € 5,50
W456-0050 rear burner orifice (NG) € 10,50
115 N255-0058 90 degree elbow fitting € 12,50
116 NO080-0311 bracket igniter smoke burner € 17,00
117 N720-0056 smoker burner flex € 26,50
118 N455-0016 smoker burner orifice (LP) € 5,50
N455-0002 smoker burner orifice (NG) € 5,50
119 N240-0033 smoker burner igniter € 4,00
120 N655-0183 base stiffener € 5,50
121 N570-0042 screw, 10-24 x 3/8" € 1,00
122 N570-0008 #8 x 1/2" screw € 2,00
123 N010-0927 assembly control panel (LP) € 699,00
N010-0926 assembly control panel (NG) € 699,00
124 N475-0328 control panel € 139,00
125 N570-0078 screw M4 x 8mm € 1,00
126 N010-0792 manifold (LP) € 169,00
N010-0793 manifold (NG) € 169,00
Pricing subject to change 42

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PROG665RSIB-2 (2018)

Description

N720-0071 manifold flex connector € 26,50
128 N530-0032 regulator - Germany € 25,00

N530-0033 regulator - Holland € 25,00

N530-0034 regulator - Spain/Finland/Norway/Denmark € 25,00

N530-0035 regulator - Sweden € 25,00

N530-0036 regulator - Italy € 25,00

N530-0037 regulator - United Kingdom € 25,00

N530-0038 regulator - France € 25,00

N530-0039 regulator - Hungary € 25,00

N530-0042 regulator - Switzerland € 25,00

N530-0043 regulator - Russia € 25,00

N530-0044 regulator - Poland € 25,00

N530-0046 regulator - Czech Republic € 25,00
129 NO010-0857 step down regulator € 73,50
130 N720-0055 side burner supply tube € 12,50
131 N120-0024 end cap left € 42,00
132 N120-0025 end cap right € 42,00
133 N660-0006 switch lights € 31,50
134 N660-0005 switch ignition € 31,50
135 N585-0098 switch heat shield € 3,00
136 NO010-0912 control panel wire harness € 63,00
137 NO010-0939 control knob bezel large € 26,50
138 NO010-0940 control knob bezel small € 17,00
139 N380-0035-CL burner control knob large € 12,50
140 N380-0034-CL burner control knob small € 12,50
141 NO010-0800-SER smoker tray € 63,00
142 N380-0025-BK burner control knob small black € 9,00
143 NO051-0010 smoker tube bezel € 7,50
144 N570-0022 screw, 8-32 x 3/8" € 1,00
145 NO051-0012 control knob bezel small € 4,00
146 NO10-0800 smoker tube € 63,00
147 N720-0053 rear burner supply tube € 19,00
148 N350-0069 rear burner housing (infra-red) € 31,50
149 N100-0045 rear burner € 26,50
150 N450-0006 1/4" - 20 nut € 1,00
151 N240-0036 rear burner electrode € 6,50
152 N305-0082 sear plate € 12,50
153 N305-0085 cooking grids large € 125,00
154 N305-0092 cooking grids small € 84,00
155 N585-0101 smoker shield € 4,00
156 N135-0015G left side hood casting € 42,00
157 N135-0016G right side hood casting € 42,00
158 N335-0073-BK2GL hood insert € 115,00

NO010-0932 hood assembly € 349,00
159 N570-0012 1/4"-20 X 5/8 carriage bolt € 1,00
160 W735-0011 3/4" washer € 1,50
161 N570-0073 1/4-20 x 5/8" screw € 1,00
162 N350-0072 housing left light € 10,50
163 N350-0073 housing right light € 10,50
164 N402-0017 light € 26,50

W387-0006 replacement bulb € 10,50
165 N450-0009 10-24 nut € 0,50
166 N520-0037 warming rack € 95,00

Pricing subject to change 43

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PRO665RSIB-2 (2018)

Description

167 N475-0301-M06 rotisserie mount € 12,50
168 N200-0110 light wire cover € 31,50
169 N570-0112 screw 10-24 x 5/8" € 1,00
170 N135-0036G left side lid casting € 63,00
171 N715-0091 trim left side lid casting € 73,50
172 N135-0037G right side lid casting € 63,00
173 N715-0092 trim right side lid casting € 73,50
174 N335-0072 stainless steel lid insert € 159,00
N335-0086-BK2GL black lid insert € 279,00
175 N585-0092 lid heat shield € 59,00
176 N385-0308-SER NAPOLEON logo € 9,50
177 N450-0044 logo clips € 1,00
178 N685-0004C temperature gauge € 31,50
179 NO010-0789 lid handle € 84,00
180 NO080-0253G lid handle cover € 3,00
181 N570-0013 #8 x 5/8" screw € 1,00
182 N735-0002 1/4" lock washer € 1,00
183 N570-0015 lid pivot screw € 2,00
184 N570-0024 1/4-20 x 1/2" screw € 1,00
185 NO010-0788 drip pan € 149,00
186 NO010-0790-SS assembly lid - stainless steel € 629,00
N010-0790-BK assembly lid - black € 629,00
187 NO010-0886 igniter wire #N/B
188 N750-0044 power wire harness € 37,00
189 N750-0045 right light wire harness € 10,50
190 N750-0038 smoke burner ignition wire € 6,50
191 N735-0021 #8 washer € 1,00
192 N570-0020 8-32 x 3/8" screw € 2,00
N215-0015 wind deflector € 42,00
N510-0013 lid casting rear lid bumper € 2,00
Pricing subject to change 44

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



( NAPOLEON )

Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

PRO500RSIB-3
3

oy

\\\\\\\\\\\y/

45
Effective January 1st, 2023

Pricing subject to change
** Please contact service desk for pricing

Prices are recommended end-user prices



PRO500RSIB-3

Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

i “I]I!l @) ~
= 1
;:r'/"

Prices are recommended end-user prices

Pricing subject to change
** Please contact service desk for pricing

46
Effective January 1st, 2023



O~NO O~ WN =

N )
O~ WN-=O

18
19

21
22
23

25
26
27
28
29
30
Sil
32
33
35
36
37
38

59

40
41
42

Prices are recommended end-user prices

PRO500RSIB-3

S83014

N520-0038
N585-0107
N570-0008
N200-0120-GY1SG
62007

N710-0062
N475-0368-GY1SG
N710-0093
N350-0069
N240-0036
N100-0045-SER
N190-0005-T
N475-0016
N570-0086
N010-0736
N010-0737
N720-0058
N530-0023-SER
N530-0026-SER

N475-0400-GY1SG-SER

N010-0880
N010-1160-SER
N010-1161-SER
N200-0133-GY1SG
N585-0131-GY1SG
N105-0001
N555-0097
Z080-0012

55110

N185-0005
N720-0055
N357-0022
N750-0034
N080-0371
N010-0881
N707-0013
N707-0014
N530-0032
N530-0033
N530-0034
N530-0035
N530-0036
N530-0037
N530-0038
N530-0039
N530-0042
N530-0043
N530-0044
N530-0046

$82001
N590-0251-GY1SG
N475-0341-GY1SG

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

cooking grids - wave stainless rod
warming rack

igniter heat shield

#8 x 1/2" screw

back cover

disposable grease tray
grease tray aluminium
rear cart enclosure panel
drip pan

rear burner housing (infra-red)
rear burner electrode

rear burner

control box

rotisserie mount

#14 x 1/2" screw

rear burner orifice

rear burner orifice

rear burner supply tube
regulator step down
regulator step down
left/right side panel assembly
door right

control panel

control panel

heat shield hole cover
heat shield

718 " snap bushing
lighting rod

bottle opener

tool hook bracket

bottle cap container

side burner supply tube
electronic ignition - 4 spark
wire connector igniter

unit mount bracket

door left

transformer GB
transformer CE

regulator -Germany
regulator -Holland
regulator -Spain/Finland/Norway/Denmark
regulator -Sweden
regulator -ltaly

regulator -United Kingdom
regulator -France
regulator -Hungary
regulator -Switzerland
regulator -russia

regulator -poland
regulator -Czech republic
caster

shelf

panel inner cabinet

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

229,00
84,00
14,50

2,00
37,00

£y dh dh o

12,50
84,00
105,00
31,50
6,50
14,50
125,00
10,50
1,00
12,50
19,00
26,50
73,50
73,50
125,00
179,00
649,00
649,00
17,00
105,00
1,00
5,50
7,50

oy dy dy ah A A dh A Ay A A A dh A A oA dh dh A Ay b

17,00
12,50
17,00
1,00
2,00
179,00
42,00
42,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
25,00
20,00
21,00
37,00

(OO OWONOWONONONONONONONOWONONONOWONOWONO OO

47

Effective January 1st, 2023



44
45
46

47
48

50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
78
74
75
76
7
78
79
80
81
82
83
84
85
86
87
88
89
90

91
92

Prices are recommended end-user prices

PRO500RSIB-3

N590-0315-GY1SG
N590-0314-GY1SG
N370-0981CE
N105-0012
N455-0062
N455-0063
N160-0023
N010-0811-SS
N010-0747-BK
N385-0308-SER
N715-0091
$91005
N715-0092
N010-1092-SER
S87011

S87001
N010-1090-SER
N570-0087
N080-0282-GY1HT
N570-0122
N135-0049-GY 1Ht
N750-0084
N510-0013
N402-0018
N010-1163-SER
N335-0098-M02
N485-0021
S83012
N555-0091
N570-0042
S$81005
N240-0026
N710-0063
N080-0358
W450-0020
N010-0998-SER
N570-0080
N325-0064
N120-0033-GYO0tX
N570-0076
N570-0038
N325-0063
N750-0040
N010-0933
N200-0110
N570-0012
W735-0011
N450-0006
N350-0072
N402-0017
W387-0006
N350-0073
N450-0009

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

bottom shelf

bottom shelf

tank support

1.5 " snap bushing

side burner orifice #60

side burner orifice 1.45 mm
side burner hose orifice retainer clip
lid assembly - stainless steel
lid assembly - black
NAPOLEON logo

trim left side lid casting
temperature gauge

trim right side lid casting

lid pivot hardware kit

cross light bracket kit
burner & sear plate kit
base casting

1/4-20 x 7/8" screw
bracket, unit mounting
1/4-20 x 3/8" screw

base casting

control box wire harness
black silicone lid bumper
cabinet light

infrared side burner shelf assembly
side burner lid

push pin

side burner grate

side burner pivot rod

10-24 x 3/8" screw

side burner

side burner electrode

side burner drip pan

side burner drip pan bracket
#10-24 nutsert

stainless steel side shelf, left
#14 x 1/2" screw

shelf handle side

side shelf end cap, left

#8 X 1/2" screw

1/4" - 20 x 1/2" screw

shelf handle front
electronic ignition lead
hood assembly

light wire cover

1/4"-20 X 5/8 carriage bolt
3/4" washer

1/4" - 20 nut

housing left light

light

replacement bulb

housing right light

10-24 nut

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

125,00
109,00
54,50
1,00
4,00
5,50
1,00
549,00
549,00
9,50
73,50
31,50
73,50
4,00
14,50
51,50
299,00
1,00
35,00
1,00
149,00
17,00
2,00
12,50
449,00
26,50
1,00
94,95
3,00
1,00
99,00
3,50
30,00
12,50

OO O OO OO OO OO OO ONONONONONONOWONONONONONOWONONONONONONON )

449,00
1,00
42,00
31,50
1,00
1,00
37,00
10,50
309,00
31,50
1,00
1,50
1,00
10,50
26,50
10,50
10,50
0,50

[ON OO NGO N ONONONONON OO OO RO N ON OO

48

Effective January 1st, 2023



98
94
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
95

96

97

98

99

100
101
102
103
104
105
107
108
109
110
111
112
113
114
115
116
117
118
119
120

Prices are recommended end-user prices

PRO500RSIB-3

N570-0112
N010-1137
N010-1092-SER
S87011

S87001
N010-1090-SER
N570-0087

N080-0282-GY1HT

N570-0122
N135-0049-GY 1Ht
N750-0084
N510-0013
N402-0018
N010-1163-SER
N335-0098-M02
N485-0021
S$83012
N555-0091
N570-0042
$81005
N010-0714
N010-0715
N660-0009
N570-0078
N385-0348
N585-0098
N010-1097
N380-0035-CL
N380-0034-CL
NO010-1098
NO010-1211
N080-0442
N475-0488
N010-1164-SER
N590-0189
N185-0003
N120-0034-GY0tX
N385-0185
N385-0144-SER
N450-0044
N010-0997-SER
N330-0023
N570-0070
N655-0187
N510-0014
N570-0068
N215-0016

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

10-24 x 5/8" screw
control panel wire harness
lid pivot hardware kit

cross light bracket kit
burner & sear plate kit
base casting

1/4-20 x 7/8" screw
bracket, unit mounting
1/4-20 x 3/8" screw

base casting

control box wire harness
black silicone lid bumper
cabinet light

infrared side burner shelf assembly
side burner lid

push pin

side burner grate

side burner pivot rod

10-24 x 3/8" screw

side burner

manifold assembly
manifold assembly

switch

M4 x 8mm screw

logo

switch heat shield

large control knob bezel
burner control knob large
burner control knob small
small control knob bezel
logo light assembly
mounting bracket assembly
control panel

side shelf assembly

cutting board

ice bucket

side shelf end cap, right
PRO logo

prestige logo

logo spring clips

stainless steel side shelf right
hinge

#8-32 X 3/8" screw
stiffener door hinge

caster plug - each

#14 x 1/2" screw stainless steel
wind deflector

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

1,00
89,00
4,00
14,50
51,50
299,00
1,00
35,00
1,00
149,00
17,00
2,00
12,50
449,00
26,50
1,00
94,95
3,00
1,00
99,00
125,00
125,00
29,50
1,00
3,00
3,00
25,00
12,50
12,50
23,00
44,00
19,00
105,00
279,00
26,50
31,50
31,50
8,50
6,50
1,00
309,00
10,50
1,00

Ay dh Ay b oA A dh A A A A A dh A A A A dh dh A A A A dh A A A A dh A A A A dh A A A oAb A odh A oy

1,00
1,00
26,50

an dh an

49
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

Notes

Pricing subject to change 50
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



o

Wolf Steel Europe BV b
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 ( NAPOLEON )

PROS500RSIB-2

Serial numbers CE-017918 and up

Pricing subject to change 51
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 ‘( NAPOLEON )

PROS500RSIB-2

Serial numbers CE-017918 and up

l@i@ %

Pricing subject to change 52
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PRO500RSIB-2
Serial numbers CE-017918 and up

Description

1 N135-0049-GY1HT base casting € 149,00
2 NO080-0282-GY1HT unit mounting bracket € 35,00
3 N105-0001 7/8 " snap bushing € 1,00
4 N570-0068 #14 x 1/2" screw stainless steel € 1,00
5 N570-0087 1/4-20 x 7/8" screw € 1,00
6  N100-0056 main burner € 31,50
7 S87011 cross light bracket € 14,50
8 NO010-0714 manifold assembly (LP) € 125,00
NO010-0715 manifold assembly (NG) € 125,00
9 N720-0044 manifold flex connector € 14,50
10 N530-0023-SER regulator step down 50mbar to 24.5mbar (LP) € 73,50
N530-0026-SER regulator step down 18.5mbar (nat) € 73,50
N570-0032 #8 x 3/8" screw € 1,00
11 N530-0032 regulator - Germany € 25,00
N530-0033 regulator - Holland € 25,00
N530-0034 regulator - Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator - Sweden € 25,00
N530-0036 regulator - Italy € 25,00
N530-0037 regulator - United Kingdom € 25,00
N530-0038 regulator - France € 25,00
N530-0039 regulator - Hungary € 25,00
N530-0042 regulator - Switzerland € 25,00
N530-0043 regulator - Russia € 25,00
N530-0044 regulator - Poland € 25,00
N530-0046 regulator - Czech Republic € 25,00
12 N720-0055 side burner supply tube € 12,50
13  N455-0062 side burner orifice #60 (LP) € 4,00
N455-0063 side burner orifice 1.45mm (NG) € 5,50
14 N160-0023 side burner hose orifice retainer clip € 1,00
15  N475-0401 control panel € 99,00
16 NO010-0939 large blue LED assembly € 26,50
17 NO10-0940 small blue LED assembly € 17,00
18 N555-0025 lighting rod € 3,00
19 N707-0013 transformer GB € 42,00
N707-0014 transformer CE € 42,00
20 NO010-0885 wire switch harness € 52,50
21 N750-0044 wire power harness € 37,00
22 N750-0045 wire light harness € 10,50
23 N750-0057 igniter wire assembly € 6,50
24  N660-0005 switch ignition € 31,50
25 N660-0006 switch lights € 31,50
26 N585-0098 switch heat shield € 3,00
27 N570-0078 M4 x 8mm screw € 1,00
28 N570-0008 #8 x 1/2" screw € 2,00
29 N720-0058 rear burner supply tube € 26,50
30 N255-0007 fitting € 3,00
31 N455-0055 rear burner orifice (LP) € 5,50
W456-0050 rear burner orifice (NG) € 10,50
32 N080-0286 bracket rear burner orifice € 1,00
33 N185-0005 bottle cap container € 17,00
34 N380-0035-CL burner control knob large € 12,50
35 55110 tool hook bracket >
36 N380-0034-CL burner control knob small € 12,50
** Please contact the service desk for pricing.
Pricing subject to change 53

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PRO500RSIB-2
Serial numbers CE-017918 and up

Description

37 N100-0045 rear burner € 26,50
38 N450-0006 1/4" - 20 nut € 1,00
39 N350-0069 rear burner housing (infrared) € 31,50
40 N240-0036 rear burner electrode € 6,50
41 N710-0093 drip pan € 105,00
42 N200-0120-GY1SG back cover € 37,00
43 NO010-0997-SER stainless steel side shelf right € 309,00
44  N357-0020 ignition € 26,50
45 N750-0040 electronic ignition lead € 10,50
46 N750-0034 jump connector igniter wire € 1,00
47 N585-0107 switch heat shield € 14,50
48 N590-0189 cutting board € 26,50
49 N185-0003 ice bucket € 31,50
50 N135-0036G left side lid casting € 63,00
51 N715-0091 trim left side lid casting € 73,50
52 N135-0037G right side lid casting € 63,00
53 N715-0092 trim right side lid casting € 73,50
54 N335-0078 stainless steel lid insert € 199,00

NO010-0747-SS stainless steel lid assembly € 549,00
55 N585-0110 lid heat shield € 68,50
56 N385-0308-SER NAPOLEON logo € 9,50
57 N450-0044 logo spring clips € 1,00
58 S91005 temperature gauge € 31,50
59 N510-0017 black silicone lid bumper 60a € 1,00
60 NO10-0813 lid handle € 37,00
61 NO080-0253G lid handle cover € 3,00
62 N570-0013 #8 x 5/8" screw € 1,00
63 N120-0034-GYOTX side shelf end cap, right € 31,50
64 N735-0002 1/4" lock washer € 1,00
65 N135-0015G left side hood casting € 42,00
66 N135-0016G right side hood casting € 42,00
67 N335-0076-BK2GL hood insert € 84,00
68 N385-0185 PRO logo € 8,50
69 N570-0012 1/4"-20 x 5/8 carriage bolt € 1,00
70 W735-0011 3/4" washer € 1,50
71 N385-0144-SER Prestige logo € 6,50
72 N350-0072 housing left light € 10,50
73 N350-0073 housing right light € 10,50
74  N402-0017 light € 26,50
75 N570-0022 8-32 x 3/8" screw € 1,00
76 N570-0020 8-32 x 3/8" screw € 2,00
77 N200-0110 light wire cover € 31,50
78 N570-0112 10-24 x 5/8" screw € 1,00
79 N450-0009 10-24 nut € 0,50
80 N570-0015 lid pivot screw € 2,00
81 N570-0024 1/4"-20 x 1/2" screw € 1,00
82 NO010-0998-SER assy side shelf, left € 449,00
83 N475-0016 rotisserie mount € 10,50
84 N570-0086 #14 x 1/2" screw € 1,00
85 N305-0085 cooking grids - wave stainless rod € 125,00
86 N305-0082 sear plate € 12,50
87 N520-0038 warming rack € 84,00
88 NO010-0873-GY1SG tank support € 63,00

** Please contact the service desk for pricing.
Pricing subject to change 54

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PRO500RSIB-2
Serial numbers CE-017918 and up

Description

89 N475-0368-GY1SG rear cart enclosure panel € 84,00
90 N590-0297-GY1SG-SER bottom shelf assembly propane € 95,00

N590-0296-GY1SG-SER bottom shelf assembly natural € 125,00
92 N450-0025 1/4" - 20 nut € 1,00
93 N585-0108-GY1SG-SER heat shield assembly € 99,00
94 N585-0108-GY1SG heat shield € 84,00
95 N570-0038 1/4"-20 x 1/2" screw € 1,00
96 N105-0012 1.5 " snap bushing € 1,00
97 NO010-0887 cabinet light assembly € 17,00
98 N570-0042 10-24 x 3/8" screw € 1,00
99 N735-0021 #8 washer € 1,00
100 N255-0014 fitting € 5,50
101 N475-0400-GY1SG-SER left/right side panel assembly € 125,00
103 N655-0187-GY1SG stiffener door hinge € 31,50
104 N330-0023 hinge € 10,50
105 N510-0014 caster plug - each € 1,00
106 NO080-0371 unit mount bracket € 2,00
107 N570-0076 #8 x 1/2" screw € 1,00
108 Z715-0001 trim lid bumper € 2,00
109 N570-0070 #8-32 x 3/8" screw € 1,00
110 N485-0021 lid pivot pin € 1,00
111  N555-0091 side burner pivot rod € 3,00
112 N335-0098-M02 side burner lid € 26,50
113 S83012 side burner grate € 94,95
114 N710-0063 side burner drip pan € 30,00
115 N240-0026 side burner electrode € 3,50
116 S81005 side burner € 99,00
117 Z735-0001 M9 x 5mm x 0.5mm washer € 1,00
118 NO080-0358 side burner drip pan bracket € 12,50
119 N475-0341-GY1SG panel inner cabinet € 37,00
120 N500-0039K side burner plate € 37,00
121  W450-0020 #10-24 nutsert **
122 N590-0251-GY1SG shelf cabinet € 21,00
123 N010-0881 left door assembly € 179,00
124 N010-0880 right door assembly € 179,00
125 Z080-0012 bottle opener € 7,50
126 N160-0041 hose retainer clip € 0,50
127 N130-0010 caster wheels € 10,50
128 N325-0064 shelf handle side € 42,00
129 N325-0063 shelf handle front € 37,00
130 N120-0033-GYOTX left side shelf end cap € 31,50
131 62007 grease container aluminum **
132 N710-0062 grease tray aluminum € 12,50
133 N570-0080 14 x 1/2" screw € 1,00
134 NO080-0384-GY1SG adjustable tank ring bracket € 6,50

N215-0016 wind deflector € 26,50

** Please contact the service desk for pricing.
Pricing subject to change 55

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV =
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands C_/J
Tel: +31 88-588 66 55 NAPOLEON

PRO500RSIB-2

Pricing subject to change 56
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PRO500RSIB-2

Description

1 N135-0049-GY1HT base casting € 140,00
2 NO080-0282-GY1HT unit mounting bracket € 35,00
3 N105-0001 7/8 " snap bushing € 1,00
4 N570-0068 #14 x 1/2" screw stainless steel € 1,00
5 N570-0087 1/4-20 x 7/8" screw € 1,00
6  N100-0056-50-SER main burner € 30,00
7 NO080-0406 cross light bracket € 3,00
8 NO010-0714 manifold assembly (LP) € 120,00
NO010-0715 manifold assembly (NG) € 120,00
9 N720-0044 manifold flex connector € 18,00
10 N530-0023-SER regulator step down (LP) € 70,00
N530-0026-SER regulator step down (NG) € 70,00
N570-0032 #8 x 3/8" screw € 1,00
11 N530-0032 regulator - Germany € 15,00
N530-0033 regulator - Holland € 50,00
N530-0034 regulator - Spain/Finland/Norway/Denmark € 80,00
N530-0035 regulator - Sweden € 50,00
N530-0036 regulator - Italy € 50,00
N530-0037 regulator - United Kingdom € 60,00
N530-0038 regulator - France € 60,00
N530-0039 regulator - Hungary € 42,00
N530-0042 regulator - Switzerland € 40,00
N530-0043 regulator - Russia € 40,00
N530-0044 regulator - Poland € 50,00
N530-0046 regulator - Czech Republic € 40,00
12 N720-0055 side burner supply tube € 12,00
13 N455-0062 side burner orifice #60 (LP) € 4,00
N455-0063 side burner orifice 1.45mm (NG) € 5,00
14 N160-0023 side burner hose orifice retainer clip € 1,00
15 N475-0401 control panel € 99,50
16 NO010-0939 large blue LED assembly € 25,00
17 NO10-0940 small blue LED assembly € 25,00
18 N555-0025 lighting rod € 3,00
19 N707-0013 transformer GB € 40,00
N707-0014 transformer CE € 40,00
20 NO010-0885 wire switch harness € 50,00
21 N750-0044 wire power harness € 35,00
22 N750-0045 wire light harness € 10,00
23 N010-0886 igniter wire € 12,50
24 N660-0005 switch ignition € 30,00
25 N660-0006 switch lights € 30,00
26 N585-0098 switch heat shield € 3,00
27 N570-0078 M4 x 8mm screw € 1,00
28 N570-0008 #8 x 1/2" screw € 1,00
29 N720-0058 rear burner supply tube € 25,00
30 N255-0007 fitting € 3,00
31 N455-0055 rear burner orifice (LP) € 5,00
W456-0050 rear burner orifice (NG) € 10,00
32 N080-0286 bracket rear burner orifice € 1,00
33 N185-0005 bottle cap container € 16,00
34 N380-0035-CL burner control knob large € 12,00
35 55110 tool hook bracket € 14,50
36 N380-0034-CL burner control knob small € 12,00
Pricing subject to change 57

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PRO500RSIB-2

Description

37 N100-0045 rear burner € 25,00
38 N450-0006 1/4" - 20 nut € 1,00
39 N350-0069 rear burner housing (infrared) € 30,00
40 N240-0036 rear burner electrode € 6,00
41 N710-0093 drip pan € 99,50
42 N200-0120-GY1SG back cover € 35,00
43 N370-0754 stainless steel side shelf right € 350,00
44  N357-0019 ignition € 25,00
45 N750-0040 electronic ignition lead € 10,00
46 N750-0034 jump connector igniter wire € 1,00
47 N585-0107 switch heat shield € 14,00
48 N590-0189 cutting board € 25,00
49 N185-0003 ice bucket € 30,00
50 N135-0036G left side lid casting € 60,00
51 N715-0091 trim left side lid casting € 70,00
52 N135-0037G right side lid casting € 60,00
53 N715-0092 trim right side lid casting € 70,00
54 N335-0078 stainless steel lid insert € 190,00

N010-0747-SS stainless steel lid assembly € 520,00
55 N585-0110 lid heat shield € 65,00
56 N385-0308-SER NAPOLEON logo € 9,00
57 N450-0044 logo spring clips € 1,00
58 N685-0004C temperature gauge € 30,00
59 N510-0013 black silicone lid bumper € 1,00
60 NO10-0813 lid handle € 35,00
61 NO080-0253G lid handle cover € 4,00
62 N570-0013 #8 x 5/8" screw € 1,00
63 N120-0034-GYOTX side shelf end cap, right € 30,00
64 N735-0002 1/4" lock washer € 1,00
65 N135-0015G left side hood casting € 40,00
66 N135-0016G right side hood casting € 40,00
67 N335-0076-BK2GL hood insert € 80,00
68 N385-0185 PRO logo € 8,00
69 N570-0012 1/4"-20 X 5/8 carriage bolt € 1,00
70 W735-0011 3/4" washer € 1,00
71 N385-0144 Prestige logo € 10,00
72 N350-0072 housing left light € 14,00
73 N350-0073 housing right light € 14,00
74  N402-0017 light € 25,00
75 N570-0022 8-32 x 3/8" screw € 1,00
76 N570-0020 8-32 x 3/8" screw € 1,00
77 N200-0110 light wire cover € 30,00
78 N570-0112 10-24 x 5/8" screw € 1,00
79 N450-0009 10-24 nut € 1,00
80 N570-0015 lid pivot screw € 2,00
81 N570-0024 1/4"-20 x 1/2" screw € 1,00
82 NO010-0876 stainless steel side shelf, left € 260,00
83 N475-0301-M06 rotisserie mount € 12,00
84 N570-0086 #14 x 1/2" screw € 1,00
85 N305-0085 cooking grids - wave stainless rod € 120,00
86 N305-0082 sear plate € 12,00
87 N520-0038 warming rack € 80,00
88 NO010-0873-GY1SG tank support € 60,00

Pricing subject to change 58

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

PRO500RSIB-2

Description

89 N475-0368-GY1SG rear cart enclosure panel € 80,00
90 N590-0265-GY1SG-SER bottom shelf assembly propane € 60,00
91 N590-0265-GY1SG bottom shelf propane € 60,00

N590-0253-GY1SG bottom shelf natural € 1,00
92 N450-0025 1/4" - 20 nut € 1,00
93 N585-0108-GY1SG-SER heat shield assembly € 99,50
94 N585-0108-GY1SG heat shield € 80,00
95 N570-0038 1/4"-20 x 1/2" screw € 1,00
96 N105-0012 1.5 " snap bushing € 1,00
97 NO010-0887 cabinet light assembly € 16,00
98 N570-0042 10-24 X 3/8" screw € 1,00
99 N735-0021 #8 washer € 1,00
100 N255-0014 fitting € 5,00
101 N475-0400-GY1SG-SER left/right side panel assem € 120,00
103 N655-0187-GY1SG stiffener door hinge € 30,00
104 N330-0023 hinge € 10,00
105 N510-0014 caster plug - each € 1,00
106 NO080-0371 unit mount bracket € 2,00
107 N570-0076 #8 x 1/2" screw € 1,00
108 Z715-0001 trim lid bumper € 2,00
109 N570-0070 #8-32 x 3/8" screw € 1,00
110 N485-0021 lid pivot pin € 1,00
111  N555-0059 side burner pivot rod € 3,00
112 N335-0075 side burner lid € 130,00
113 N305-0076 side burner grate € 95,00
114 N710-0063 side burner drip pan € 30,00
115 N240-0026 side burner electrode € 5,00
116 N010-0612 side burner € 99,50
117 Z735-0001 M9 x 5mm x 0.5mm washer € 1,00
118 NO080-0358 side burner drip pan bracket € 12,00
119 N475-0341-GY1SG panel inner cabinet € 35,00
120 N500-0039K side burner plate € 35,00
121 W450-0020 #10-24 nutsert € 1,00
122 N590-0251-GY1SG shelf € 20,00
123 NO010-0881 left door assembly € 170,00
124 NO010-0880 right door assembly € 170,00
125 Z080-0012 bottle opener € 7,00
126 N160-0023 hose retainer clip € 1,00
127 N130-0010 caster wheels € 10,00
128 N325-0064 shelf handle side € 40,00
129 N325-0063 shelf handle front € 35,00
130 N120-0033-GYOTX left side shelf end cap € 30,00
131 62007 grease container aluminum € 4,00
132 N710-0062 grease tray aluminum € 12,00
133 N570-0080 14 x 1/2" screw € 1,00
134 NO080-0384-GY1SG adjustable tank ring bracket € 6,00

N215-0016 wind deflector € 25,00

N020-0152 hardware baggie € 16,00

N510-0013 lid casting rear lid bumper € 1,00

Pricing subject to change 59

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV A
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands — =,
Tel: +31 88-588 66 55 (NAPOLEON )
LA, 20
Pricing subject to change 60

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

P665RSIB

Pricing subject to change 61
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

P665RSIB

Description

1 N475-0359-GY1SG left/right cart enclosure panel € 73,50
2 N475-0494-GY1SG rear cart enclosure panel € 179,00
3 N590-0311-GY1SG bottom shelf € 125,00
4 N585-0127-GY1SG heat shield € 149,00
5 N200-0133-GY1SG heat shield hole cover € 17,00
6  N350-0077 battery housing € 42,00
7  N357-0021 electronic ignition - 2 spark € 20,00
8 N570-0024 1/4"-20 x 1/2" screw € 1,00
9 N510-0020 caster plug - each € 1,00
10 S82001 caster € 20,00
11 N080-0385 door pivot left bracket € 4,00
12 NO080-0371 unit mount bracket € 2,00
13 NO080-0386 door pivot right bracket € 4,00
14 N430-0009 magnetic catch € 2,00
15 N370-0981CE tank support € 54,50
16 N105-0011 door bushings € 1,00
17 NO10-1107-SER cart door left € 129,00
NO10-1108-SER cart door left - black € 139,00
NO010-1109-SER cart door left - charcoal € 139,00
18 NO10-1110-SER cart door right € 129,00
NO010-1111-SER cart door right - black € 139,00
NO10-1112-SER cart door right - charcoal € 139,00
19 55110 tool hook >
20 N325-0108-SER door handle € 22,00
21  NO080-0254G propane tank inhibitor bracket € 14,50
22 N010-1122-SER base casting € 299,00
23 N080-0282-GY1HT unit mounting bracket € 35,00
24  N570-0068 #14 x 1/2" screw € 1,00
25 S87001 burner & sear plate kit € 51,50
26 S87011 cross light bracket kit € 14,50
27 N100-0045 rear burner € 26,50
28 N240-0001 rear burner electrode € 14,50
29 N570-0008 #8 x 1/2" screw € 2,00
30 N350-0069 rear burner housing € 31,50
31 N450-0006 1/4" - 20 nut € 1,00
32 N455-0062 rear burner orifice 1.45mm € 4,00
33 NO080-0286 bracket rear burner orifice € 1,00
34 N255-0058 fitting € 12,50
35 N720-0082 rear burner supply tube € 17,00
36 NO010-1125-SER control panel assembly € 549,00
37 N475-0487 control panel € 105,00
38 NO010-1102 manifold assembly € 149,00
39 NO010-1053 control knob bezel large € 21,00
40 NO10-1054 control knob bezel small € 21,00
41 N570-0078 screw M4 x 8mm € 1,00
42 N380-0039 burner control knob large € 10,50
43 N380-0040 burner control knob small € 10,50
44 N660-0008 switch € 21,00
45 NO010-1104 LED wire harness € 52,50
46 N720-0071 manifold flex connector € 26,50
47 N720-0055 side burner supply tube € 12,50
48 N750-0016 electronic ignition lead € 4,00
49 N200-0132-GY1SG back cover € 52,50
Pricing subject to change 62

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

P665RSIB

Description

50 N135-0015G left side hood casting € 42,00
51 N135-0016G right side hood casting € 42,00
52 N335-0120-BK2GL hood insert € 115,00
53 N570-0012 1/4"-20 x 5/8" carriage bolt € 1,00
54 N305-0084 cooking grids - wave stainless rod € 99,00
55 N305-0103 middle cooking grid € 84,00
56 N520-0047 warming rack € 149,00
57 N475-0016 rotisserie mount € 10,50
58 N570-0086 1/4"-20 x 7/8" screw € 1,00
59 NO010-1130-CH lid assembly - charcoal € 549,00
N010-1130-BK lid assembly - black € 549,00
NO10-1130-SS lid assembly - stainless steel € 549,00
60 NO010-1092-SER lid pivot hardware kit € 4,00
61 N385-0307-SER NAPOLEON logo € 4,00
62 S91003 temperature gauge € 26,50
63 N510-0013 black silicone lid bumper € 2,00
64 W735-0011 3/4" washer € 1,50
65 N160-0041 hose retainer clip € 0,50
66 N530-0032 regulator -Germany € 25,00
N530-0033 regulator -Holland € 25,00
N530-0034 regulator -Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator -Sweden € 25,00
N530-0036 regulator -Italy/Greece € 25,00
N530-0037 regulator -united Kingdom € 25,00
N530-0038 regulator -France € 25,00
N530-0039 regulator -Hungary € 25,00
N530-0042 regulator -Switzerland € 25,00
N530-0043 regulator -Russia € 25,00
N530-0044 regulator -Poland € 25,00
N530-0046 regulator -Czechia/Croatia/Slovenia € 25,00
67 N555-0097 lighting rod € 5,50
68 N710-0115 drip pan € 85,00
69 NO010-0991-SER stainless steel side burner shelf € 299,00
70 N120-0029-GYOTX shelf end cap € 21,00
71 N325-0091 side shelf handle € 21,00
72 N570-0038 1/4"-20 x 1/2" screw € 1,00
73 N335-0098-M02 side burner lid € 26,50
74 N555-0091 side burner lid pivot € 3,00
75 N485-0021 side burner pivot pin € 1,00
76 N500-0039K side burner plate € 37,00
77 S81005 side burner € 99,00
78 NO080-0358 side burner drip pan bracket € 12,50
79 N240-0026 side burner electrode € 3,50
80 S83010 side burner grate - cast iron € 62,95
S83012 side burner grate - stainless steel € 94,95
81 N710-0063 side burner drip pan € 30,00
82 N570-0042 10-24 x 3/8" screw € 1,00
83 Z735-0001 M9 x 5mm x 0.5mm washer € 1,00
84 N160-0023 side burner hose orifice retainer clip € 1,00
85 N455-0062 side burner orifice #60 € 4,00
86 62007 grease tray aluminium *
87 N710-0062 grease tray holder € 12,50
88 NO010-1106-SER stainless steel side shelf assembly € 229,00
Pricing subject to change 63

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

P665RSIB
Description

89 NO010-1106 stainless steel side shelf **
90 N385-0144-SER prestige logo € 6,50
91 N570-0099 #14 x 3/4" screw € 1,00
92 N570-0017 1/4"-20 x 1/2" screw € 2,00
93 NO010-0857 regulator step down € 73,50
94 NO010-1129 hood assembly € 499,00
95 N105-0001 bushing € 1,00
96 N255-0026 union fitting 1/2" - 3/8" € 11,50

N020-0178 hardware baggie € 10,50

N215-0015 wind deflector € 42,00

Pricing subject to change 64

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

Notes

Pricing subject to change 65
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

P500RSIB-3 2023

Pricing subject to change 66
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands /—\'—\
Tel: +31 88-588 66 55 ‘( NAPOLEON )

Pricing subject to change 67
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

P500RSIB-3 2023

Description

1 NO010-0971-SS lid assembly - stainless steel € 399,00
N010-0971-BK lid assembly - black € 399,00
N010-0971-CH lid assembly - charcoal € 399,00
NO10-1614-PHM lid assembly - semi gloss € 399,00

2 N385-0307-SER NAPOLEON logo € 4,00
N385-0307-BK-SER NAPOLEON logo black € 10,50

3 S91003 temperature gauge € 26,50
S91010 temperature gauge black € 26,50

4 N510-0013 black silicone lid bumper € 2,00

5 NO010-1092-SER lid pivot hardware kit € 4,00

6 S87011 cross light bracket kit € 14,50

7  S87001 burner & sear plate kit € 51,50

8 NO010-0764 hood assembly - grey sides € 209,00
N010-1403-SER hood assembly - black sides € 209,00

9 Z570-0030 carriage bolt 1/4-20 x 5/8” € 1,00

10 N570-0024 1/4" - 20 nut € 1,00

11 W735-0011 3/4" washer € 1,50

12 N520-0034 warming rack € 37,00
71500 multifunctional warming rack € 119,00

13 S83011 cooking grids - wave stainless rod € 179,00
S83020 cooking grids - cast stainless steel € 679,00

14 N350-0069 rear burner housing € 31,50

15 N100-0045 rear burner € 26,50
16 NO080-0286 bracket rear burner orifice € 1,00
17 NO080-0282-GY1HT unit mounting bracket - grey € 35,00
NO080-0282-BK1HX unit mounting bracket - semi gloss black € 35,00
19 N200-0119-GY1SG back cover - grey € 26,50
N200-0119-BK1HX back cover - semi gloss black € 23,00
20 NO010-1090-SER base casting - grey € 299,00
NO010-1400-SER base casting - black € 299,00
21 N570-0008 #8 x 1/2" screw € 2,00
22 N570-0017 1/4"-20 x 1/2" screw € 2,00
23 N455-0062 rear burner orifice 1.45mm € 4,00
N455-0063 rear burner orifice #60 € 5,50
24 N255-0007 fitting € 3,00
25 N710-0093 drip pan € 105,00
26 N710-0062 grease tray holder € 12,50
27 62007 grease tray aluminium >
28 N570-0122 1/4-20 x 3/8" screw € 1,00
29 N105-0012 1.5" bushing € 1,00
30 N570-0086 #14 x 1/2" screw € 1,00
31 N720-0058 rear burner supply tube € 26,50
32 N475-0360-GY1SG rear cart enclosure panel - grey € 99,00
N475-0360-BK1TX rear cart enclosure panel - semi gloss black € 99,00
33 N585-0125-GY1SG heat shield - grey € 139,00
N585-0125-BK1TX heat shield - semi gloss black € 139,00
34 N430-0009 magnetic catch € 2,00
35 N357-0021 electronic ignition - 2 spark € 20,00
36 NO010-1083-SER stainless steel side shelf assembly € 129,00
N010-1627-BK-SER semi gloss black side shelf assembly € 129,00
37 N590-0291 grey side shelf assembly € 99,00
N590-0291-BK1TX black side shelf assembly € 31,50
38 N385-0144-SER prestige logo € 6,50
N385-0144-BK-SER prestige logo - black € 8,50
39 N200-0133-GY1SG heat shield hole cover - grey € 17,00
N200-0133-BK1TX heat shield hole cover - semi gloss black € 10,00
40 NO080-0371 unit mount bracket € 2,00
41 N570-0024 1/4"-20 x 1/2" screw € 1,00
42 N080-0386 door pivot right bracket € 4,00
Pricing subject to change 68

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

P500RSIB-3 2023

Description

44  N530-0032 regulator -Germany € 25,00
N530-0033 regulator -Holland € 25,00
N530-0034 regulator -Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator -Sweden € 25,00
N530-0036 regulator -ltaly/Greece € 25,00
N530-0037 regulator -United Kingdom € 25,00
N530-0038 regulator -France € 25,00
N530-0039 regulator -Hungary € 25,00
N530-0042 regulator -Switzerland € 25,00
N530-0043 regulator -Russia € 25,00
N530-0044 regulator -Poland € 25,00
N530-0046 regulator -Czechia/Croatia/Slovenia € 25,00

45 N350-0077 battery housing € 42,00

46 N130-0015 caster € 7,50

47 N510-0020 caster plug - each € 1,00

48 N590-0306-GY1SG bottom shelf - LPG - grey € 109,00
N590-0306-BK1TX bottom shelf - LPG - semi gloss black € 109,00
N590-0258-GY1SG bottom shelf - NAT - grey € 109,00
N590-0258-BK1FL bottom shelf - NAT - black € 109,00

49 N370-0981CE tank support € 54,50

50 NO080-0254G propane tank inhibitor bracket - grey € 14,50
NO080-0254-BK1TX propane tank inhibitor bracket - black € 11,00

51 NO080-0385 door pivot left bracket € 4,00

52 N475-0359-GY1SG left/right cart enclosure panel - grey € 73,50
N475-0359-BK1TX left/right cart enclosure panel - semi gloss black € 74,00

53 N555-0097 lighting rod € 5,50

54 N010-1357 flex hose with 90 degee elbow fitting € 8,50

55 N105-0023 bushing € 1,00

56 N455-0067 side burner orifice #58 € 4,00
N455-0068 side burner orifice 1/16" € 4,00

57 N160-0023 side burner hose orifice retainer clip € 1,00

58 N750-0016 electronic ignition lead € 4,00

59 N240-0001 rear burner electrode € 14,50

60 NO010-1088-SER control panel assembly - LPG - stainless steel € 399,00
NO010-1089-SER control panel assembly - NAT - stainless steel € 399,00
NO010-1621-SER control panel assembly - LPG - semi gloss black € 399,00
N010-1622-SER control panel assembly - NAT - semi gloss black >

61 N570-0078 screw M4 x 8mm € 1,00

62 NO010-0714 manifold assembly - LPG € 125,00
NO010-0715 manifold assembly - NAT € 125,00

63 NO010-1052 LED wire harness € 52,50

64 N475-0460 control panel - stainless steel € 125,00
N475-0545-BK1HX control panel - semi gloss black € 89,00

65 N160-0041 hose retainer clip € 0,50

66 NO010-1053 control knob bezel large € 21,00
NO010-1053-BK control knob bezel large black € 21,00

67 NO010-1054 control knob bezel small € 21,00
NO10-1054-BK control knob bezel small black € 21,00

68 N380-0039 burner control knob large € 10,50
N380-0039-BK burner control knob large black € 10,50

69 N380-0040 burner control knob small € 10,50
N380-0040-BK burner control knob small black € 10,50

70 N660-0008 switch € 21,00
N660-0011 switch black € 12,50

71 NO010-0991-SER stainless steel side burner shelf € 299,00
NO010-0991-BK-SER black side burner shelf € 299,00

72 N240-0026 side burer electrode € 3,50

73 N570-0076 #8 x 1/2" screw € 1,00

74 N555-0091 side burner lid pivot € 3,00

Pricing subject to change 69

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

P500RSIB-3 2023

75 N485-0021 side burner pivot pin € 1,00
76  N335-0098-M02 side burner lid stainless steel € 26,50
N335-0098-BK1TX side burner lid black € 11,50
77 S83010 side burner grate - cast iron € 62,95
NO010-1553 side burner grate - cast stainless steel € 199,00
S83012 side burner grate - stainless steel € 94,95
78 S81005 side burner € 99,00
79 N500-0039K side burner plate € 37,00
80 NO080-0358 side burner drip pan bracket € 12,50
81 N710-0063 side burner drip pan € 30,00
82 N570-0013 #8 x 5/8" screw € 1,00
83 N570-0038 1/4"-20 x 1/2" screw € 1,00
84 N325-0091 side shelf handle grey € 21,00
N325-0091-BK4FL side shelf handle black € 21,00
85 N120-0029-GYOTX shelf end cap grey € 21,00
N120-0029-BKOTX shelf end cap black € 21,00
86 N475-0016 rotisserie mount € 10,50
91 N105-0011 door bushings € 1,00
93 887015 shelf pivot hardware kit € 14,50
94  N010-0996-SER cart door - stainless steel € 159,00
N010-0768-SER cart door - black € 159,00
NO010-1091-SER cart door - charcoal € 159,00
N010-1623-SER cart door - semi gloss black **
95 N485-0028 pivot pin door top € 1,00
96 N160-0022 clip door pivot pin grey € 2,00
N160-0022-BKOTX clip door pivot pin black € 2,00
97 N340-0007 tool hook € 4,00
98 N570-0082 1/4"-20 x 5/8" screw € 1,00
99 N325-0103-SER door handle - chrome € 25,00
N325-0103-BK-SER door handle - black € 25,00
100 NO080-0360 folding shelf bracket "B" € 3,00
101 NO080-0359 folding shelf bracket "A" € 3,00
102 N720-0044 manifold flex connector € 14,50
103 N255-0027 union fitting 3/8" - 3/8" € 5,50
104 N530-0023-SER regulator step down € 73,50
N530-0026-SER regulator step down € 73,50
105 N305-0084 cooking grid - wave stainless rod € 99,00
108 N570-0087 1/4"-20 x 7/8" screw € 1,00
Pricing subject to change 70

Prices are recommended end-user prices

Description

** Please contact service desk for pricing

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

Notes

Pricing subject to change 71
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

\W\\\\\\‘ﬁﬁ&iff/ﬁ//f i
O, O

'
@, ]
a7 —h @ @

Pricing subject to change 72
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

P500RSIB-3 PHANTOM

Description

1 N475-0359-BK1FL left/right cart enclosure panel black € 69,50
2  N475-0360-BK1FL rear cart enclosure panel black € 70,50
3 N590-0306-BK1FL bottom shelf black € 109,00

N590-0258-BK1FL bottom shelf black € 109,00
5 N585-0125-BK1FL heat shield black € 76,00
6 N200-0133-BK1FL cover, heat shield hole black € 5,50
7  N350-0077 battery housing € 42,00
8 N357-0021 electronic ignition - 2 spark € 20,00
9 N570-0024 1/4"-20 x 1/2" screw € 1,00
10 N510-0020 caster plug - each € 1,00
11 N130-0015 caster € 7,50
12 N080-0385 door pivot left bracket € 4,00
13 NO080-0371 unit mount bracket € 2,00
14 N080-0386 door pivot right bracket € 4,00
15 N430-0009 magnetic catch € 2,00
16 N370-0981CE tank support € 54,50
17 N105-0011 door bushings € 1,00
18 N370-0893CE-MK-1 kit with 2 cart doors - matte black € 259,00
20 N340-0007 tool hook € 4,00
21 N325-0103-BK-SER door handle black € 25,00
22 N485-0028 pivot pin door top € 1,00
23 N570-0082 1/4"-20 x 5/8" screw € 1,00
24  N160-0022-BKOTX clip door pivot pin black € 2,00
25 NO080-0254-BK1FL propane tank inhibitor bracket black € 10,50
26 N105-0012 1.5" bushing € 1,00
27 N010-1400-SER base casting black € 299,00
28 N080-0282-BK1HL unit mounting bracket black € 35,00
29 N570-0068 #14 x 1/2" screw € 1,00
30 S87001 burner & sear plate kit € 51,50
31 S87011 cross light bracket kit € 14,50
32 N100-0045 rear burner € 26,50
33 N240-0001 rear burner electrode € 14,50
34 N570-0008 #8 x 1/2" screw € 2,00
35 N350-0069 rear burner housing € 31,50
36 N450-0006 1/4" - 20 nut € 1,00
37 N455-0062 rear burner orifice 1.45mm € 4,00

N455-0063 rear burner orifice #60 € 5,50
38 NO080-0286 bracket rear burner orifice € 1,00
39 N255-0007 fitting € 3,00
40 N720-0058 rear burner supply tube € 26,50
41 NO10-1401-SER control panel black € 399,00
41 NO10-1402-SER control panel black € 399,00
42 N475-0545-BK1HL control panel black € 89,00
43 NO10-0714 manifold assembly € 125,00
43 NO010-0715 manifold assembly € 125,00
44 NO010-1053-BK control knob bezel large black € 21,00
45 NO010-1054-BK control knob bezel small black € 21,00
46 N570-0078 screw M4 x 8mm € 1,00
47 N380-0039-BK burner control knob large black € 10,50
48 N380-0040-BK burner control knob small black € 10,50
49 N660-0011 switch black € 12,50
50 NO10-1052 LED wire harness € 52,50
51 N105-0023 bushing € 1,00

Pricing subject to change 73

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

P500RSIB-3 PHANTOM

Description

52 N720-0044 manifold flex connector € 14,50
53 N255-0027 union fitting 3/8" - 3/8" € 5,50
54 N010-1357 flex hose with 90 degee elbow fitting € 8,50
55 N750-0016 electronic ignition lead € 4,00
56 N200-0119-BK1HL back cover black € 23,00
57 N135-0059-BK1HT left side hood casting black € 31,50
58 N135-0060-BK1HT right side hood casting black € 31,50
59 N335-0066-BK2GL hood insert € 115,00
60 N570-0012 1/4"-20 x 5/8" carriage bolt € 1,00
61 N305-0134 cast stainless steel 7inch cooking grid € 169,00
62 N520-0034 warming rack € 37,00
63 N475-0016 rotisserie mount € 10,50
64 N570-0087 1/4"-20 x 7/8" screw € 1,00
65 NO010-0971-MK lid assembly - matte black € 399,00
66 NO010-1092-SER lid pivot hardware kit € 4,00
67 N385-0307-BK-SER NAPOLEON logo black € 10,50
68 S91010 temperature gauge black € 26,50
69 N510-0013 black silicone lid bumper € 2,00
70 N450-0006 1/4" - 20 nut € 1,00
71 W735-0011 3/4" washer € 1,50
72 N160-0041 hose retainer clip € 0,50
73 N530-0032 regulator -Germany € 25,00

N530-0033 regulator -Holland € 25,00

N530-0034 regulator -Spain/Finland/Norway/Denmark € 25,00

N530-0035 regulator -Sweden € 25,00

N530-0036 regulator -ltaly/Greece € 25,00

N530-0037 regulator -United Kingdom € 25,00

N530-0038 regulator -France € 25,00

N530-0039 regulator -Hungary € 25,00

N530-0042 regulator -Switzerland € 25,00

N530-0043 regulator -Russia € 25,00

N530-0044 regulator -Poland € 25,00

N530-0046 regulator -Czechia/Croatia/Slovenia € 25,00
74 N555-0097 lighting rod € 5,50
75 N710-0093 drip pan € 105,00
76 N010-0991-BK-SER black side burner shelf € 299,00
78 N120-0029-BKOTX shelf end cap black € 21,00
79 N570-0086 #14 x 1/2" screw € 1,00
80 N325-0091-BK4FL side shelf handle black € 21,00
81 N570-0038 1/4"-20 x 1/2" screw € 1,00
82 N335-0098-BK1TX side burner lid black € 11,50
83 N555-0091 side burner lid pivot € 3,00
84 N485-0021 side burner pivot pin € 1,00
85 N500-0039K side burner plate € 37,00
86 S81005 side burner € 99,00
87 NO080-0358 side burner drip pan bracket € 12,50
88 N240-0026 side burner electrode € 3,50
89 S83010 side burner grate € 62,95

S83012 side burner grate - stainless steel € 94,95
90 N710-0063 side burner drip pan € 30,00
91 N570-0042 10-24 x 3/8" screw € 1,00
92 Z735-0001 M9 x 5mm x 0.5mm washer € 1,00
93 N160-0023 side burner hose orifice retainer clip € 1,00

Pricing subject to change 74

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

P500RSIB-3 PHANTOM

Description

94  N455-0067 side burner orifice #58 € 4,00
94  N455-0068 side burner orifice 1/16" € 4,00
95 62007 grease tray aluminium >
96 N710-0062 grease tray holder € 12,50
97 NO080-0359 folding shelf bracket "A" € 3,00
98 NO080-0360 folding shelf bracket "B" € 3,00
99 NO010-1083-BK-SER black side shelf assembly € 149,00
100 N590-0291-BK1TX black side shelf assembly € 31,50
101 N370-1045-SER shelf pivot hardware kit black € 8,50
102 N385-0144-BK-SER black prestige logo € 8,50
103 N570-0099 #14 x 3/4" screw € 1,00
104 N570-0017 1/4"-20 x 1/2" screw € 2,00
105 N530-0023-SER regulator step down € 73,50

N530-0026-SER regulator step down € 73,50
106 N585-0098 switch heat shield / interrupteur pare-chaleur € 3,00
107 NO10-1403-SER hood assembly black castings € 209,00

Pricing subject to change 75

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

P500RSIB-3 (2020)

®
®
NE

@

Pricing subject to change 76
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

P500RSIB-3 (2020)
Description
1 N475-0359-GY1SG left/right cart enclosure panel € 73,50
2  N475-0360-GY1SG rear cart enclosure panel € 99,00
3 N590-0306-GY1SG bottom shelf € 109,00
N590-0258-GY1SG bottom shelf € 109,00
5 N585-0125-GY1SG heat shield € 139,00
6 N200-0133-GY1SG heat shield hole cover € 17,00
7  N350-0077 battery housing € 42,00
8 N357-0021 electronic ignition - 2 spark € 20,00
9 N570-0024 1/4"-20 x 1/2" screw € 1,00
10 N510-0016 caster plug - each >
11 S82001 caster € 20,00
12 N080-0385 door pivot left bracket € 4,00
13 NO080-0371 unit mount bracket € 2,00
14 NO080-0386 door pivot right bracket € 4,00
15 N430-0009 magnetic catch € 2,00
16 N370-0845CE tank support € 26,50
17 N105-0011 door bushings € 1,00
18 NO010-0996-SER cart door € 159,00
N010-0768-SER cart door - black € 159,00
NO010-1091-SER cart door - charcoal € 159,00
20 N340-0007 tool hook € 4,00
21  N325-0103-SER door handle € 25,00
22 N485-0028 pivot pin door top € 1,00
23 N570-0082 1/4"-20 x 5/8" screw € 1,00
24  N160-0022 clip door pivot pin € 2,00
25 NO080-0254G propane tank inhibitor bracket € 14,50
26 N105-0012 1.5" bushing € 1,00
27 N010-1090-SER base casting € 299,00
28 N080-0282-GY1HT unit mounting bracket € 35,00
29 N570-0068 #14 x 1/2" screw € 1,00
30 S87001 burner & sear plate kit € 51,50
31 S87011 cross light bracket kit € 14,50
32 N100-0045 rear burner € 26,50
33 N240-0001 rear burner electrode € 14,50
34 N570-0008 #8 x 1/2" screw € 2,00
35 N350-0069 rear burner housing € 31,50
36 N450-0006 1/4" - 20 nut € 1,00
37 N455-0062 rear burner orifice 1.45mm € 4,00
N455-0063 rear burner orifice #60 € 5,50
38 NO080-0286 bracket rear burner orifice € 1,00
39 N255-0007 fitting € 3,00
40 N720-0058 rear burner supply tube € 26,50
41 NO10-1088-SER control panel assembly € 399,00
NO10-1089-SER control panel assembly € 399,00
N160-0042 clip, control panel wires € 2,00
42 N475-0460 control panel € 125,00
43 NO010-0714 manifold assembly € 125,00
N010-0715 manifold assembly € 125,00
44 NO010-1053 control knob bezel large € 21,00
45 NO010-1054 control knob bezel small € 21,00
46 N570-0078 screw M4 x 8mm € 1,00
47 N380-0039 burner control knob large € 10,50
48 N380-0040 burner control knob small € 10,50
Pricing subject to change 77

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

P500RSIB-3 (2020)

Description

49 N660-0008 switch € 21,00
50 NO10-1052 LED wire harness € 52,50
51 N105-0001 bushing € 1,00
52 N720-0044 manifold flex connector € 14,50
53 N255-0027 union fitting 3/8" - 3/8" € 5,50
54 N720-0055 side burner supply tube € 12,50
55 N750-0016 electronic ignition lead € 4,00
56 N200-0119-GY1SG back cover € 26,50
57 N135-0059-GY1HT left side hood casting € 32,50
58 N135-0060-GY1HT right side hood casting € 32,50
59 N335-0066-BK2GL hood insert € 115,00
60 N570-0012 1/4"-20 x 5/8" carriage bolt € 1,00
61 S83011 cooking grids - wave stainless rod € 179,00

S83006 cast cooking grid kit € 139,00
62 N520-0034 warming rack € 37,00
63 N475-0016 rotisserie mount € 10,50
64 N570-0087 1/4"-20 x 7/8" screw € 1,00
65 NO010-0971-SS lid assembly - stainless steel € 399,00

N010-0971-BK lid assembly - black € 399,00

NO010-0971-CH lid assembly - charcoal € 399,00
66 NO010-1092-SER lid pivot hardware kit € 4,00
67 N385-0307-SER NAPOLEON logo € 4,00
68 S91003 temperature gauge € 26,50
69 N510-0013 black silicone lid bumper € 2,00
70 N450-0006 1/4" - 20 nut € 1,00
71 W735-0011 3/4" washer € 1,50
72 N160-0041 hose retainer clip € 0,50
73 N530-0032 regulator -Germany € 25,00

N530-0033 regulator -Holland € 25,00

N530-0034 regulator -Spain/Finland/Norway/Denmark € 25,00

N530-0035 regulator -Sweden € 25,00

N530-0036 regulator -Italy/Greece € 25,00

N530-0037 regulator -United Kingdom € 25,00

N530-0038 regulator -France € 25,00

N530-0039 regulator -Hungary € 25,00

N530-0042 regulator -Switzerland € 25,00

N530-0043 regulator -Russia € 25,00

N530-0044 regulator -Poland € 25,00

N530-0046 regulator -Czechia/Croatia/Slovenia € 25,00
74  N555-0025 lighting rod € 3,00
75 N710-0093 drip pan € 105,00
76 N010-0991-SER stainless steel side burner shelf € 299,00
78 N120-0029-GYOTX shelf end cap € 21,00
79 N570-0086 #14 x 1/2" screw € 1,00
80 N325-0091 side shelf handle € 21,00
81 N570-0038 1/4"-20 x 1/2" screw € 1,00
82 N335-0098-M02 side burner lid € 26,50
83 N555-0091 side burner lid pivot € 3,00
84 N485-0021 side burner pivot pin € 1,00
85 N500-0039K side burner plate € 37,00
86 S81005 side burner € 99,00
87 NO080-0358 side burner drip pan bracket € 12,50
88 N240-0026 side burner electrode € 3,50

Pricing subject to change 78

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

P500RSIB-3 (2020)
Description

89 S83010 side burner grate € 62,95

S83012 side burner grate - stainless steel € 94,95
90 N710-0063 side burner drip pan € 30,00
91 N570-0042 10-24 x 3/8" screw € 1,00
92 Z735-0001 M9 x 5mm x 0.5mm washer € 1,00
93 N160-0023 side burner hose orifice retainer clip € 1,00
94  N455-0067 side burner orifice #58 € 4,00

N455-0068 side burner orifice 1/16" € 4,00
95 62007 grease tray aluminium >
96 N710-0062 grease tray holder € 12,50
97 NO080-0359 folding shelf bracket "A" € 3,00
98 NO080-0360 folding shelf bracket "B" € 3,00
99 NO010-1083-SER stainless steel side shelf assembly € 129,00
100 N590-0291 stainless steel side shelf € 99,00
101 S87015 shelf pivot hardware kit € 14,50
102 N385-0144-SER prestige logo € 6,50
103 N570-0099 #14 x 3/4" screw € 1,00
104 N570-0017 1/4"-20 x 1/2" screw € 2,00
105 N530-0023-SER regulator step down € 73,50

N530-0026-SER regulator step down € 73,50
106 N585-0098 switch heat shield / interrupteur pare-chaleur € 3,00
107 NO010-0764 hood assembly / ensemble de couvercle € 209,00

Pricing subject to change 79

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

P500RSIB-3 (2019)

@ e
60

Do

i -
./"’ /]
» 5 o~ "‘-_4‘03 _@)
(70— 5
. ———87 =4
- \]HESE
{7
R
Vo
@a-v 279,
3 ‘, .
et 0
21} . )
p—
E s

Pricing subject to change 80
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

P500RSIB-3 (2019)
Description

1 N475-0359-GY1SG left/right cart enclosure panel € 73,50
2  N475-0360-GY1SG rear cart enclosure panel € 99,00
3 N590-0306-GY1SG bottom shelf (LP) € 109,00

N590-0258-GY1SG bottom shelf (NG) € 109,00
5 N585-0106-GY1SG heat shield € 95,00
7  N350-0077 battery housing € 42,00
8 N357-0021 electronic ignition - 2 spark € 20,00
9 N570-0024 1/4"-20 x 1/2" screw € 1,00
10 N510-0016 caster plug - each *
11 S82001 caster € 20,00
12 N080-0385 door pivot left bracket € 4,00
13 NO080-0371 unit mount bracket € 2,00
14 NO080-0386 door pivot right bracket € 4,00
15 N430-0009 magnetic catch € 2,00
16 N655-0191 tank support € 12,50
17  N105-0011 door bushings € 1,00
18 NO010-0996-SER cart door € 159,00

N010-0768-SER cart door - black € 159,00

N010-1091-SER cart door - charcoal € 159,00
20 N340-0007 tool hook € 4,00
21 N325-0087-SER door handle € 19,00
22 N485-0028 pivot pin door top € 1,00
23 N570-0082 1/4"-20 x 5/8" screw € 1,00
24 N160-0022 clip door pivot pin € 2,00
25 NO080-0254G propane tank inhibitor bracket (LP) € 14,50
26 N105-0012 1.5" bushing (NG) € 1,00
27 N010-1090-SER base casting € 299,00
28 NO080-0282-GY1HT unit mounting bracket € 35,00
29 N570-0068 #14 x 1/2" screw € 1,00
30 S87001 burner & sear plate kit € 51,50
31 S87011 cross light bracket kit € 14,50
32 N100-0045 rear burner € 26,50
33  N240-0001 rear burner electrode € 14,50
34 N570-0008 #8 x 1/2" screw € 2,00
35 N350-0069 rear burner housing € 31,50
36 N450-0006 1/4" - 20 nut € 1,00
37 N455-0062 rear burner orifice 1.45mm (LP) € 4,00

N455-0063 rear burner orifice #60 (NG) € 5,50
38 NO080-0286 bracket rear burner orifice € 1,00
39 N255-0007 fitting € 3,00
40 N720-0058 rear burner supply tube € 26,50
41 NO10-1088-SER control panel (LP) € 399,00

NO010-1089-SER control panel (NG) € 399,00
42 N475-0460 control panel € 125,00
43 NO010-0714 manifold assembly (LP) € 125,00

N010-0715 manifold assembly (NG) € 125,00
44 NO010-1053 control knob bezel large € 21,00
45 NO10-1054 control knob bezel small € 21,00
46 N570-0078 screw M4 x 8mm € 1,00
47 N380-0039 burner control knob large € 10,50
48 N380-0040 burner control knob small € 10,50
49 N660-0008 switch € 21,00
50 NO010-1052 LED wire harness € 52,50
51 N105-0001 bushing € 1,00
52 N720-0044 manifold flex connector € 14,50

** Please contact the service desk for pricing.
Pricing subject to change 81

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

P500RSIB-3 (2019)

Description

53 N255-0027 union fitting 3/8" - 3/8" € 5,50
54 N720-0055 side burner supply tube € 12,50
55 N750-0016 electronic ignition lead € 4,00
56 N200-0119-GY1SG back cover € 26,50
57 N135-0015G left side hood casting € 42,00
58 N135-0016G right side hood casting € 42,00
59 N335-0066-BK2GL hood insert € 115,00
60 N570-0012 1/4"-20 x 5/8" carriage bolt € 1,00
61 S83011 cooking grids - wave stainless rod € 179,00
S83006 cast cooking grid kit (accessory) € 139,00
62 N520-0034 warming rack € 37,00
63 N475-0016 rotisserie mount € 10,50
64 N570-0087 1/4"-20 x 7/8" screw € 1,00
65 NO010-0971-SS lid assembly - stainless steel € 399,00
N010-0971-BK lid assembly - black € 399,00
NO010-0971-CH lid assembly - charcoal € 399,00
66 NO010-1092-SER lid pivot hardware kit € 4,00
67 N385-0307-SER NAPOLEON logo € 4,00
68 S91003 temperature gauge € 26,50
69 N510-0013 black silicone lid bumper € 2,00
70 N450-0006 1/4" - 20 nut € 1,00
71 W735-0011 3/4" washer € 1,50
72  N160-0041 hose retainer clip € 0,50
73 N530-0032 regulator - Germany (LP) € 25,00
N530-0033 regulator - Holland (LP) € 25,00
N530-0034 regulator - Spain/Finland/Norway/Denmark (LP) € 25,00
N530-0035 regulator - Sweden (LP) € 25,00
N530-0036 regulator - Italy/greece (LP) € 25,00
N530-0037 regulator - United Kingdom (LP) € 25,00
N530-0038 regulator - France (LP) € 25,00
N530-0039 regulator - Hungary (LP) € 25,00
N530-0042 regulator - Switzerland (LP) € 25,00
N530-0043 regulator - Russia (LP) € 25,00
N530-0044 regulator - Poland (LP) € 25,00
N530-0046 regulator - Czech Republic (LP) € 25,00
74  N555-0025 lighting rod € 3,00
75 N710-0093 drip pan € 105,00
76 NO010-0991-SER stainless steel side burner shelf € 299,00
78 N120-0029-GYOTX shelf end cap € 21,00
79 N570-0086 #14 x 1/2" screw € 1,00
80 N325-0091 side shelf handle € 21,00
81 N570-0038 1/4"-20 x 1/2" screw € 1,00
82 N335-0098-M02 side burner lid € 26,50
83 N555-0091 side burner lid pivot € 3,00
84 N485-0021 side burner pivot pin € 1,00
85 N500-0039K side burner plate € 37,00
86 S81005 side burner € 99,00
87 NO080-0358 side burner drip pan bracket € 12,50
88 N240-0026 side burner electrode € 3,50
89 S83010 side burner grate € 62,95
S83012 side burner grate - stainless steel (accesosry) € 94,95
** Please contact the service desk for pricing.
Pricing subject to change 82

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

P500RSIB-3 (2019)
Description

90 N710-0063 side burner drip pan € 30,00
91 N570-0042 10-24 x 3/8" screw € 1,00
92 Z735-0001 M9 x 5mm x 0.5mm washer € 1,00
93 N160-0023 side burner hose orifice retainer clip € 1,00
94  N455-0067 side burner orifice #58 (LP) € 4,00

N455-0068 side burner orifice 1/16" (NG) € 4,00
95 62007 grease tray aluminium >
96 N710-0062 grease tray holder € 12,50
97 NO080-0359 folding shelf bracket "A" € 3,00
98 NO080-0360 folding shelf bracket "B" € 3,00
99 NO010-1083-SER stainless steel side shelf assembly € 129,00
100 N590-0291 stainless steel side shelf € 99,00
101 S87015 shelf pivot hardware kit € 14,50
102 N385-0144-SER Prestige logo € 6,50
103 N570-0099 #14 x 3/4" screw € 1,00
104 N570-0017 1/4"-20 x 1/2" screw € 2,00
105 N530-0023-SER regulator step down (LP) € 73,50

N530-0026-SER regulator step down (NG) € 73,50
106 N585-0098 switch heat shield € 3,00
107 NO010-0764 hood assembly € 209,00

Pricing subject to change 83

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

P500RSIB-1

Pricing subject to change 84
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



15
16
17
18
19

21
22
23
24
25
26
27
28
29
30
31
32
33
34
35

36
37
38
S9
40

41
42
43
44
45
46
47
48
49
50

Prices are recommended end-user prices

P500RSIB-1

N475-0359-GY1SG
N475-0360-GY1SG
N590-0260-GY1SG
N590-0258-GY1SG
N585-0106-GY1SG
N570-0024
N510-0016
N130-0010
N080-0385
N080-0371
N080-0386
N430-0009
N010-0873-GY1SG
N105-0011
N010-0767
NO010-0768
N370-0731CE-CH
N120-0019-GYOTX
N570-0100
N340-0007
N325-0087-SER
N485-0016
N485-0017
N570-0082
N160-0022
N080-0254G
N105-0012
N135-0049-GY1HT
N080-0282-GY 1HT
N570-0068
N100-0056-50-SER
N080-0406
N100-0045
N240-0001
N570-0008
N350-0069
N450-0006
N455-0055

W456-0050

N080-0286
N255-0007
N720-0058
N475-0296
N010-0714
N010-0715
N051-0011
N051-0012
N570-0078
N380-0029
N380-0030
N357-0014
N043-0002
N105-0001
N720-0044
N530-0023-SER

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

left/right cart enclosure panel
rear cart enclosure panel
bottom shelf

bottom shelf

heat shield

1/4"-20 x 1/2" screw
caster plug - each
caster - each

door pivot left bracket
unit mount bracket
door pivot right bracket
magnetic catch

tank support

door bushings

cart door assembly - stainless steel
cart door assembly - black
kit, doors smokey quartz, set of 2
door end cap

#8 x 1/2" screw

tool hook

door handle

door pivot pin top

door pivot pin bottom

1/4-20 X 5/8" screw

clip door pivot pin

propane tank inhibitor bracket
1.5" bushing

base casting

unit mounting bracket

#14 x 1/2" screw

main burner

cross light bracket

rear burner

rear burner electrode

#8 x 1/2" screw

rear burner housing

1/4" - 20 nut

rear burner orifice 1.25mm (LP)
rear burner orifice #50 (NG)
bracket rear burner orifice
fitting

rear burner supply tube
control panel

manifold assembly (LP)
manifold assembly (NG)
control knob bezel large
control knob bezel small

M4 x 8mm screw

burner control knob large
burner control knob small
electronic ignition - 2 spark
batteries 'AAA'

bushing

manifold flex connector
regulator step down (LP)

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

73,50
99,00
109,00
109,00
95,00

1,00

£ dh oy odh oy dh

10,50
4,00
2,00
4,00
2,00

63,00
1,00

159,00
159,00
299,00

14,50
1,00
4,00

19,00
1,00
1,00
1,00
2,00

14,50
1,00

149,00

35,00
1,00

31,50
4,00

26,50

14,50
2,00

31,50
1,00
5,50

10,50
1,00
3,00

26,50

115,00
125,00
125,00
3,00
4,00
1,00

12,50

10,50

19,00

A O ON O RO IO WO I ORI O IO IO O O IO RO IO IO W O O IO IO I OO N ON OO O ON OO O OO WO OWONOWON OO OO OO

1,00
14,50
73,50

an dh an

85

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

P500RSIB-1

Description

N530-0026-SER regulator step down (NG) € 73,50
N570-0032 #8 x 3/8" screw € 1,00
51 N720-0055 side burner supply tube € 12,50
52 N750-0016 electronic ignition lead € 4,00
53 N200-0119-GY1SG back cover € 26,50
54 N135-0015G left side hood casting € 42,00
55 N135-0016G right side hood casting € 42,00
56 N335-0066-BK2GL hood insert € 115,00
57 N570-0012 1/4"-20 x 5/8" carriage bolt € 1,00
58 N305-0082 sear plate € 12,50
59 N305-0084 cooking grids - wave stainless rod € 99,00
60 N520-0034 warming rack € 37,00
61 N475-0016 rotisserie mount € 10,50
62 N570-0017 1/4"-20 x 1/2" screw € 2,00
63 N335-0067 stainless steel lid insert € 95,00
N335-0068-BK2GL black lid insert € 149,00
N010-0746-SS lid assembly - stainless steel € 399,00
NO010-0746-BK lid assembly - black >
N010-0746-GY lid assembly - smokey quartz >
N010-0746-BL lid assembly - blue € 399,00
64 N135-0041G right side lid casting € 63,00
65 N135-0040G left side lid casting € 52,50
66 N325-0078 lid handle € 37,00
67 N585-0079 heat shield lid € 62,50
68 N385-0307-SER NAPOLEON logo € 4,00
69 N685-0004 temperature gauge € 26,50
70 N510-0013 black silicone lid bumper € 2,00
71 N735-0002 1/4" lock washer € 1,00
72 N570-0113 1/4"-20 x 5/8" screw #N/B
73 N570-0013 #8 x 5/8" screw € 1,00
74 N450-0044 logo clips € 1,00
75 N570-0015 lid pivot screw € 2,00
76 W735-0011 3/4" washer € 1,50
77 NO010-0702-GY1SG adjustable tank ring bracket € 31,50
78 N530-0032 regulator - Germany € 25,00
N530-0033 regulator - Holland € 25,00
N530-0034 regulator - Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator - Sweden € 25,00
N530-0036 regulator - Italy € 25,00
N530-0037 regulator - United Kingdom € 25,00
N530-0038 regulator - France € 25,00
N530-0039 regulator - Hungary € 25,00
N530-0042 regulator - Switzerland € 25,00
N530-0043 regulator - Russia € 25,00
N530-0044 regulator - Poland € 25,00
N530-0046 regulator - Czech Republic € 25,00
79 N555-0025 lighting rod € 3,00
80 N710-0093 drip pan € 105,00
81 NO010-0847 assy stainless steel sideburner shelf € 149,00
82 W450-0020 #10-24 nutserts #N/B
83 N120-0029-GYOTX shelf end cap € 21,00
Pricing subject to change 86

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

P500RSIB-1
Description

84 N570-0076 #8 x 1/2" screw € 1,00
85 N570-0086 #14 x 1/2" screw € 1,00
86 N325-0091 side shelf handle € 21,00
87 N570-0038 1/4"-20 x 1/2" screw € 1,00
88 N335-0048-M02 side burner lid € 47,50
89 N555-0084 side burner lid pivot € 3,00
90 N485-0021 side burner pivot pin € 1,00
91 N500-0039K side burner plate € 37,00
92 NO010-0612 side burner € 99,00
93 NO080-0358 side burner drip pan bracket € 12,50
94 N240-0026 side burner electrode € 3,50
95 NO010-0763 side burner grate € 68,50
96 N710-0063 side burner drip pan € 30,00
97 N570-0042 10-24 x 3/8" screw € 1,00
98 Z735-0001 M9 x 5mm x 0.5mm washer € 1,00
99 N160-0023 side burner hose orifice retainer clip € 1,00
100 N455-0062 side burner orifice #60 € 4,00

N455-0063 side burner orifice 1.45mm € 5,50
101 62007 grease tray aluminium >
102 N710-0062 grease tray holder € 12,50
103 N080-0359 folding shelf bracket "A" € 3,00
104 N080-0360 folding shelf bracket "B" € 3,00
105 NO010-0732 stainless steel side shelf,right € 149,00
106 N570-0101 10-24 x 3/8" screw € 1,00
107 N450-0039 10-24 nut € 2,00
108 N655-0184 side shelf stiffener € 10,50
109 N385-0144-SER Prestige logo € 6,50
110 N570-0099 #14 x 3/4" screw € 1,00
111 N570-0087 1/4"-20 x 7/8" screw € 1,00

N215-0016 wind deflector € 26,50

Pricing subject to change 87

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 NAPOLEDN

LEX730RSBI

Pricing subject to change 88
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

LEX730RSBI

Description

1 N590-0151-GY1SG bottom shelf € 115,00
2  N475-0236-GY1SG left/right cart enclosure panel € 73,50
3 N475-0196-GY1SG rear cart enclosure panel € 84,00
4 N655-0154-GY1SG front cabinet support € 31,50
5 NO080-0212-GY1SG stabilizer brackets € 4,00
6 N130-0012 revolving caster € 8,50
7 N130-0013 non revolving caster € 5,50
8 NO010-0765 drawer housing assembly € 189,00
9 NO010-0766-M06 drawer assembly € 149,00
10 N735-0001 insulated washer € 2,00
11 N570-0082 1/4-20 x 5/8” screw € 1,00
12 N325-0081 drawer handle € 12,50
13 N590-0189 cutting board € 26,50
14 N530-0032 regulator - Germany € 25,00
N530-0033 regulator - Holland € 25,00
N530-0034 regulator - Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator - Sweden € 25,00
N530-0036 regulator - Italy € 25,00
N530-0037 regulator - United Kingdom € 25,00
N530-0038 regulator - France € 25,00
N530-0039 regulator - Hungary € 25,00
N530-0042 regulator - Switzerland € 25,00
N530-0043 regulator - Russia € 25,00
N530-0044 regulator - Poland € 25,00
N530-0046 regulator - Czech Republic € 25,00
15 N585-0064-GY1SG heat shield € 10,50
16 N430-0002 magnetic catch € 6,50
17  N590-0164-GY1SG condiment basket € 14,50
18 N105-0012 snap bushing € 1,00
19 N105-0011 door bushings € 1,00
20 N475-0293-M06 door panel € 63,00
21 N120-0019-GYOTX cap door top/bottom € 14,50
22 N570-0100 #8 x 1/2” screw flat phillips € 1,00
23 N340-0007 tool hook € 4,00
24  N190-0001 battery pack € 5,50
25 N555-0025 lighting rod € 3,00
26 N485-0016 pivot pin door top € 1,00
27 N485-0017 pivot pin door bottom € 1,00
28 N570-0099 #14 x 3/4” screw € 1,00
29 N160-0022 clip door pivot pin € 2,00
30 N160-0014 grease tray holder € 2,00
31  N710-0062 grease tray aluminium € 12,50
32 62007 grease tray foil >
33 N570-0080 #14 x 1/2” screw € 1,00
34 N570-0073 1/4-20 x 3/8” screw € 1,00
35 N080-0254G tank inhibitor € 14,50
36 N255-0014 fitting € 5,50
37 N010-0599-M01 base € 499,00
38 N475-0315-GB-DE control panel € 84,00
39 NO010-0519-30 manifold assembly c/w valves € 125,00
40 N100-0036 main burner € 17,00
41 NO010-0499 infrared burner € 179,00
N565-0002 infrared burner screen € 14,50
Pricing subject to change 89

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



42
43
44
45
46
47
48
49
50
51

52
53
54
55
56
57
58
59
60
61

62
63
64
65

66
67
68
69
70
71
72
73
74
75
76
7
78
79

80
81
82
83
84
85
86
87
88
89
90
91
92

Prices are recommended end-user prices

LEX730RSBI

N080-0209
N080-0207-M05
N660-0002
N051-0006
N051-0012
N570-0078
N380-0021-CL
N380-0020-CL
N750-0022B
N305-0057-MO01
Z510-0003
N475-0301-M06
N200-0082-GY1SG
N305-0058
N010-0521-M01
N160-0017
N720-0044
N720-0055
N750-0016
N720-0053
N570-0008
N105-0001
NO010-0593-M06
N335-0045L-M02
N010-0758-SS
N135-0042-GY1HT
N135-0043-GY1HT
N585-0082
N010-0741
N385-0307-SER
W450-0005
N685-0013-SER
NO080-0287-GY1HT
N570-0091
N570-0042
N570-0015
N735-0003
N010-0527P-30
N565-0007
N215-0007-M05
N570-0008
N530-0021-SER
W445-0021
N240-0024P
N080-0206-M05
N615-0011
Z570-0002
N200-0080-M06
N520-0025
N010-0722
N120-0020-GY0TX
N570-0076
N570-0013

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

main burner cross light bracket
support bracket infrared burner
switch light

control knob bezel large
control knob bezel small
M4 x 8 mm screw

burner control knob large
burner control knob small
wiring harness LED

sear plate

black silicone lid bumper
rotisserie mount

back cover

cooking grids - stainless rod
drip pan

clip rear burner tube
manifold flex connector
side burner supply tube
side burner electrode wire
rear burner supply tube

#8 x 1/2” screw

bushing 7/8”

hood assembly

stainless steel lid insert
stainless steel lid assembly
left side lid casting

right side lid casting

heat shield lid

lid handle

NAPOLEON logo

logo spring clips
temperature gauge

lid casting cover

1/4-20 x 1/2” screw

10-24 x 3/8” screw

lid pivot screw

1/4” lockwasher

infrared rear burner

infrared burner screen
infrared burner deflector

#8 x 1/2” screw

regulator step down

union fitting 3/8” - 3/8”

rear burner electrode c/w pilot
rear burner electrode cover
rear burner electrode cover spacer
rear burner electrode cover screw
infrared rear burner cover
warming rack

side shelf - right

LUXIDIO side shelf end cap
#8 x 1/2” screw

#8 x 5/8” screw

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

17,00
4,00
3,00

£y dh

4,00
1,00
8,50
7,50
12,50
31,50
1,00
12,50

£ oAy dh b o Ay

99,00
125,00
2,00
14,50
12,50
4,00
19,00
2,00
1,00
169,00
279,00
599,00
73,50
73,50
99,00
52,50
4,00

N ON OO OO OO ONONO RO OO NGORG]

21,00
2,00
1,00
1,00
2,00
1,00

99,00

14,50
3,00
2,00

99,00
5,50

19,00
5,50
1,00
1,00

73,50

52,50

OO OO OO OO ONONOWONONONONONONO)

26,50
1,00
1,00

an an an

90

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

LEX730RSBI
Description

93 N500-0041K side burner plate € 26,50
94 N100-0037 side burner € 42,00
95 N305-0059 side burner grate € 12,50
96 N455-0057 side burner orifice #66 € 3,00
97 N160-0023 side burner orifice clip € 1,00
98 N335-0048-M02 side burner lid € 47,50
99 N485-0009 side burner lid clip € 2,00
100 N385-0241-SER LEX logo € 5,50
101 NO10-0760-M06 side shelf - left € 105,00
102 N185-0003 ice bucket € 31,50
103 N510-0013 black silicone bumper € 2,00
104 N640-0004 tank strap € 4,00

N370-0658 Hardware baggie € 42,00

Pricing subject to change 91

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 (NAPOLEON)
LEX730RSBI

Serial numbers CE-001378 and up

Ay

Pricing subject to change 92
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

LEX730RSBI
Serial numbers CE-001378 and up

Description

1 N590-0151-GY1SG bottom shelf € 115,00
2 N475-0236-GY1SG left/right cart enclosure panel € 73,50
3 N475-0196-GY1SG rear cart enclosure panel € 84,00
4 N655-0154-GY1SG front cabinet support € 31,50
5 NO080-0212-GY1SG stabilizer brackets € 4,00
6 N130-0012 revolving caster € 8,50
7 N130-0013 non revolving caster € 5,50
8 NO010-0765 drawer housing assembly € 189,00
9 NO010-0766-M06 drawer assembly € 149,00
10 N735-0001 insulated washer € 2,00
11 N570-0082 1/4-20 x 5/8” screw € 1,00
12 N325-0081 drawer handle € 12,50
13  N590-0189 cutting board € 26,50
14 N530-0032 regulator - Germany € 25,00
N530-0033 regulator - Holland € 25,00
N530-0034 regulator - Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator - Sweden € 25,00
N530-0036 regulator - Italy € 25,00
N530-0037 regulator - United Kingdom € 25,00
N530-0038 regulator - France € 25,00
N530-0039 regulator - Hungary € 25,00
N530-0042 regulator - Switzerland € 25,00
N530-0043 regulator - Russia € 25,00
N530-0044 regulator - Poland € 25,00
N530-0046 regulator - Czech Republic € 25,00
15 N585-0064-GY1SG heat shield € 10,50
16 N430-0002 magnetic catch € 6,50
17 N590-0164-GY1SG condiment basket € 14,50
18 N105-0012 snap bushing € 1,00
19 N105-0011 door bushings € 1,00
20 N475-0293-M06 door panel € 63,00
21 N120-0019-GYOTX cap door top/bottom € 14,50
22 N570-0100 #8 x 1/2” screw flat phillips € 1,00
23 N340-0007 tool hook € 4,00
24 N190-0001 battery pack € 5,50
25 N555-0025 lighting rod € 3,00
26 N485-0016 pivot pin door top € 1,00
27 N485-0017 pivot pin door bottom € 1,00
28 N570-0099 #14 x 3/4” screw € 1,00
29 N160-0022 clip door pivot pin € 2,00
30 N160-0014 grease tray holder € 2,00
31 N710-0062 grease tray aluminium € 12,50
32 62007 grease tray foil >
33 N570-0086 #14 x 1/2” screw € 1,00
34 N570-0073 1/4-20 x 3/8” screw € 1,00
35 N080-0254G tank inhibitor € 14,50
36 N255-0014 fitting € 5,50
37 N010-0599-M01 base € 499,00
38 N475-0315-GB-DE control panel € 84,00
39 NO010-0519-30 manifold assembly c/w valves € 125,00
40 S81001 main burner (sear plates & burner screws) € 47,50
41  NO010-0499 infra red burner € 179,00
N565-0002 infrared burner screen € 14,50
** Please contact the service desk for pricing.
Pricing subject to change 93

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79

80
81
82
83
84
85
86
87
88
89
90
91
92
93

Prices are recommended end-user prices

LEX730RSBI

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Serial numbers CE-001378 and up

N080-0209
N080-0207-M05
N660-0002
N051-0011
N051-0012
N570-0078
S88001
N380-0020-CL
N750-0022B
S81001
Z510-0003
N475-0301-M06
N200-0082-GY1SG
N305-0058
N010-0521-M05
N160-0017
N720-0044
N720-0055
N750-0016
N720-0053
N570-0008
N105-0001
N010-0593-M06
N335-0045L-M04
N135-0042-GY1HT
N135-0043-GY1HT
N585-0082
N010-0741
N385-0307-SER
W450-0005
N685-0013-SER
N080-0287-GY1HT
N570-0091
N570-0042
N570-0015
N735-0003
N010-0527P-30
N565-0007
N215-0007-M05
N570-0008
N530-0021-SER
W445-0021
N240-0024P
N080-0206-M05
N615-0011
Z570-0002
N200-0080-M06
N520-0025
N010-0989-M06
N120-0020-GYOTX
N570-0076
N570-0013
N500-0041K

Description

main burner cross light bracket
support bracket infrared burner
switch light

control knob bezel large
control knob bezel small

M4 x 8 mm screw

burner control knob large
burner control knob small
wiring harness LED

sear plate (includes burner & burner screws)
black silicone lid bumper
rotisserie mount

back cover

cooking grids - stainless rod
drip pan

clip rear burner tube

manifold flex connector

side burner supply tube

side burner electrode wire
rear burner supply tube

#8 x 1/2” screw

bushing 7/8”

hood assembly

stainless steel lid insert

left side lid casting

right side lid casting

heat shield lid

lid handle

NAPOLEON logo

logo spring clips

temperature gauge

lid casting cover

1/4-20 x 1/2” screw

10-24 x 3/8” screw

lid pivot screw

1/4” lockwasher

infra red rear burner

infrared burner screen
infrared burner deflector

#8 x 1/2” screw

regulator step down

union fitting 3/8” - 3/8”

rear burner electrode c/w pilot
rear burner electrode cover
rear burner electrode cover spacer
rear burner electrode cover screw
infra red rear burner cover
warming rack

side shelf - right

luxidio side shelf end cap

#8 x 1/2” screw

#8 x 5/8” screw

side burner plate

** Please contact the service desk for pricing.

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

17,00
4,00
3,00
3,00
4,00
1,00
8,50
7,50

12,50

47,50
1,00

12,50

O ONONOWONOWONONONONON O]

99,00
125,00
2,00
14,50
12,50
4,00
19,00
2,00
1,00
169,00

O ONONONOWONON OGN

73,50
73,50
99,00
52,50

4,00

£odh Ay dh dh

21,00
2,00
1,00
1,00
2,00
1,00

99,00

14,50
3,00
2,00

99,00
5,50

19,00
5,50
1,00
1,00

73,50

52,50

105,00

26,50
1,00
1,00

26,50

an dh dah b dh dh dh Ay A A dh dh A A A A odh A A A dh dh

94

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

LEX730RSBI
Serial numbers CE-001378 and up

Description
94  N100-0037 side burner € 42,00
95 N305-0059 side burner grate € 12,50
96 N455-0057 side burner orifice #66 € 3,00
97 N160-0023 side burner orifice clip € 1,00
98 N335-0098-M06 side burner lid € 31,50
99 N485-0009 side burner lid clip € 2,00
100 N385-0241-SER LEX logo € 5,50
101 NO10-0990-M06 side shelf - left € 129,00
102 N185-0003 ice bucket € 31,50
103 N510-0013 black silicone bumper € 2,00
104 N640-0004 tank strap € 4,00
Pricing subject to change 95

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 NAPOLEDN

LEX605RSBI

Pricing subject to change 96
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



O~NO O~ WN =

WWowWwWWWNNNNNNNNDNDDD S 2 s
OB WON-_2 000N BRWN-_O0OOCONOOUORAWN-=O

36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52

Prices are recommended end-user prices

LEX605RSBI

N590-0150-GY1SG
N475-0236-GY1SG
N475-0189-GY1SG
N655-0153-GY1SG
N080-0212-GY1SG
N130-0012
N130-0013
N475-0308
N585-0064-GY1SG
N430-0002
N590-0164-GY1SG
N105-0012
N105-0011
N475-0293-M06
N120-0019-GYOTX
N570-0100
N340-0007
N325-0081
N555-0025
N485-0016
N485-0017
N570-0099
N160-0022
N160-0014
N710-0062

62007

N570-0080
N570-0038
N080-0254G
N555-0027
NO010-0598-M05
N475-0314-GB-DE
N010-0510-30
N100-0036
N010-0499
N565-0002
N080-0208
N080-0207-M05
N660-0002
N051-0012
N051-0011
N380-0020-CL
N380-0021-CL
N750-0021B
N305-0057-M01
N510-0013
N475-0301-M06
N200-0079-GY1SG
N305-0058
N305-0090
N570-0008
N720-0044
N750-0016

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

bottom shelf
left/right cart enclosure panel
rear cart enclosure panel
front cabinet support
stabilizer brackets

revolving caster

non revolving caster

front cabinet fascia

heat shield

magnetic catch

condiment basket

snhap bushing

door bushings

door panel

cap door top/bottom

#8 x 1/2” screw flat phillips
tool hook

door handle

lighting rod

pivot pin door top

pivot pin door bottom

#14 x 3/4” screw

clip door pivot pin

grease tray holder

grease tray aluminium

grease tray foil

#14 x 1/2” screw

1/4-20 x 3/8” screw

tank inhibitor

tank inhibitor rod

base

control panel

manifold assembly c/w valves
main burner

infrared burner

infrared burner screen

main burner cross light bracket
support bracket infrared burner
switch light

control knob bezel small
control knob bezel large
burner control knob small
burner control knob large
wiring harness LED

sear plate

black silicone lid bumper
rotisserie mount

back cover

cooking grids - stainless rod large
cooking grids - stainless rod small
#8 x 1/2” screw

manifold flex connector

side burner electrode wire

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

109,00
73,50
84,00
52,50

4,00
8,50
5,50
73,50
10,50
6,50
14,50
1,00
1,00
63,00
14,50
1,00
4,00
12,50
3,00
1,00
1,00
1,00
2,00
2,00
12,50

OO OO ONONONONONONONONONONONONOWONOWONONONONONO]

1,00
1,00
14,50
2,00
249,00
115,00
99,00
17,00
179,00
14,50
12,50
4,00
3,00
4,00
3,00
7,50
8,50
12,50
31,50
2,00
12,50
21,00
99,00
73,50
2,00
14,50
4,00

(OO OO OO OO OWONOWONONON O ONONONOWONONONONONOWONO)

97

Effective January 1st, 2023




53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
98
94
95
96
97
98
99

Prices are recommended end-user prices

LEX605RSBI

N160-0017
N105-0001
N720-0055
N720-0053
N570-0078
N010-0592
N335-0044L-M04
N135-0042-GY1HT
N135-0043-GY1HT
N585-0081
N010-0739
N385-0307-SER
W450-0005
N685-0013-SER
N080-0287-GY1HT
N570-0091
N570-0042
N570-0015
N735-0003
N010-0527P-30
N565-0007
N240-0024P
N080-0206-M05
Z570-0002
N615-0011
N200-0080-M06
N520-0024
N570-0008
N735-0001
N570-0082
N010-0722
N120-0020-GYOTX
N570-0076
N570-0013
N500-0041K
N100-0037
N305-0059
N455-0057
N160-0023
N335-0048-M02
N485-0009
N385-0241-SER
N010-0760-M06
N185-0003
N590-0189
N190-0001
N530-0032
N530-0033
N530-0034
N530-0035
N530-0036
N530-0037
N530-0038

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

clip rear burner tube
bushing 7/8”

side burner supply tube
rear burner supply tube

M4 x 8 mm screw

hood assembly

stainless steel lid insert

left side lid casting

right side lid casting

heat shield lid

lid handle

NAPOLEON logo

logo spring clips
temperature gauge

lid casting cover

1/4-20 x 1/2” screw

10-24 x 3/8” screw

lid pivot screw

1/4” lockwasher

infrared rear burner

infrared burner screen

rear burner electrode c/w pilot
rear burner electrode cover
rear burner electrode cover screw
rear burner electrode cover spacer
infrared rear burner cover
warming rack

#8 x 1/2” screw

insulated washer

1/4-20 x 5/8” screw

side shelf - right

LUXIDIO side shelf end cap
#8 x 1/2” screw

#8 x 5/8” screw

side burner plate

side burner

side burner grate

side burner orifice #66
side burner orifice clip

side burner lid

side burner lid clip

LEX logo

side shelf - left

ice bucket

cutting board

battery pack

regulator - Germany
regulator - Holland
regulator - Spain/Finland/Norway/Denmark
regulator - Sweden
regulator - Italy

regulator - United Kingdom
regulator - France

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

2,00
1,00
12,50
19,00
1,00
149,00
249,00
73,50
73,50
52,50
42,00
4,00

O ONONOWONOWONONONONON O]

21,00
2,00
1,00
1,00
2,00
1,00

99,00

14,50

19,00
5,50
1,00
1,00

73,50

42,00
2,00
2,00
1,00

#N/B

26,50
1,00
1,00

26,50

42,00

12,50
3,00
1,00

47,50
2,00
5,50

105,00

31,50

26,50
5,50

25,00

25,00

25,00

25,00

25,00

25,00

25,00

[ONONONONONOWONOWONONONONONOWONONO

(OO OWONONONONONONONOWONOWONONONONWONOWONO O]

98

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

LEX605RSBI
Description

N530-0039 regulator - Hungary € 25,00

N530-0042 regulator - Switzerland € 25,00

N530-0043 regulator - Russia € 25,00

N530-0044 regulator - Poland € 25,00

N530-0046 regulator - Czech Republic € 25,00
100 N530-0021-SER regulator step down € 99,00
101  W445-0021 union fitting 3/8” - 3/8” € 5,50
102 N255-0014 fitting € 5,50
103 NO010-0512-M01 drip pan € 115,00
104 N640-0004 tank strap € 4,00

N370-0658 hardware baggie € 42,00

Pricing subject to change 99

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

‘NAPOLEON)

Tel: +31 88-588 66 55

LEX605RSBI

Serial numbers CE-002293 and up

100

Effective January 1st, 2023

Pricing subject to change
** Please contact service desk for pricing

Prices are recommended end-user prices



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

LEX605RSBI
Serial numbers CE-002293 and up

Description

1 N590-0150-GY1SG bottom shelf € 109,00
2 N475-0236-GY1SG left/right cart enclosure panel € 73,50
3 N475-0189-GY1SG rear cart enclosure panel € 84,00
4 N655-0153-GY1SG front cabinet support € 52,50
5 NO080-0212-GY1SG stabilizer brackets € 4,00
6 N130-0012 revolving caster € 8,50
7 N130-0013 non revolving caster € 5,50
8 N475-0308 front cabinet fascia € 73,50
9 N585-0064-GY1SG heat shield € 10,50
10 N430-0002 magnetic catch € 6,50
11 N590-0164-GY1SG condiment basket € 14,50
12 N105-0012 snap bushing € 1,00
13  N105-0011 door bushings € 1,00
14 N475-0293-M06 door panel € 63,00
15 N120-0019-GYOTX cap door top/bottom € 14,50
16 N570-0100 #8 x 1/2” screw flat phillips € 1,00
17  N340-0007 tool hook € 4,00
18  N325-0081 door handle € 12,50
19 N555-0025 lighting rod € 3,00
20 N485-0016 pivot pin door top € 1,00
21  N485-0017 pivot pin door bottom € 1,00
22 N570-0099 #14 x 3/4” screw € 1,00
23 N160-0022 clip door pivot pin € 2,00
24 N160-0014 grease tray holder € 2,00
25 N710-0062 grease tray aluminium € 12,50
26 62007 grease tray foil #N/B
27 N570-0086 #14 x 1/2” screw € 1,00
28 N570-0073 1/4-20 x 3/8” screw € 1,00
29 NO080-0254G tank inhibitor € 14,50
30 N555-0027 tank inhibitor rod € 2,00
31 N010-0598-M05 base € 249,00
32 N475-0314-GB-DE control panel € 115,00
33 NO010-0510-30 manifold assembly c/w valves € 99,00
34 S81001 main burner (sear plate & burner screws) € 47,50
35 NO010-0499 infra red burner € 179,00

N565-0002 infrared burner screen € 14,50
36 N080-0208 main burner cross light bracket € 12,50
37 NO080-0207-M05 support bracket infra red burner € 4,00
38 N660-0002 switch light € 3,00
39 NO051-0012 control knob bezel small € 4,00
40 NO051-0011 control knob bezel large € 3,00
41 N380-0020-CL burner control knob small € 7,50
42 S88001 burner control knob large € 8,50
43 N750-0021B wiring harness LED € 12,50
44  S81001 sear plate € 47,50
45 N510-0013 black silicone lid bumper € 2,00
46 N475-0301-M06 rotisserie mount € 12,50
47  N200-0079-GY1SG back cover € 21,00
48 N305-0058 cooking grids - stainless rod large € 99,00
49 N305-0090 cooking grids - stainless rod small € 73,50
50 N570-0008 #8 x 1/2” screw € 2,00
51 N720-0044 manifold flex connector € 14,50
52 N750-0016 side burner electrode wire € 4,00

** Please contact the service desk for pricing.
Pricing subject to change 101

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
7
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94
95
96
97
98
99

Prices are recommended end-user prices

LEX605RSBI
Serial numbers CE-002293 and up

Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

N160-0017
N105-0001
N720-0055
N720-0053
N570-0078
N010-0592
N335-0044L-M04
N135-0042-GY1HT
N135-0043-GY1HT
N585-0081
N010-0739
N385-0307-SER
W450-0005
N685-0013-SER
N080-0287-GY1HT
N570-0091
N570-0042
N570-0015
N735-0003
N010-0527P-30
N565-0007
N240-0024P
N080-0206-M05
Z570-0002
N615-0011
N200-0080-M06
N520-0024
N570-0008
N735-0001
N570-0082
NO010-0989-M06
N120-0020-GYOTX
N570-0076
N570-0013
N500-0041K
N100-0037
N305-0059
N455-0057
N160-0023
N335-0098-M06
N485-0009
N385-0241-SER
N010-0990-M06
N185-0003
N590-0189
N190-0001
N530-0032
N530-0033
N530-0034
N530-0035
N530-0036
N530-0037
N530-0038

Description

clip rear burner tube
bushing 7/8”

side burner supply tube
rear burner supply tube

M4 x 8 mm screw

hood assembly

stainless steel lid insert
left side lid casting

right side lid casting

heat shield lid

lid handle

NAPOLEON logo

logo spring clips
temperature gauge

lid casting cover

1/4-20 x 1/2” screw

10-24 x 3/8” screw

lid pivot screw

1/4” lockwasher

infra red rear burner
infrared burner screen

rear burner electrode c/w pilot
rear burner electrode cover
rear burner electrode cover screw
rear burner electrode cover spacer
infra red rear burner cover
warming rack

#8 x 1/2” screw

insulated washer

1/4-20 x 5/8” screw

side shelf - right

luxidio side shelf end cap
#8 x 1/2” screw

#8 x 5/8” screw

side burner plate

side burner

side burner grate

side burner orifice #66
side burner orifice clip

side burner lid

side burner lid clip

lex logo

side shelf - left

ice bucket

cutting board

battery pack

regulator - Germany
regulator - Holland
regulator - Spain/Finland/Norway/Denmark
regulator - Sweden
regulator - Italy

regulator - United Kingdom
regulator - France

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

2,00
1,00
12,50
19,00
1,00
149,00
249,00
73,50
73,50
52,50
42,00
4,00

O ONONOWONOWONONONONON O

21,00
2,00
1,00
1,00
2,00
1,00

99,00

14,50

19,00
5,50
1,00
1,00

73,50

42,00
2,00
2,00
1,00

105,00

26,50
1,00
1,00

26,50

42,00

12,50
3,00
1,00

31,50
2,00
5,50

129,00

31,50

26,50
5,50

25,00

25,00

25,00

25,00

25,00

25,00

25,00

an dh day b odh dh dh A A A dh dh A A A A dh A A A A A dh A A A A dh dh A A A A dh dh A A A dh dh

102

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

LEX605RSBI
Serial numbers CE-002293 and up

Description
N530-0039 regulator - Hungary € 25,00
N530-0042 regulator - Switzerland € 25,00
N530-0043 regulator - Russia € 25,00
N530-0044 regulator - Poland € 25,00
N530-0046 regulator - Czech Republic € 25,00
100 N530-0021-SER regulator step down € 99,00
101  W445-0021 union fitting 3/8” - 3/8” € 5,50
102 N255-0014 fitting € 5,50
103 NO010-0512-M01 drip pan € 115,00
104 N640-0004 tank strap € 4,00
Pricing subject to change 103

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 NAPOLEDN

LEX485RSIB-1

I T

; ) _
{\'E ,?." @—\

Pricing subject to change 104
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



O~NO O WN =

oo b BbhSASASDLNDDDBEDWWWWWWWWWWNNNNDNDNNNDNDNDD =S 2 2 2 s
WN 200 ONOODAOPR,WN_LO000ONOODAPRPRWN-_L000ONOODAPR,WN_LO0OOONOOOOGA,WN-=0O

LEX485RSIB-1

N590-0267-GY1SG
N475-0405-GY1SG
N475-0406-GY1SG
N525-0056-GY1SG
N640-0004
N430-0002
N105-0011
N510-0016
N130-0015
N160-0014
N710-0062

62007
N590-0164-GY1SG
N585-0064-GY1SG
N570-0073
N080-0254G
N570-0080
N010-0945-M05
N100-0036
N080-0281
N570-0008
N475-0291
N010-0716-30
N510-0013
N660-0002
N357-0013
N305-0057-M01
N051-0011
N380-0021-CL
N051-0012
N380-0020-CL
N200-0089-GY1SG
N305-0058
N010-0501-M01
N105-0001
N750-0021B
N160-0017
N720-0053
Z570-0038
N010-0638-M06
N010-0526P-30
N520-0023
N080-0206-M05
N240-0024P
N200-0090-M06
Z570-0002
N615-0011
N335-0042L-M02
N135-0042-GY1HT
N135-0043-GY1HT
N585-0078
N385-0307-SER
W450-0005

Prices are recommended end-user prices

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

bottom shelf
left/right cart enclosure panel
rear cart enclosure panel
front cabinet support

tank strap

magnetic catch

door bushings

caster plug - each

caster - each

grease tray holder

grease tray aluminum
grease tray foil

condiment basket

heat shield

1/4-20 x 3/8” screw

tank inhibitor

#14 x 1/2” screw

base

main burner

main burner cross light bracket
#8 x 1/2” screw

control panel

manifold assembly

black silicone lid bumper
switch light

side burner igniter

sear plate

conrol knob bezel large
burner control knob large
control knob bezel small
burner control knob small
back cover

cooking grid - stainless rod
drip pan

bushing 7/8”

wiring harness LED (blue)
clip rear burner tube

rear burner supply tube

M4 x 8 mm screw

hood assembly

infrared rear burner

warming rack

rear burner electrode cover
rear burner electrode c/w pilot
infrared rear burner cover
rear burner electrode cover screw
rear burner electrode cover spacer
stainless steel lid insert

left side lid casting

right side lid casting

heat shield lid insert
NAPOLEON logo

logo spring clips

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

80,00
73,50
52,50
21,00
4,00
6,50
1,00

[ OWONOWONOWONO!

7,50
2,00
12,50

ORON

14,50
10,50
1,00
14,50
1,00
349,00
17,00
8,50
2,00
73,50
149,00
2,00
3,00
19,00
31,50
3,00
8,50
4,00
7,50
17,00
99,00
99,00
1,00
12,50
2,00
19,00
1,00
115,00
73,50
37,00
5,50
19,00

AN O MO RO IO O N OI OO O IO O N ORI O IO RO N ON O N ORO IO IO ON O OO OO WO OO

1,00
1,00
309,00
73,50
73,50
52,50
4,00

N OWONONOWONONO!

105

Effective January 1st, 2023




Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

LEX485RSIB-1

Description

54 N010-0742 lid handle € 31,50
55 N685-0013-SER temperature gauge € 21,00
56 N570-0091 1/4-20 x 1/2” screw € 1,00
57 NO080-0287-GY1HT lid casting cover € 2,00
58 N570-0042 10-24 x 3/8” screw € 1,00
Z735-0001 M9 x 5mm washer € 1,00
59 N225-0056-M06 door panel stainless steel € 62,00
60 N120-0019-GYOTX cap door top/bottom € 14,50
61 N570-0100 #8 x 1/2” screw flat phillips € 1,00
62 N340-0007 tool hook € 4,00
63 N325-0081 door handle € 12,50
64 N555-0025 lighting rod € 3,00
65 N485-0016 pivot pin door top € 1,00
66 N485-0017 pivot pin door bottom € 1,00
67 N570-0099 #14 x 3/4” screw € 1,00
68 N570-0082 1/4-20 x 5/8” screw € 1,00
69 N735-0001 insulated washer € 2,00
70 N475-0301-M06 rotisserie mount € 12,50
71 N450-0027 1/4” - 20 nut € 0,50
72 N010-0760-M06 side shelf left € 105,00
73 N010-0722 side shelf right *
74  N120-0020-GYOTX LUXIDIO side shelf end cap € 26,50
75 N570-0013 #8 x 5/8” screw € 1,00
76 N570-0076 #8 x 1/2” screw € 1,00
77 N185-0003 ice bucket € 31,50
78 N335-0048-M02 side burner lid € 47,50
79 N485-0021 side burner pivot pin € 1,00
80 N590-0189 cutting board € 26,50
81 N500-0039K side burner plate € 37,00
82 NO010-0662 side burner infrared € 99,00
83 N565-0002 infra red burner screen € 14,50
84 N710-0063 side burner drip pan € 30,00
85 N240-0026 side burner electrode € 3,50
86 NO010-0763 side burner grate € 68,50
87 N570-0089 side burner grate screw € 3,00
88 N455-0062 side burner orifice #60 € 4,00
89 N160-0023 side burner orifice clip € 1,00
90 N385-0241-SER LEX logo € 5,50
91 N720-0044 manifold flex connector € 14,50
92 N160-0022 clip door pivot pin € 2,00
93 N570-0015 lid pivot screw € 2,00
94 N735-0003 1/4” lockwasher € 1,00
95 N190-0001 battery pack € 5,50
W043-0002 batteries ‘AA’ o
96 N720-0055 side burner supply tube € 12,50
97 N750-0016 side burner electrode wire € 4,00
98 N530-0021-SER regulator, step down € 99,00
99 N530-0032 regulator - Germany € 25,00
N530-0033 regulator - Holland € 25,00
N530-0034 regulator - Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator - Sweden € 25,00
N530-0036 regulator - Italy € 25,00
N530-0037 regulator - United Kingdom € 25,00
Pricing subject to change 106

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

LEX485RSIB-1
Description

N530-0038 regulator - France € 25,00

N530-0039 regulator - Hungary € 25,00

N530-0042 regulator - Switzerland € 25,00

N530-0043 regulator - Russia € 25,00

N530-0044 regulator - Poland € 25,00

N530-0046 regulator - Czech Republic € 25,00
100 Z510-0003 silicone bumpers € 1,00
101 N640-0001 flex line clip **
102 N555-0084 side burner lid pivot € 3,00
103 N565-0006 infrared rear burner screen € 14,50
104 NO080-0358 side burner drip pan bracket € 12,50
105 Z570-0035 #8 x 3/8” screw **
106 Z570-0039 1/4 - 20 3/8” screw € 1,00
107 NO010-0771-SS lid assembly stainless steel € 399,00

NO010-0771-BK lid assembly black € 420,00
108 NO010-0947 side shelf assembly, infra red burner € 319,00
109 NO010-0948 side shelf assembly, ice bucket € 159,00
110 NO010-0950 cabinet door assembly right/left € 84,00

N370-0796CE-BK kit, cabinet doors black *

N370-0795 hardware baggie € 37,00

** Please contact the service desk for pricing.
Pricing subject to change 107

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 (NAPOLEON)
LEX485RSIB-1

Serial numbers CE-011670 and up

Pricing subject to change 108
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



O~NO O~ WN =

aoagoaoab b SASASDLNDDDBDWWWWWWWWWWNNNNDNNNNDNDNDD =S = 2 2 s
WN 2000 NODOaODRWN 2000 NODOPRRWON-_2000ONODADRRWN-_20OCONOOOGRNWN-~O

LEX485RSIB-1

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Serial numbers CE-011670 and up

N590-0147-GY1SG
N475-0236-GY1SG
N475-0271-GY1SG
N655-0124-GY1SG
N080-0212-GY1SG
N430-0002
N105-0011
N130-0012
N130-0013
N160-0014
N710-0062

62007
N590-0164-GY1SG
N585-0064-GY1SG
N570-0073
N080-0254G
N570-0086
N010-0597-M01
S$81001
N080-0202-M01
N570-0008
N475-0313-GB-DE
N010-0614-30
Z510-0003
N660-0002
N357-0013

S$81001

N051-0011

S88001

N051-0012
N380-0020-CL
N200-0089-GY1SG
N305-0058
N010-0501-M01
N105-0001
N750-0020B
N160-0017
N720-0053
N570-0078
N010-0638-M06
N010-0526P-30
N565-0006
N520-0023
N080-0206-M05
N240-0024P
N200-0090-M02
Z570-0002
N615-0011
N335-0042L-M02
N135-0042-GY1HT
N135-0043-GY1HT
N585-0078
N385-0307-SER

Prices are recommended end-user prices

Description

bottom shelf

left/right cart enclosure panel
rear cart enclosure panel
front cabinet support
stabilizer brackets

magnetic catch

door bushings

revolving caster

non revolving caster

grease tray holder

grease tray aluminium

grease tray foil (x5)
condiment basket

heat shield

1/4-20 x 3/8” screw

tank inhibitor

#14 x 1/2” screw

base

main burner (sear plates & burner screws)
main burner cross light bracket
#8 x 1/2” screw

control panel

manifold assembly c/w valves
black silicone lid bumper
switch light

side burner igniter

sear plate

control knob bezel large
burner control knob large
control knob bezel small
burner control knob small
back cover

cooking grids - stainless rod
drip pan

bushing 7/8”

wiring harness LED

clip rear burner tube

rear burner supply tube

M4 x 8 mm screw

hood assembly

infra red rear burner

infrared burner screen
warming rack

rear burner electrode cover
rear burner electrode c/w pilot
infra red rear burner cover
rear burner electrode cover screw
rear burner electrode cover spacer
stainless steel lid insert

left side lid casting

right side lid casting

heat shield lid

NAPOLEON logo

** Please contact the service desk for pricing.

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

80,00
73,50
63,00
31,50
4,00
6,50
1,00
8,50
5,50
2,00
12,50

N OWONOWONOWONOWONOWONO)

14,50
10,50
1,00
14,50
1,00
349,00
47,50
9,50
2,00
52,50
95,00
1,00
3,00
19,00
47,50
3,00
8,50
4,00
7,50
17,00
99,00
99,00
1,00
12,50
2,00
19,00
1,00
115,00
73,50
14,50
37,00
5,50
19,00
73,50
1,00
1,00
309,00
73,50
73,50
52,50
4,00

OO OW O OO OO OO OO OO OO OO ONWONONONONONOWOROWONONONONONOWONOWONONONONON O]

109

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

LEX485RSIB-1
Serial numbers CE-011670 and up

Description
54 W450-0005 logo spring clips >
55 NO010-0742 lid handle € 31,50
56 N685-0013-SER temperature gauge € 21,00
57 N570-0091 1/4-20 x 1/2” screw € 1,00
58 NO080-0287-GY1HT lid casting cover € 2,00
59 N570-0042 10-24 x 3/8” screw € 1,00
60 N475-0293-M06 door panel € 63,00
61 N120-0019-GYOTX cap door top/bottom € 14,50
62 N570-0100 #8 x 1/2” screw flat phillips € 1,00
63 N340-0007 tool hook € 4,00
64 N325-0062 door handle € 8,50
65 N555-0025 lighting rod € 3,00
66 N485-0016 pivot pin door top € 1,00
67 N485-0017 pivot pin door bottom € 1,00
68 N570-0099 #14 x 3/4” screw € 1,00
69 N570-0082 1/4-20 x 5/8” screw € 1,00
70 N735-0001 insulated washer € 2,00
71  N475-0301-M06 rotisserie mount € 12,50
72 N010-0948 side shelf - left € 159,00
73 N120-0020-GYOTX luxidio side shelf end cap € 26,50
74 N570-0013 #8 x 5/8” screw € 1,00
75 N570-0076 #8 x 1/2” screw € 1,00
76 N185-0003 ice bucket € 31,50
77 N335-0098-M02 side burner lid € 26,50
78 N485-0009 side burner lid clip € 2,00
79 N590-0189 cutting board € 26,50
80 NO010-0947 side shelf - right € 319,00
81 N500-0039K side burner plate € 37,00
82 NO010-0662 side burner infra red € 99,00
83 N710-0063 side burner drip pan € 30,00
84 N240-0026 side burner electrode € 3,50
85 NO010-0763 side burner grate € 68,50
N570-0089 side burner grate screw € 3,00
86 N455-0062 side burner orifice #60 € 4,00
87 N160-0023 side burner orifice clip € 1,00
88 N385-0241-SER lex logo € 5,50
89 N720-0044 manifold flex connector € 14,50
90 N160-0022 clip door pivot pin € 2,00
91 N570-0015 lid pivot screw € 2,00
92 N735-0003 1/4” lockwasher € 1,00
93 N190-0001 battery pack € 5,50
94 N720-0055 side burner supply tube € 12,50
95 N530-0021-SER regulator step down € 99,00
96 W445-0021 union fitting 3/8” - 3/8” € 5,50
97 N750-0016 side burner electrode wire € 4,00
98 N255-0014 fitting € 5,50
99 N530-0032 regulator - Germany € 25,00
N530-0033 regulator - Holland € 25,00
N530-0034 regulator - Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator - Sweden € 25,00
N530-0036 regulator - Italy € 25,00
N530-0037 regulator - United Kingdom € 25,00
N530-0038 regulator - France € 25,00
Pricing subject to change 110

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

LEX485RSIB-1
Serial numbers CE-011670 and up

Description
N530-0039 regulator - Hungary € 25,00
N530-0042 regulator - Switzerland € 25,00
N530-0043 regulator - Russia € 25,00
N530-0044 regulator - Poland € 25,00
N530-0046 regulator - Czech Republic € 25,00
100 N510-0013 black silicone bumper € 2,00
101 NO080-0358 infra red burner bracket € 12,50
102 N640-0004 tank strap € 4,00
Pricing subject to change 111

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV A
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 ( NAPOLEON )

LE485RSIB

Pricing subject to change 112
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



o N oA

1
e
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27

28
29
30
Sil
32
S8
34
S5
36
37
38
9

40
41
42
43
44
45
46
47
48

LE485RSIB

N135-0038G
N135-0039G
N335-0050
N010-0752-SS
N335-0051K
N010-0752-BK
N585-0066
N510-0013
N685-0006
W450-0005
N385-0307-SER
N010-0652
N080-0252G
N570-0015
N570-0073
N735-0003
N570-0091
N570-0042
N520-0028K
N475-0270K
N035-0101
N570-0093
N450-0032
N035-0105K

N200-0092-GY1SG

N570-0008
N475-0269K
N035-0100
N475-0267
N305-0063
N370-0597
N305-0057-M01
N080-0250
N100-0036
N215-0008
N010-0501-M01
N735-0001
N570-0082
N010-0643-M06
Z340-0001
N380-0023-CL
N051-0011
N010-0644
NO010-0645
N120-0011
N585-0065
N035-0103K
N120-0012
N325-0062

N475-0283-GB-DE

N655-0124S
N475-0236S
N160-0014

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

lid side casting left

lid side casting right
stainless steel lid insert
stainless steel lid assembly
black lid insert

black lid assembly

lid heat shield

black silicone lid bumper
temperature gauge

logo spring clips
NAPOLEON logo

lid handle

lid handle cover

lid pivot screw

1/4-20 x 3/8" screw

1/4" lockwasher

#14 x 1/2" screw

10-24 x 3/8" screw
warming rack

base insert right

base side right

screw M4 x 8mm

lock nut M4

base insert rear

rear cover base

#8 x 1/2" screw

base insert left

base side left

rotisserie mount

cooking grid - cast iron
stainless steel upgrade kit
sear plate

main burner support

main burner

grease deflector base right
drip pan

insulated washer

1/4-20 x 5/8" screw

side shelf left

tool hook side shelf
control knob

control knob bezel
manifold assembly c/w valves (NG)
manifold assembly c/w valves (LP)
end cap control panel left
base heat shield

base insert front

end cap control panel right
door handle

control panel

front cabinet support
left/right side panel cabinet enclosure
grease tray holder

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

73,50
73,50
139,00
449,00

£ dh dh

449,00
42,00
2,00
26,50

£y dh dh

4,00
31,50
1,50
2,00
1,00
1,00
1,00
1,00
26,50
14,50
42,00
1,00
1,00
63,00
31,50
2,00
26,50

O ONOWONONONONONOWONOWONOWONOWONO)]

7,50
63,00
189,00
31,50
14,50
17,00
15,50
99,00
2,00
1,00
99,00
1,00
6,50
3,00
95,00
95,00

O WO OO N ON OO ONONONON O ONONONO)

19,00
50,00

£y dh

8,50
63,00
26,50
63,00

2,00

[OWONOWONO)

113
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

LE485RSIB
Description
49 62007 grease tray foil >
N710-0062 grease tray aluminium € 12,50
50 N475-0293-M06 door panel € 63,00
51 N475-0271S rear cart panel € 63,00
52 NO080-0254S propane tank inhibitor bracket € 6,50
53 N120-0019-GYOTX door end cap € 14,50
54 N105-0011 door bushings € 1,00
55 NO080-0212S stabilizer brackets € 10,50
56 N130-0013 non revolving caster € 5,50
57 N130-0012 revolving caster € 8,50
58 N585-0064P heat shield >
59 N590-0147S bottom shelf € 80,00
60 N430-0002 magnetic catch € 6,50
61 W445-0038 union fitting 3/8" - 3/8" € 5,50
62 N720-0044 manifold flex connector € 14,50
63 N010-0642-M06 side shelf right € 99,00
64 N530-0037 regulator - United Kingdom € 25,00
N530-0032 regulator - Germany € 25,00
N530-0046 regulator - Czech Republic € 25,00
N530-0033 regulator - Holland € 25,00
N530-0034 regulator - Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator Sweden € 25,00
N530-0036 regulator - Italy € 25,00
N530-0039 regulator - Hungary € 25,00
N530-0042 regulator - Switzerlabd € 25,00
N530-0043 regulator - Russia € 25,00
N530-0044 regulator - Poland € 25,00
66010 10ft n/g hose c/w quick disconnect #N/B
65 N160-0002 hose retainer clip € 1,00
66 N105-0013 bushing € 1,50
67 N660-0002 switch light € 3,00
68 N357-0013 side burner igniter € 19,00
69 N500-0039K side burner plate € 37,00
70 N240-0026 side burner electrode € 3,50
71 NO010-0662 side burner € 99,00
N565-0002 infrared burner screen € 14,50
72 N720-0055 side burner supply tube € 12,50
73 N750-0016 side burner igniter lead € 4,00
74 NO010-0763 side burner grate € 68,50
N570-0089 side burner grate screws € 3,00
75 N485-0009 push pin = 2.00
76 N335-0048-M06 side burner lid € 47,50
77 N105-0001 bushing 7/8" € 1,00
78 N455-0062 side burner orifice #60 (LP) € 4,00
N455-0063 side burner orifice 1.45 mm (NG) € 5,50
79 N160-0023 side burner hose/orifice retainer clip € 1,00
80 N707-0004 transformer lights € 31,50
N175-0002 electrical connector € 1,00
N750-0024 wiring harness transformer € 26,50
82 N750-0023B wiring harness LED € 12,50
83 NO010-0660P infrared rear burner (LP) € 84,00
NO10-0660N infrared rear burner (NG) € 84,00
N570-0094 M5 x 10mm screw € 1,00
Pricing subject to change 114

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

LE485RSIB
Description

N450-0033 M5 locking nut € 0,50
84 N455-0054 rear burner orifice #59 (LP) € 4,00

N455-0053 rear burner orifice #53 (NG) € 4,00
85 N720-0053 rear burner supply tube € 19,00
86 NO010-0651 grease deflector base left € 21,00
87 N325-0059 side shelf handle (side) € 21,00
88 N325-0060 side shelf handle (front) € 26,50
89 N570-0088 screw 10-24 x 1/2" € 1,00

N735-0007 1/4" lockwasher € 1,00
90 N570-0019 screw 10-24 x 1/4" € 1,00
91 N710-0063 side burner drip pan € 30,00
92 N402-0011 light hi-temp left € 37,00
93 N402-0012 light hi-temp right € 42,00
94  N585-0068 rear burner rain shield **
95 N570-0080 #14 x 1/2 screw € 1,00
96 N570-0078 M4 x 8mm screw € 1,00
97 N185-0003 ice bucket € 31,50

N590-0189 cutting board € 26,50
98 N570-0100 #8 x 1/2" screw € 1,00
99 N160-0022 clip door pivot pin € 2,00
100 N485-0016 pivot pin door top € 1,00
101 N485-0017 pivot pin door bottom € 1,00
102 N570-0099 #14 x 3/4 screw € 1,00
103 N340-0007 tool hook € 4,00
104 N555-0025 lighting match rod € 3,00
105 Z570-0039 1/4-20 x 1/2" screw € 1,00
106 N080-0202-M01 cross light bracket € 9,50
107 N530-0023-SER regulator step down 24,5Mbar € 73,50

N530-0026-SER regulator step down 18,5Mbar € 73,50

N530-9999 regulator step down 50Mbar #N/B
108 N255-0014 fitting € 5,50
109 NO080-0358 infrared burner bracket € 12,50
110 N640-0004 tank strap € 4,00

N370-0585 main assembly blister pack € 63,00

Pricing subject to change 115

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

R525 Series (2020)

@

S\

o4 -
0
@/ O = Yy BQB@

\\\\\\\\\\\‘/ff/fffff//

Pricing subject to change
Prices are recommended end-user prices ** Please contact service desk for pricing

116
Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

R525 Series (2020)

Description
1 N520-0049 warming rack € 50,50
2 S83024 cast cooking grid kit € 119,00
S83023 stainless cooking grid kit € 179,00
3  S87001 burner & sear plate kit € 51,50
4  S87013 cross light bracket kit € 17,00
5 N200-0137-GY1SG back cover € 22,50
6  N475-0091 rotisserie bracket € 9,50
7  NO010-0999-SER base casting assembly € 499,00
8 N710-0062 grease tray aluminium € 12,50
62007 grease tray liner *
9 N710-0108 drip pan € 55,00
11 NO080-0364 bracket side shelf “A” € 9,50
12 N430-0002 magnetic catch € 6,50
13 N080-0365 bracket side shelf “B” € 9,50
14  N475-0449-GY1SG rear cart enclosure panel € 37,00
15 NO080-0378-GY1SG bracket, pivot € 4,00
16  N475-0607-GY1SG left/right cart enclosure panel € 84,00
17 NO080-0387-GY1SG magnet bracket € 4,00
18 N370-0845CE propane tank support € 26,50
19 N590-0282-GY1SG bottom shelf € 105,00
20 N510-0015 caster plug € 3,00
21 S82001 caster kit € 20,00
22 N590-0280-SER assembly black side shelf € 73,50
23 S87015 shelf pivot hardware kit € 14,50
24 N010-0984-BK-SER black cart door kit € 95,00
25 N325-0094-SER door handle € 6,50
26 N105-0011 door bushings € 1,00
27 NO010-0985-BK assembly lid - black € 399,00
28 S91003 temperature gauge kit € 26,50
29 N385-0307-SER NAPOLEON logo € 4,00
30 N510-0013 black silicone lid bumper € 2,00
31 S87014 lid pivot hardware kit € 4,00
32 NO010-1253-SER control panel assembly 525 CE 30mbar € 249,00
NO010-1255-SER control panel assembly 525 CE 50mbar € 249,00
N010-1256-SER control panel assembly flame side burner 525 CE 30mbar € 249,00
NO010-1258-SER control panel assembly flame side burner 525 CE 50mbar € 249,00
33 S86002 electronic ignition - 1 spark € 13,50
34 N380-0043 burner control knob large € 11,00
36 N380-0044 control knob small € 9,50
38 N160-0041 flex line clip € 0,50
39 NO010-1222-SER side burner shelf assembly € 249,00
40 Z325-0013 handle side burner lid € 1,00
41 N335-0099-BK1HR side burner lid black € 21,00
42  Z430-0002 magnetic catch € 1,00
43 Z305-0008 side burner grate € 10,50
47 N750-0016 electronic ignition lead € 4,00
48 N455-0091 side burner orifice 0.86mm 30mbar € 4,00
N455-0058 side burner orifice #69 50mbar € 3,00
49 N160-0023 side burner hose orifice retainer clip € 1,00
50 N345-0023 hose side burner 12” € 10,50
51 N105-0017 bushing € 1,00
52 Z255-0002-1 fitting side burner hose € 3,50
53 N720-0079 flex hose 9.5” € 6,50
Pricing subject to change 117

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

R525 Series (2020)

Description
54 N530-0032 regulator -Germany € 25,00
N530-0033 regulator -Holland € 25,00
N530-0034 regulator -Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator -Sweden € 25,00
N530-0036 regulator -ltaly € 25,00
N530-0037 regulator -United Kingdom € 25,00
N530-0038 regulator -France € 25,00
N530-0039 regulator -Hungary € 25,00
N530-0042 regulator -Switzerland € 25,00
N530-0043 regulator -Russia € 25,00
N530-0044 regulator -poland € 25,00
N530-0046 regulator -Czech Republic € 25,00
55 N555-0097 lighting rod € 5,50
57 N570-0118 1/4-20 x 3/8” screw € 1,00
60 N585-0121-GY1SG shield, heat cart € 52,50
61 N570-0126 1/4-20 x 1/2” screw € 1,00
62050 Burner & Jetfire maintenance kit *
Pricing subject to change 118

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

Notes

Pricing subject to change 119
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

R525 Series (2019)

Y
Uc‘//ﬁ'd/, A

0207

Pricing subject to change 120
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



O ~NOhs WN -

10
1"
12
13
14
15
16
17
18
19
20
21
22

23
24

25
26
27
28
29
30
31
32

S8
34
S5
36
37
38
9
40
41
42
43

Prices are recommended end-user prices

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

R525 Series (2019)

N520-0045

S$83007

S87001

S87013
N200-0127-GY1SG
N010-0999-SER
N710-0062

62007

N710-0108
N160-0033-GY1SG
N080-0364
N430-0002
N080-0365
N475-0449-GY1SG
N080-0378-GY1SG
N475-0607-GY1SG
N080-0387-GY1SG
N370-0845CE
N590-0282-GY1SG
N510-0015

$82001
N590-0254-SER
N590-0280-SER
S87015
N010-0984-BK-SER
N010-0984-SS-SER
N325-0094-SER
N105-0011
N010-0985-SS
$91003
N385-0307-SER
N510-0013

S87014
N010-1027-SER
N010-1028-SER
N010-1029-SER
N010-1024-SER
N010-1025-SER
N010-1026-SER
N010-1021-SER
N010-1022-SER
N010-1023-SER
$86002

S88005

N051-0011

S88006

N051-0012
N160-0041
N010-1006-SER
2325-0013
Z335-0007
Z430-0002
Z305-0008

Description

warming rack chrome

stainless cooking grid kit

burner & sear plate kit

cross light bracket kit

back cover

base casting assembly

grease tray aluminium

grease tray liner

drip pan

grease tray holder

bracket side shelf “A”

magnetic catch

bracket side shelf “B”

rear cart enclosure panel

bracket, pivot

left/right cart enclosure panel

magnet bracket

propane tank support

bottom shelf

caster plug

caster kit

assembly stainless steel side shelf

assembly black side shelf

shelf pivot hardware kit

black cart door kit

cart door kit

door handle

door bushings

assembly lid - stainless

temperature gauge kit

NAPOLEON logo

black silicone lid bumper

lid pivot hardware kit

control panel assembly infrared burner 525 CE 30mbar
control panel assembly infrared burner 525 CE 37mbar
control panel assembly infrared burner 525 CE 50mbar
control panel assembly flame side burner 525 CE 30mbar
control panel assembly flame side burner 525 CE 37mbar
control panel assembly flame side burner 525 CE 50mbar
control panel assembly 525 CE 30mbar

control panel assembly 525 CE 30mbar

control panel assembly 525 CE 50mbar

electronic ignition - 1 spark

burner control knob large

control knob bezel large

control knob small

control knob bezel small

flex line clip

assembly flame side burner

handle side burner lid

side burner lid

magnetic catch

side burner grate

** Please contact the service desk for pricing.

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

21,00
189,00
51,50
17,00
31,50
499,00
12,50

£ Ay dh oy AN dh

55,00
3,00
9,50
6,50
9,50

37,00
4,00

84,00
4,00

26,50

105,00
3,00
20,00
125,00

73,50

14,50

95,00

99,00
6,50
1,00

399,00

26,50
4,00
2,00
4,00

249,00
249,00
249,00
249,00
249,00
249,00
249,00
249,00
249,00

13,50
8,50
3,00
7,50
4,00
0,50

169,00
1,00

37,00
1,00

10,50

an adh dah b oAb dh dh AN A A A oy o oy A A o D dy iy A A oAb dh A A A dh dh A A A A dh A A A A A dh A Ay D b

121

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

R525 Series (2019)

Description

44 NO010-1007-SER assembly infrared side burner € 299,00
45 N305-0098 side burner grate € 19,00
46 N240-0037 side burner electrode € 5,50
47 N750-0016 electronic ignition lead € 4,00
48 N455-0091 side burner orifice 0.86mm 30mbar (NG) € 4,00
N455-0057 side burner orifice #66 37mbar € 3,00
N455-0058 side burner orifice #69 50mbar (LP) € 3,00
49 N160-0023 side burner hose orifice retainer clip € 1,00
50 N345-0022 hose side burner 77 € 10,50
51 N105-0017 bushing € 1,00
52 Z255-0002-1 fitting side burner hose € 3,50
53 N720-0079 flex hose 9.5” € 6,50
54 N530-0032 regulator - Germany € 25,00
N530-0033 regulator - Holland € 25,00
N530-0034 regulator - Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator - Sweden € 25,00
N530-0036 regulator - Italy € 25,00
N530-0037 regulator - United Kingdom € 25,00
N530-0038 regulator - France € 25,00
N530-0039 regulator - Hungary € 25,00
N530-0042 regulator - Switzerland € 25,00
N530-0043 regulator - Russia € 25,00
N530-0044 regulator - Poland € 25,00
N530-0046 regulator - Czech Republic € 25,00
55 N555-0025 lighting rod € 3,00
56 S81004 infrared service kit € 79,00
57 N570-0118 1/4-20 x 3/8” screw € 1,00
58 N590-0261 condiment basket € 6,50
59 N710-0095 side burner drip tray € 12,50
60 N585-0121-GY1SG shield, heat cart € 52,50
61 N570-0126 1/4-20 x 1/2” screw € 1,00
62050 burner & jetfire maintenance kit #N/B
** Please contact the service desk for pricing.
Pricing subject to change 122

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

Notes

Pricing subject to change 123
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

R425 Series (2020)

( NAPOLEON )

N ——
N7 7|

O#a@

e

Tel: +31 88-588 66 55
'-'ﬂ 1

Q /il

Prices are recommended end-user prices

Pricing subject to change
** Please contact service desk for pricing

124
Effective January 1st, 2023



N

~No o w

10
11
12
13
14
15
16
18
19
20
22
23
24
25
26
27
28
29
30
31
25
26
27

28
29
30
31
32

S8
34
36
38
S9
40
41
42
43
47
48

Prices are recommended end-user prices

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

R425 Series (2020)

N520-0050

S83008

S83013

S87001

S87010
N200-0136-GY1SG
N010-1041-SER
N710-0062

62007

N710-0094
N080-0380-GY1SG
N080-0364
N080-0365
N475-0363-GY1SG
N080-0378-GY1SG
N475-0607-GY1SG
N370-0845CE
N590-0292-GY1SG
N510-0015

S82001
N590-0280-SER
S87015
N010-0869-BK-SER
N325-0094-SER
N105-0011
N010-0874-BK
$91003
N385-0307-SER
N510-0013

S87014
N325-0094-SER
N105-0011
N010-0874-BK
N010-0874-SS
$91003
N385-0307-SER
N510-0013

S87014
N010-1247-SER
N010-1249-SER
N010-1250-SER
N010-1252-SER
$86002

N380-0043
N380-0044
N160-0041
N010-1222-SER
Z325-0013
N335-0099-BK1HR
Z430-0002
Z305-0008
N750-0016
N455-0091

Description

warming rack

cast cooking grid kit
stainless cooking grid kit
burner & sear plate kit

cross light bracket kit

back cover

base casting assembly 425
grease tray aluminium
grease tray liner

drip pan

magnet bracket

bracket side shelf "A"
bracket side shelf "B"

rear cart enclosure panel
bracket, pivot

left/right cart enclosure panel
tank tray

bottom shelf

caster plug

caster kit

assembly black side shelf
shelf pivot hardware kit
black cart door kit

door handle

door bushings

assembly lid - black
temperature gauge kit
NAPOLEON logo

black silicone lid bumper

lid pivot hardware kit

door handle

door bushings

assembly lid

assembly lid

temperature gauge
NAPOLEON logo

black silicone lid bumper

lid pivot hardware kit
assembly control panel 30 mbar
assembly control panel 50 mbar
control panel assembly flame side burner 30mbar
control panel assembly flame side burner 50mbar
electronic ignition - 1 spark
burner control knob large
control knob small

flex line clip

assembly flame side burner
handle side burner lid

side burner lid

magnetic catch

side burner grate

electronic ignition lead

side burner orifice 0.86mm 30mbar

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

41,00
99,00
159,00
51,50
14,50
21,00
399,00
12,50

O ONONOWONOWONO)

40,00
4,00
9,50
9,50

31,50
4,00

84,00

26,50

85,00
3,00

20,00

73,50

14,50

89,00
6,50
1,00

349,00

26,50
4,00
2,00
4,00
6,50
1,00

349,00
349,00

26,50
4,00
2,00
4,00

199,00
199,00
199,00
199,00

13,50

11,00
9,50
0,50

249,00
1,00

21,00
1,00

10,50
4,00
4,00

an dh dah ah dh dh dh A A A oAb dh A A A A dh A A A D dh A A A A A dh A A A A dh dh A A oAb dh dh A A D

125

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

R425 Series (2020)

Description

48 N455-0058 side burner orifice #69 50mbar € 3,00
49 N160-0023 side burner hose orifice retainer clip € 1,00
50 N345-0023 hose side burner 12" € 10,50
51 N105-0017 bushing € 1,00
52 Z255-0002-1 fitting side burner hose € 3,50
50 N720-0079 side burner flex hose € 6,50
54 N530-0032 regulator -Germany € 25,00
N530-0033 regulator -Holland € 25,00
N530-0034 regulator -Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator -Sweden € 25,00
N530-0036 regulator -ltaly € 25,00
N530-0037 regulator -United Kingdom € 25,00
N530-0038 regulator -France € 25,00
N530-0039 regulator -Hungary € 25,00
N530-0042 regulator -Switzerland € 25,00
N530-0043 regulator -Russia € 25,00
N530-0044 regulator -Poland € 25,00
N530-0046 regulator -Czech Republic € 25,00
55 N555-0097 lighting rod € 5,50
56 N570-0118 1/4-20 x 3/8" screw € 1,00
57 N585-0145-GY1SG cart heat shield € 73,50
58 N570-0126 1/4-20 x 1/2" screw € 1,00
62050 Burner & Jetfire maintenance kit >
Pricing subject to change 126

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

Notes

Pricing subject to change 127
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV A
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 ( NAPOLEON )

R425 Series (2019)

.

()

Pricing subject to change 128
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 NAPOLEDN

R425 Series (2019)

@)

Pricing subject to change 129
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



© 00N O~ W

10
11
12
13
14
15
16
18
19
20
21
22

23
24

25
26
27

28
29
30
31
32

S8
34

Prices are recommended end-user prices

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

R425 Series (2019)

N520-0040-BK2GL
N520-0041

S83008

S83013

S87001

S87010
N200-0118-GY1SG
N475-0091
N010-1041-SER
N710-0062
N710-0094
N710-0096
N710-0095
N160-0033-GY1SG
N080-0364
N430-0002
N080-0365
N475-0363-GY1SG
N080-0378-GY1SG
N475-0607-GY1SG
N655-0205
N590-0292-GY1SG
N510-0015

S82001
N590-0254-SER
N590-0280-SER
S87015
N010-0869-BK-SER
N010-0868-SS-SER
N010-0964-BK-SER
N325-0094-SER
N105-0011
N010-0874-BK
N010-0874-SS
$91003
N385-0307-SER
N510-0013

S87014
N475-0357P-30-SER
N475-0357P-37-SER
N475-0357P-50-SER
N475-0361P-30-SER
N475-0361P-37-SER
N475-0361P-50-SER
N475-0358P-30-SER
N475-0358P-37-SER
N475-0358P-50-SER
N475-0438P-30-SER
N475-0438P-37-SER
N475-0438P-50-SER
$86002

S88005
N380-0031-BK

Description

warming rack

warming rack

cast cooking grid kit

stainless cooking grid kit

burner & sear plate kit

cross light bracket kit

back cover

rotisserie mount

base casting assembly

grease tray aluminium

drip pan

drip pan

side burner drip pan

grease tray holder

bracket side shelf “A”

magnetic catch

bracket side shelf “B”

rear cart enclosure panel

pivot bracket

left/right cart enclosure panel

tank tray

bottom shelf

caster plug

caster kit

assembly stainless steel side shelf
assembly black side shelf

shelf pivot hardware kit

black cart door kit

stainless steel cart door kit

black cart door kit

door handle

door bushings

assembly lid

assembly lid

temperature gauge

NAPOLEON logo

black silicone lid bumper

lid pivot hardware kit

assembly control panel 30 mbar
assembly control panel 37 mbar
assembly control panel 50 mbar
assembly control panel 30 mbar (SB)
assembly control panel 37 mbar (SB)
assembly control panel 50 mbar (SB)
assembly control panel 30 mbar (SIB)
assembly control panel 37 mbar (SIB)
assembly control panel 50 mbar (SIB)
assembly control panel 30 mbar, black edition
assembly control panel 37 mbar, black edition
assembly control panel 50 mbar, black edition
electronic ignition - 1 spark

burner control knob large

burner control knob large

** Please contact the service desk for pricing.

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

14,50
37,00
99,00
159,00
51,50
14,50
31,50
9,50
399,00
12,50
40,00
65,00
12,50
3,00
9,50
6,50
9,50
31,50
4,00
84,00
#N/B

85,00
3,00
20,00
125,00
73,50
14,50
89,00
75,00
75,00
6,50
1,00
349,00
349,00
26,50
4,00
2,00
4,00
199,00
199,00
199,00
199,00
199,00
199,00
199,00
199,00
199,00
269,00
199,00
199,00
13,50
8,50
8,50

[ONONONONONOWORONONONONONONO WO WONONONONOY

OO OWON OO OO ONONONONONONONONONORONONONONONONOWORONONONON O

130

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

R425 Series (2019)

Description

35 NO051-0011 control knob bezel large € 3,00
36 S88006 control knob small € 7,50
N380-0032-BK control knob small, black edition € 7,50
37 NO051-0012 control knob bezel small € 4,00
38 N160-0041 hose retainer clip € 0,50
39 NO010-1006-SER side burner shelf assembly (SB) € 169,00
40 Z325-0013 handle side burner lid € 1,00
41 Z335-0007 side burner lid € 37,00
N335-0099-BK1HR side burner lid, black edition € 21,00
42  Z430-0002 magnetic catch € 1,00
43 Z305-0008 side burner grate (SB) € 10,50
44 NO010-1007-SER infra red side burner shelf assembly (SIB) € 299,00
NO010-1042-SER infra red side burner shelf assembly, black edition (SIB) € 299,00
45 N305-0098 side burner grate (SIB) € 19,00
46 N240-0037 side burner electrode (SIB) € 5,50
47 N750-0016 electronic ignition lead € 4,00
48 N455-0091 side burner orifice 0.86mm € 4,00
49 N160-0023 side burner hose orifice retainer clip € 1,00
50 N345-0023 side burner hose (SB) € 10,50
N345-0022 side burner hose (SIB) € 10,50
51 N105-0017 bushing € 1,00
52 Z255-0002-1 fitting side burner hose € 3,50
53 N720-0079 side burner supply tube € 6,50
54 N530-0032 regulator - Germany € 25,00
N530-0033 regulator - Holland € 25,00
N530-0034 regulator - Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator - Sweden € 25,00
N530-0036 regulator - Italy € 25,00
N530-0037 regulator - United Kingdom € 25,00
N530-0038 regulator - France € 25,00
N530-0039 regulator - Hungary € 25,00
N530-0042 regulator - Switzerland € 25,00
N530-0043 regulator - Russia € 25,00
N530-0044 regulator - Poland € 25,00
N530-0046 regulator - Czech Republic € 25,00
55 N255-0025 lighting rod #N/B
56 NO080-0380-GY1SG bracket magnet € 4,00
N080-0387-GY1SG bracket magnet (SIB) € 4,00
57 N570-0118 1/4-20 x 3/8" screw € 1,00
58 N590-0261 condiment basket € 6,50
59 S81004 side burner (SIB) € 79,00
Pricing subject to change 131

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

Notes

Pricing subject to change 132
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV -
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 ( NAPOLEON )

(2

Pricing subject to change 133
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



N

0N Oh W

10
1"
12
13
14
15
16
17
18
19
20
21
22
28,
24
25
26
27
28
29
30
il
25
26
27

28
29
30
31
32

33
34
36
38
39
40
41
42
43
47

Prices are recommended end-user prices

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

R365 Series (2020)

N520-0051

S83015

S83016

S87001

S87016
N200-0126-GY1SG
N475-0091
N010-1030-SER
N710-0062

62007

N710-0107
N160-0033-GY1SG
N080-0364
N430-0002
N080-0365
N475-0442-GY1SG
N080-0378-GY1SG
N475-0607-GY1SG
N080-0380-GY1SG
N370-0845CE
N590-0278-GY1SG
N510-0015

$82001
N590-0280-SER
S87015
N010-0959-SER
N325-0094-SER
N105-0011
N010-0961

$91003
N385-0307-SER
N510-0013

S87014
N325-0094-SER
N105-0011
N010-0962
N010-0961

$91003
N385-0307-SER
N510-0013

S87014
N010-1241-SER
N010-1243-SER
N010-1244-SER
N010-1246-SER
$86002

N380-0043
N380-0044
N160-0041
N010-1222-SER
Z325-0013
N335-0099-BK1HR
Z430-0002
Z305-0008
N750-0016

Description

warming rack

cast cooking grid kit
stainless cooking grid kit
burner & sear plate kit
cross light bracket kit

back cover

rotisserie bracket

base casting assembly 365
grease tray aluminium
grease tray liner

drip pan

grease tray holder

bracket side shelf "A"
magnetic catch

bracket side shelf "B"

rear cart enclosure panel
bracket, pivot

left/right cart enclosure panel
magnet bracket

tank tray

bottom shelf

caster plug

caster kit

assembly black side shelf
shelf pivot hardware kit
black cart door kit

door handle

door bushings

assembly lid - black
temperature gauge kit
NAPOLEON logo

black silicone lid bumper

lid pivot hardware kit

door handle

door bushings

assembly lid - stainless
assembly lid - black
temperature gauge kit
NAPOLEON logo

black silicone lid bumper

lid pivot hardware kit
control panel assembly 30mbar
control panel assembly 50mbar
control panel assembly flame side burner 30mbar
control panel assembly flame side burner 50mbar
electronic ignition - 1 spark
burner control knob large
control knob small

flex line clip

assembly flame side burner
handle side burner lid

side burner lid

magnetic catch

side burner grate

electronic ignition lead

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

37,50
105,00
159,00

51,50

10,50

26,50

9,50
349,00
12,50

N OWONOWONOWONONONO)

35,00
3,00
9,50
6,50
9,50

26,50
4,00

84,00
4,00

26,50

75,00
3,00

20,00

73,50

14,50

95,00
6,50
1,00

249,00

26,50
4,00
2,00
4,00
6,50
1,00

249,00
249,00

26,50
4,00
2,00
4,00

149,00
149,00
149,00
149,00

13,50

11,00
9,50
0,50

249,00
1,00

21,00
1,00

10,50
4,00

OO OW OO ON OO OO OO OO OO OO ONONONONORONOWORONONONONONONONONONONONONOWONOWONONON O

134

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

R365 Series (2020)

Description

N455-0091 side burner orifice 0.86mm 30mbar € 4,00
N455-0058 side burner orifice #69 50mbar € 3,00

49 N160-0023 side burner hose orifice retainer clip € 1,00

50 N345-0023 hose side burner 12" € 10,50

51 N105-0017 bushing € 1,00

52  Z255-0002-1 fitting side burner hose € 3,50

53 Z720-0003 side burner flex hose *

54  N530-0032 regulator -Germany € 25,00
N530-0033 regulator -Holland € 25,00
N530-0034 regulator -Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator -Sweden € 25,00
N530-0036 regulator -ltaly € 25,00
N530-0037 regulator -United Kingdom € 25,00
N530-0038 regulator -France € 25,00
N530-0039 regulator -Hungary € 25,00
N530-0042 regulator -Switzerland € 25,00
N530-0043 regulator -Russia € 25,00
N530-0044 regulator -Poland € 25,00
N530-0046 regulator -Czech Republic € 25,00

55 N555-0097 lighting rod € 5,50

56 N570-0118 1/4-20 x 3/8" screw € 1,00
62050 Burner & Jetfire maintenance kit *

Pricing subject to change 135

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

Notes

Pricing subject to change 136
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV 7
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 NAPOLEON )
R365 Series (2019)

@) (e (2

@) l”%[)

\

=N

¢

?

®

Pricing subject to change 137
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



o ~NOO oA

10
1
12
13
14
15
16
17
18
19
20
21
22

23
24

25
26
27

28
29
30
il
32

33
34
35
36
37
38
39

Prices are recommended end-user prices

Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

R365 Series (2019)

N520-0042-BK2GL
N520-0043

S83015

S83016

S87001

N100-0056
N305-0082

S87016
N200-0126-GY1SG
N475-0091
N010-1030-SER
N710-0062

62007

N710-0107
N160-0033-GY1SG
N080-0364
N430-0002
N080-0365
N475-0442-GY1SG
N080-0378-GY1SG
N475-0607-GY1SG
N080-0380-GY1SG
N655-0205
N590-0278-GY1SG
N510-0015

S82001
N590-0254-SER
N590-0280-SER
S87015
N010-0959-SER
N010-0960-SER
N325-0094-SER
N105-0011
N010-0962
N010-0961

$91003
N385-0307-SER
N510-0013

S87014
N010-1012-SER
N010-1013-SER
N010-1014-SER
N010-1015-SER
N010-1016-SER
N010-1017-SER
N010-1018-SER
N010-1019-SER
N010-1020-SER
$86002

S88005

S88001

S88006

N051-0012
N160-0041
N010-1006-SER

Description

warming rack porcelain

warming rack chrome (SIB)

cast cooking grid kit

stainless cooking grid kit (SIB)

burner & sear plate kit

main burner

sear plate

cross light bracket kit

back cover

rotisserie bracket (accessory)

base casting assembly 365

grease tray aluminium

foil grease trays (5 pieces)

drip pan

grease tray holder

bracket side shelf "A"

magnetic catch

bracket side shelf "B"

rear cart enclosure panel

bracket, pivot

left/right cart enclosure panel

magnet bracket

propane tank support

bottom shelf

caster plug

caster kit

assembly stainless steel side shelf

assembly black side shelf

shelf pivot hardware kit

black cart door kit

stainless steel cart door kit

door handle

door bushings

assembly lid - stainless

assembly lid - black

temperature gauge kit

NAPOLEON logo

black silicone lid bumper

lid pivot hardware kit

control panel assembly 365 CE 30mbar

control panel assembly 365 CE 37mbar

control panel assembly 365 CE 50mbar

control panel assembly flame side burner 365 CE 30mbar (SB)
control panel assembly flame side burner 365 CE 37mbar (SB)
control panel assembly flame side burner 365 CE 50mbar (SB)
control panel assembly infrared burner 365 CE 30mbar (SIB)
control panel assembly infrared burner 365 CE 37mbar (SIB)
control panel assembly infrared burner 365 CE 50mbar (SIB)
electronic ignition - 1 spark

burner control knob large

control knob bezel large

control knob small

control knob bezel small

flex line clip

assembly flame side burner

** Please contact the service desk for pricing.

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

14,50
17,00
105,00
159,00
51,50
31,50
12,50
10,50
26,50
9,50
349,00
12,50

O ONONOWONOWONONONONONO)

35,00
3,00
9,50
6,50
9,50

26,50
4,00

84,00
4,00

N OWONONOWONOWONONO)

75,00
3,00
20,00
125,00
73,50
14,50
95,00
95,00
6,50
1,00
249,00
249,00
26,50
4,00
2,00
4,00
149,00
149,00
149,00
149,00
149,00
149,00
149,00
149,00
149,00
13,50
8,50
8,50
7,50
4,00
0,50
169,00

OO OWONONONONONONONONONONONONONONONROWONONONONONOWOROWONONONONO)

138

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

R365 Series (2019)

Description
40 Z325-0013 handle side burner lid € 1,00
41 Z335-0007 side burner lid € 37,00
42  7430-0002 magnetic catch € 1,00
43  Z305-0008 side burner grate € 10,50
44 NO010-1006-SER assembly infrared side burner € 169,00
45 N305-0098 side burner grate € 19,00
46  N240-0037 side burner electrode € 5,50
47 N750-0016 electronic ignition lead € 4,00
48 N455-0091 side burner orifice 0.86mm 30mbar € 4,00
N455-0057 side burner orifice #66 37mbar € 3,00
N455-0058 side burner orifice #69 50mbar € 3,00
49 N160-0023 side burner hose orifice retainer clip € 1,00
50 N345-0022 hose side burner 7" (SIB) € 10,50
N345-0023 hose side burner 12" (SB) € 10,50
51 N105-0017 bushing € 1,00
52 Z255-0002-1 fitting side burner hose € 3,50
53 Z720-0003 flex hose 11.5" >
54 N530-0032 regulator - Germany € 25,00
N530-0033 regulator - Holland € 25,00
N530-0034 regulator - Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator - Sweden € 25,00
N530-0036 regulator - Italy € 25,00
N530-0037 regulator - United Kingdom € 25,00
N530-0038 regulator - France € 25,00
N530-0039 regulator - Hungary € 25,00
N530-0042 regulator - Switzerland € 25,00
N530-0043 regulator - Russia € 25,00
N530-0044 regulator - Poland € 25,00
N530-0046 regulator - Czech Republic € 25,00
55 N555-0025 lighting rod € 3,00
56 S81004 infrared service kit (SIB) € 79,00
57 N570-0118 1/4-20 x 3/8" screw € 1,00
58 N590-0261 condiment basket (SIB) € 6,50
59 N710-0095 side burner drip tray (SIB) € 12,50
Pricing subject to change 139

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

Notes

Pricing subject to change 140
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV A
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55 (NAPOLEON )

RB425SB

@

Pricing subject to change 141
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



N

~No o w

10
11
12
13
14
15
16
18

19
20
22
23
24
25
26
27
28
29
30
31
32

33
34
36
38
39
40
41
42
43
44
47
48

49
50
51
52
53
54

Prices are recommended end-user prices

RB425SB

N520-0050

S83008

S83013

S87001

S87010
N200-0118-GY1SG

N135-0052RB-GY1HT

N710-0062

62007

N710-0094
N080-0380-GY1SG
N080-0364
N080-0365
N475-0363-GY1SG
N080-0378-GY1SG
N475-0607-GY1SG
N370-0845CE
N590-0292-GY1SG

N510-0015
N130-0015
N590-0280-SER
S87015
N010-0869-BK-SER
N325-0094-SER
N105-0011
N010-1031-BK
$91003
N385-0307-SER
N510-0013
S87014
N010-1441-SER
N010-1442-SER
$86003
N380-0043
N380-0044
N160-0045
N010-1222-SER
Z325-0013
N335-0099-BK1HR
Z430-0002
Z305-0008
N475-0091
N750-0016
N455-0091
N455-0058
N160-0023
N345-0023
N105-0017
Z255-0002-1
N720-0079
N530-0032
N530-0033

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

warming rack

cast cooking grid kit
stainless cooking grid kit
burner & sear plate kit
cross light bracket kit

back cover

base casting assembly 425
grease tray aluminium
grease tray liner

drip pan

magnet bracket

bracket side shelf "A"
bracket side shelf "B"

rear cart enclosure panel
bracket, pivot

left/right cart enclosure panel
tank tray

bottom shelf

caster plug

caster

assembly black side shelf

shelf pivot hardware kit

black cart door kit

door handle

door bushings

assembly lid - black
temperature gauge kit
NAPOLEON logo

black silicone lid bumper

lid pivot hardware kit

control panel assembly 30mbar
control panel assembly 50mbar
electronic ignition - 2 spark
burner control knob large
control knob small

flex line clip

assembly flame side burner
handle side burner lid

side burner lid

magnetic catch

side burner grate

rotisserie bracket

electronic ignition lead

side burner orifice 0.86mm 30mbar
side burner orifice #69 50mbar
side burner hose orifice retainer clip
hose side burner 12"

bushing

fitting side burner hose

side burner flex hose

regulator -Germany

regulator -Holland

** Please contact the service desk for pricing.

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

41,00
99,00
159,00
51,50
14,50
31,50
399,00
12,50

O ONONOWONOWONO)

40,00
4,00
9,50
9,50

31,50
4,00

84,00

26,50

85,00

£ dh o odh o odh b dh

3,00
7,50
73,50
14,50
89,00
6,50
1,00
399,00
26,50
4,00
2,00
4,00
199,00
199,00
14,50
11,00
9,50
0,50
249,00
1,00
21,00
1,00
10,50
9,50
4,00
4,00
3,00
1,00
10,50
1,00
3,50
6,50
25,00
25,00

an dh day ah dh dh dh A A A oAb dh dh A A A dh A A A A oAb dh dh A A A dh dh dh b dh D

142

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

RB425SB

Description

N530-0034 regulator -Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator -Sweden € 25,00
N530-0036 regulator -ltaly € 25,00
N530-0037 regulator -United Kingdom € 25,00
N530-0038 regulator -France € 25,00
N530-0039 regulator -Hungary € 25,00
N530-0042 regulator -Switzerland € 25,00
N530-0043 regulator -Russia € 25,00
N530-0044 regulator -Poland € 25,00
N530-0046 regulator -Czech Republic € 25,00
55 N555-0097 lighting rod € 5,50
56 N570-0118 1/4-20 x 3/8" screw € 1,00
57 N585-0145-GY1SG cart heat shield € 73,50
58 N570-0126 1/4-20 x 1/2" screw € 1,00
59 N350-0087 rear burner housing € 52,50
60 N100-0058 rear burner € 29,50
61 N455-0095 rear burner orifice #57 30mbar € 8,00
N455-0097 rear burner orifice #62 50mbar € 8,00
62 N240-0040 rear burner electrode and lead € 16,00
63 N720-0082 rear burner supply line € 17,00
64 N570-0104 10-24 X 3/8" screw € 1,00
62050 Burner & Jetfire maintenance kit >
** Please contact the service desk for pricing.
Pricing subject to change 143

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

Notes

Pricing subject to change 144
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

RSE625RSIB

S\\\zzzs T

Pricing subject to change 145
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



25
26

28
29
30
il
32

33
34
35
36
37
38
39
40
41
42
43
44
45

46
47

Prices are recommended end-user prices

RSE625RSIB

N520-0048

S83022

S$83021

S87001

S87017
N200-0135-GY1SG
N010-1235-SER
N710-0062

62007

N710-0120
N585-0144-GY1SG
N430-0002
N080-0364
N080-0365
N475-0499-GY1SG
N080-0378-GY1SG
N475-0607-GY1SG
N370-0845CE
N570-0126
N590-0326-GY1SG
N510-0015

S82001
N010-1148-SER
N080-0422-SER
N370-0928-SER
N010-1221-SS-SER
N010-1221-BK-SER
N325-0094-SER
N105-0011
N010-1233-SS
N010-1233-BK
$91003
N385-0307-SER
N510-0013

S87014
N010-1236-SER
N010-1237-SER
N660-0007
N380-0039
N387-0013
N380-0040
N387-0014
N160-0041
N010-1232-CE-SER
Z450-0009
N335-0098-M06
N555-0091
N720-0082
N750-0016
N455-0111
N455-0112
N160-0023
N570-0128

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

Description

warming rack chrome

stainless cooking grid kit

cast iron cooking grid kit
burner & sear plate kit

cross light bracket kit

back cover

base casting assembly

grease tray aluminium

grease tray liner

drip pan

cart heat shield

magnetic catch

bracket side shelf “A”

bracket side shelf “B”

rear cart enclosure panel
bracket, pivot

left/right cart enclosure panel
propane tank support

1/4-20 x 1/2” screw

bottom shelf

caster plug

caster kit

assembly stainless steel side shelf
bottle opener kit

right side shelf pivot hardware kit
cart door - stainless steel

cart door - black

door handle

door bushings

assembly lid - stainless
assembly lid - black
temperature gauge kit
NAPOLEON logo

black silicone lid bumper

lid pivot hardware kit

control panel assembly 30mbar
control panel assembly 50mbar
switch

burner control knob large
control knob bezel large

control knob small

control knob bezel small

flex line clip

assembly infrared side burner shelf
locking nut 10-24

side burner lid

lid pivot rod

rear burner supply line
electronic ignition lead

side burner orifice #59 30mbar
side burner orifice #64 50mbar
side burner hose orifice retainer clip
screw #10-24

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

27,50
199,00
139,00

51,50

10,50

57,50
749,00

12,50

roay dh dy dh A o dh dh

55,00
99,00
6,50
9,50
9,50
73,50
4,00
84,00
26,50
1,00
119,00
3,00
20,00
99,00
8,50
26,50
59,00
59,00
6,50
1,00
499,00
499,00
26,50
4,00
2,00
4,00
449,00
449,00
26,50
10,50
9,50
10,50
9,00
0,50
299,00
1,00
31,50
3,00
17,00
4,00
4,50
3,50
1,00
1,50

OO OW O OO OO OO OO O ON O ONONORONONONONORONOWORONONONRONONONONONONONONONOWONONWONO NGO

146

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

RSE625RSIB
Description
48 W105-0010 bushing >
49 N735-0029 lockout washer € 2,00
50 N720-0055 side burner supply tube € 12,50
51 N555-0097 lighting rod € 5,50
52 N530-0032 regulator -Germany € 25,00
N530-0033 regulator -Holland € 25,00
N530-0034 regulator -Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator -Sweden € 25,00
N530-0036 regulator -Italy € 25,00
N530-0037 regulator -United Kingdom € 25,00
N530-0038 regulator -France € 25,00
N530-0039 regulator -Hungary € 25,00
N530-0042 regulator -Switzerland € 25,00
N530-0043 regulator -Russia € 25,00
N530-0046 regulator -Czech Republic € 25,00
53 NO080-0387-GY1SG magnet bracket € 4,00
54 N570-0118 1/4-20 x 3/8” screw € 1,00
55 N255-0064 fitting 90° € 3,00
60 S83010 side burner grate € 62,95
61 N240-0026 side burner electrode € 3,50
62 NO010-0662 infrared side burner € 99,00
63 N350-0076 battery box € 26,50
64 N357-0021 electronic ignition - 2 spark € 20,00
N010-1220 wiring harness € 105,00
66 N710-0063 infrared side burner drip tray € 30,00
67 N255-0014 fitting € 5,50
68 N255-0027 fitting, union 3/8” flare € 5,50
69 N350-0087 rear burner housing € 52,50
70 N100-0058 rear burner € 29,50
71  N455-0095 rear burner orifice #57 30mbar € 8,00
N455-0097 rear burner orifice #62 50mbar € 8,00
72 N240-0040 rear burner electrode and lead € 16,00
73 N590-0261 condiment basket € 6,50
74 N160-0043 flex line clip € 3,00
75 N570-0104 10-24 X 3/8” screw € 1,00
77 N475-0091 rotisserie bracket € 9,50
62050 Burner & Jetfire maintenance kit >
Pricing subject to change 147

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

Notes

Pricing subject to change 148
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

RSE525RSIB (2020)

Pricing subject to change 149
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



ONNO OB WNDN -

WWWNMNDNNNNNNNNDND=S 2 2 22 s
N0 00~ WN-_O0OOONOOOGAWN-=O

33
34
S5
36
37
38
39
40
41
42
43
44
45

46
47
48

Prices are recommended end-user prices

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

RSE525RSIB (2020)

N520-0049

$83023

S$83024

S87001

S87013
N200-0127-GY1SG
N010-1150-SER
N710-0062

62007

N710-0108
N585-0121-GY1SG
N430-0002
N080-0364
N080-0365
N475-0449-GY1SG
N080-0378-GY1SG
N475-0607-GY1SG
N370-0845CE
N570-0126
N590-0282-GY1SG
N510-0015

S82001
N010-1148-SER
N080-0422-SER
N370-0928-SER
N010-0984-SS-SER
N010-0984-BK-SER
N325-0094-SER
N105-0011
N010-1034-SS
$91003
N385-0307-SER
N510-0013

S87014
N010-1144-SER
N010-1146-SER
N660-0007
N380-0039
N387-0013
N380-0040
N387-0014
N160-0041
N010-1232-CE-SER
Z450-0009
N335-0098-M06
N555-0091
N720-0082
N750-0016
N455-0111
N455-0112
N160-0023
N570-0128
W105-0010

Description

warming rack chrome

stainless cooking grid kit

cast iron cooking grid kit

burner & sear plate kit

cross light bracket kit

back cover

base casting assembly

grease tray aluminium

grease tray liner

drip pan

cart heat shield

magnetic catch

bracket side shelf “A”

bracket side shelf “B”

rear cart enclosure panel
bracket, pivot

left/right cart enclosure panel
propane tank support

1/4-20 x 1/2” screw

bottom shelf

caster plug

caster kit

assembly stainless steel side shelf
bottle opener kit

right side shelf pivot hardware kit
cart door - stainless steel

cart door - black

door handle

door bushings

assembly lid - stainless
temperature gauge kit
NAPOLEON logo

black silicone lid bumper

lid pivot hardware kit

control panel assembly burner 525 CE 30mbar
control panel assembly burner 525 CE 50mbar
switch

burner control knob large

control knob bezel large

control knob small

control knob bezel small

flex line clip

assembly infrared side burner shelf
locking nut 10-24

side burner lid

lid pivot rod

rear burner supply line

electronic ignition lead

side burner orifice #59 30mbar
side burner orifice #64 50mbar
side burner hose orifice retainer clip
screw #10-24

bushing

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

50,50
179,00
119,00

51,50

17,00

31,50
699,00

12,50

roay dh dy dh A o dh dh

55,00
52,50
6,50
9,50
9,50
37,00
4,00
84,00
26,50
1,00
105,00
3,00
20,00
99,00
8,50
26,50
99,00
95,00
6,50
1,00
449,00
26,50
4,00
2,00
4,00
349,00
349,00
26,50
10,50
9,50
10,50
9,00
0,50
299,00
1,00
31,50
3,00
17,00
4,00
4,50
3,50
1,00
1,50

oA dh dh o A oAb dh A A A A dh A A A A A dh A A A A A dh A A A A A dh A A A oAb dh dh AN A A dh dh dh

150

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

RSE525RSIB (2020)

Description

49 N735-0029 lockout washer € 2,00
50 N720-0055 side burner supply tube € 12,50
51 N555-0097 lighting rod € 5,50
52 N530-0032 regulator -Germany € 25,00
N530-0033 regulator -Holland € 25,00
N530-0034 regulator -Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator -Sweden € 25,00
N530-0036 regulator -ltaly € 25,00
N530-0037 regulator -United Kingdom € 25,00
N530-0038 regulator -France € 25,00
N530-0039 regulator -Hungary € 25,00
N530-0042 regulator -Switzerland € 25,00
N530-0043 regulator -Russia € 25,00
N530-0046 regulator -Czech Republic € 25,00
53 NO080-0387-GY1SG magnet bracket € 4,00
54 N570-0118 1/4-20 x 3/8” screw € 1,00
55 N255-0064 fitting 90° € 3,00
60 S83010 side burner grate € 62,95
61 N240-0026 side burner electrode € 3,50
62 NO010-0662 infrared side burner € 99,00
63 N350-0076 battery box € 26,50
64 N357-0021 electronic ignition - 2 spark € 20,00
65 NO010-1101 wiring harness € 42,00
66 N710-0063 infrared side burner drip tray € 30,00
67 N255-0014 fitting € 5,50
68 N255-0027 fitting, union 3/8” flare € 5,50
69 N350-0087 rear burner housing € 52,50
70 N100-0058 rear burner € 29,50
71 N455-0095 rear burner orifice #57 30mbar € 8,00
N455-0097 rear burner orifice #62 50mbar € 8,00
72 N240-0040 rear burner electrode and lead € 16,00
73 N590-0261 condiment basket € 6,50
74 N160-0043 flex line clip € 3,00
75 N570-0104 10-24 X 3/8” screw € 1,00
62050 Burner & Jetfire maintenance kit >
Pricing subject to change 151

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

Notes

Pricing subject to change 152
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

® @J%
o

\\\\\‘Wf/ffff/f// |

D B ﬁ@ @@@o
S '

RSE525RSIB (2019)

Pricing subject to change 153
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



25
26
27

28
29
30
31
32

33
34
35
36
37
38
39
40
41
42
43
44
45

46

Prices are recommended end-user prices

Wolf Steel Europe BV

De Riemsdijk 22, 4004 LC, Tiel, The Netherlands

Tel: +31 88-588 66 55

RSE525RSIB (2019)

N520-0045

S$83007

S87001

S87013
N200-0127-GY1SG
N010-1150-SER
N710-0062

62007

N710-0108
N585-0121-GY1SG
N430-0002
N080-0364
N080-0365
N475-0449-GY1SG
N080-0378-GY1SG
N475-0607-GY1SG
N370-0845CE
N570-0126
N590-0282-GY1SG
N510-0015

$82001
N010-1148-SER
N080-0422-SER
N370-0904-SER
N010-0984-SS-SER
N010-0984-BK-SER
N325-0094-SER
N105-0011
N010-1034-SS
N010-1034-BK
$91003
N385-0307-SER
N510-0013

S87014
N010-1144-SER
N010-1145-SER
N010-1146-SER
N660-0007
N380-0041-BK
N387-0007
N380-0042-BK
N387-0008
N160-0041
N010-1147-SER
Z325-0013
Z335-0007
Z430-0002
N720-0082
N750-0016
N455-0091
N455-0057
N455-0058
N160-0023

Description

warming rack chrome

stainless cooking grid kit

burner & sear plate kit

cross light bracket kit

back cover

base casting assembly

grease tray aluminium

grease tray liner

drip pan

shield, heat cart

magnetic catch

bracket side shelf “A”

bracket side shelf “B”

rear cart enclosure panel

bracket, pivot

left/right cart enclosure panel
propane tank support

1/4-20 x 1/2” screw

bottom shelf

caster plug

caster kit

assembly stainless steel side shelf
bottle opener kit

shelf pivot hardware kit

cart door kit

cart door kit black

door handle

door bushings

assembly lid - stainless

assembly lid - black

temperature gauge kit
NAPOLEON logo

black silicone lid bumper

lid pivot hardware kit

control panel assembly burner 525 CE 30mbar
control panel assembly burner 525 CE 37mbar
control panel assembly burner 525 CE 50mbar
switch

burner control knob large

control knob bezel large

control knob small

control knob bezel small

flex line clip

assembly infrared side burner
handle side burner lid

side burner lid

magnetic catch

rear burner supply line

electronic ignition lead

side burner orifice 0.86mm 30mbar
side burner orifice #66 37mbar
side burner orifice #69 50mbar
side burner hose orifice retainer clip

** Please contact the service desk for pricing.

Pricing subject to change
** Please contact service desk for pricing

NAPOLEON

21,00
189,00
51,50
17,00
31,50
699,00
12,50

[ OWONOWONOWONO!

55,00
52,50
6,50
9,50
9,50
37,00
4,00
84,00
26,50
1,00
105,00
3,00
20,00
99,00
8,50
26,50
99,00
95,00
6,50
1,00
449,00
449,00
26,50
4,00
2,00
4,00
349,00
349,00
349,00
26,50
12,50
12,50
11,50
12,50
0,50
399,00
1,00
37,00
1,00
17,00
4,00
4,00
3,00
3,00
1,00

an dh day ah oAb dh dh A A A oAb dh A A A A A A A A A A dh dh A D A D dh dh A A A dh A A A A A dh A Ay A b

154

Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

RSE525RSIB (2019)

Description

47 N345-0026 hose side burner 77 € 20,00
48 N105-0017 bushing € 1,00
49 7255-0002-1 fitting side burner hose € 3,50
50 N720-0079 flex hose 9.5” € 6,50
51 N555-0025 lighting rod € 3,00
52 N530-0032 regulator - Germany € 25,00
N530-0033 regulator - Holland € 25,00
N530-0034 regulator - Spain/Finland/Norway/Denmark € 25,00
N530-0035 regulator - Sweden € 25,00
N530-0036 regulator - Italy € 25,00
N530-0037 regulator - United Kingdom € 25,00
N530-0038 regulator - France € 25,00
N530-0039 regulator - Hungary € 25,00
N530-0042 regulator - Switzerland € 25,00
N530-0043 regulator - Russia € 25,00
N530-0044 regulator - Poland € 25,00
N530-0046 regulator - Czech Republic € 25,00
53 NO080-0387-GY1SG magnet bracket € 4,00
54 N570-0118 1/4-20 x 3/8” screw € 1,00
55 N255-0064 fitting 90° € 3,00
60 S83009 side burner grate € 47,95
61 N240-0037 side burner electrode € 5,50
62 S81004 infrared service kit € 79,00
63 N350-0076 battery box € 26,50
64 N357-0021 electronic ignition - 2 spark € 20,00
65 NO010-1101 wiring harness € 42,00
66 N710-0116 side burner drip tray € 10,00
67 N255-0014 fitting € 5,50
68 N255-0027 fitting, union 3/8” flare € 5,50
69 N350-0087 rear burner housing € 52,50
70 N100-0058 rear burner € 29,50
71 N455-0095 orifice, rogue rear brn #57 30mbar € 8,00
N455-0096 orifice, rogue rear brn #59 37mbar € 8,00
N455-0097 orifice, rogue rear brn #62 50mbar € 8,00
72 N240-0040 rear burner electrode and lead € 16,00
73 N590-0261 condiment basket € 6,50
74 N160-0043 flex line clip € 3,00
75 N570-0013 8 x 5/8” screw € 1,00
** Please contact the service desk for pricing.
Pricing subject to change 155

Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



Wolf Steel Europe BV
De Riemsdijk 22, 4004 LC, Tiel, The Netherlands
Tel: +31 88-588 66 55

NAPOLEON

Notes

Pricing subject to change 156
Prices are recommended end-user prices ** Please contact service desk for pricing Effective January 1st, 2023



